



Task Date:23/09/2021

Division: Street Cause JNTU Task name: Deshmukhi

Task venue: Durgabai Deshmukh vocational training and rehabilitation centre, Vidyanagar.

Task overview: Provided white boards and stationary to children in the rehab centre

Total expenditure:7,700₹

Task no:2

Task Date:8/08/2021

Division:Street Cause KLU

Task name: Groceries distribution

Task venue: Tapasvi Foundation Orphanage Home, Amma Nanna Oldage Home

Chanda Nagar

Task overview: Supported the Orphanage and old age home with the necessary groceries,

fruits and vegetables.
Total expenditure:6,138₹

Task no:3

Task Date:2/10/2021

Division:Street Cause KLU Task name: project jaladhaara Task venue:kachikal ,warangal

Task overview: provided a water treatment plant for kachikal village and 4 villages around it.

Total expenditure:10,000₹

Task no:4

Task Date:13/11/2021
Division:Street Cause KLU

Task name:Sweaters distribution

Task venue: Aashri Society, Chavadi Aashramam, Miyapur Task overview: Distributed sweaters and caps in winter

Total expenditure:15000₹

Task no:5

Task Date:10/01/2022 Division:Street Cause KLU Task name: Project Prabhakara Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:50,000₹

Task no:6

Task Date:24/01/2022 Division:Street Cause KLU





Task name:refrigerator donation

Task venue: Athidhi Ashramam, Reddy Colony, Hanamkonda

Task overview: Supported the Ashramam with the necessary refrigerator

Total expenditure:29,990₹

Task no:7

Task Date:26/01/2022 Division:Street Cause KLU

Task name: Medicines distribution

Task venue: Sidarth hospitals, Madeenaguda.

Task overview: Kopila is suffering from brain infection and sinuties and is admitted in Sidarth

hospitals, helped her by providing medicines.

Total expenditure:12600₹

Task no:8

Task Date: 25/08/2021

Division:Street Cause Stanley

Task name: Adhishakthi

Task venue:Kandlakoya Municipal office Task overview:Orphanage renovation

Total expenditure:30, 000₹

Task no:9

Task Date:24/09/2021

Division:Street Cause Stanley

Task name: home appliances distribution

Task venue: Arunodaya Orphanage Home, Shameerpet.

Task overview: donated a colour printer to the kids in the orphanage.

Total expenditure:2150₹

Task no:10

Task Date: 24/09/2021

Division:Street Cause Stanley
Task name:stationary distribution

Task venue: Arunodaya Orphanage Home, Shameerpet.

Task overview: donated stationary to the kids in the orphanage

Total expenditure:2340₹

Task no:11

Task Date: 13/10/2021

Division:Street Cause Stanley Task name: Clothes distribution

Task venue:Bharatha Matha Social Service Society,Dwaraka nagar Chengicherla Boduppal Municipal Corporation Medchal- Malkajgiri

Task overview: donated new sarees and nightwear.





Total expenditure:5300₹

Task no:12

Task Date: 10/07/2021

Division:Street Cause Stanley

Task name: home appliances distribution

Task venue: Ayusha Nilayam Children's Home, alwal

Task overview: provided the childrens home with necessary home appliances

Total expenditure:1997₹

Task no:13

Task Date:10/01/2022

Division:Street Cause Stanley
Task name: Project Prabhakara
Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:25000₹

Task no:14

Task Date:19/08/2021 Division:Street Cause Vbit

Task name:Project samrakshana

Task venue: Home for disabled, Bansilalpet, Secunderabad.

Task overview: VBIT came forward donating them with mosquito repellent

machines that defend them from insect bites

Total expenditure:8400₹

Task no:15

Task Date:30/08/2021 Division:Street Cause Vbit Task name:Project Ritvam

Task venue: Asha Kuteer foundation, Swaroop Nagar, Uppal and Agape foundation,

Uppal.

Task overview:contributed the girls in Agape foundation with cotton sanitary napkins which provide comfort, prevent skin irritations.

Total expenditure:4080₹

Task no:16

Task Date:28/05/2022 Division:Street Cause Vbit Task name:Project samya

Task venue: nellipakanbanjara village, kothagudem.

Task overview: provided them with raw material required for biodegradable sanitary napkins

Total expenditure:41,134





Task Date:29/12/2021 Division:Street Cause Vbit

Task name:Blanket donation drive

Task venue:secunderabad railway station, bus stand, clock tower, JBS, MGBS

dilsukhnagar,malakpet,old city, KBR park

Task overview: Collected blankets and wollen clothes and bestowed them to the homeless in

different areas

Total expenditure:0₹

Task no:18

Task Date:31/05/2022 Division:Street Cause Vbit Task name:Adhyapana

Task venue:Coloursky organisation ,badradri

Task overview: Provided them with computer and projector

Total expenditure:52000₹

Task no:19

Task Date:28/05/2022 Division:Street Cause Vbit

Task name:Unnathi

Task venue:Mamillavai village Bhadradri

Task overview: Provided them with grinding machines

Total expenditure:38,250₹

Task no:20

Task Date:29/07/2021

Division:Street Cause WOXSEN

Task name: Economic Development and Decent Work

Task venue:ZPHS school

Task overview: renovated the school and created a safe place for children

Total expenditure:47,468₹

Task no:21

Task Date: 25/08/2021

Division:Street Cause Woxsen Task name: Project ADISHAKTI

Task venue: Kandlakoya Municipal office

Task overview: Empowered women by providing them with stitching machines and materials

Total expenditure:15000₹





Task Date: 14/08/2021

Division:Street Cause Woxsen

Task name sanitary pads distribution:

Task venue: Helen Keller Institute for Deaf, Neredmet, R K Puram, Secunderabad.

Task overview: provided the orphanages with sanitary napkins

Total expenditure:20000₹

Task no:23

Task Date:10/01/2022

Division:Street Cause Woxsen
Task name: Project Prabhakara
Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:14000₹

Task no:24

Task Date:31/08/2021

Division:Street Cause St Anns

Task name: Awareness on Education, Sanitation & Covid-19 pandemic

Task venue: New Life Foundation, D.No.20-1874, Papireddy Colony, Lingampally

Maa Foundation, uppal

Task overview: Provided with awareness to the children during pandamic

Total expenditure:0₹

Task no:25

Task Date:26/09/2021

Division: Street Cause St Anns

Task name: Clothes Donation Drive

Task venue: Opposite to solitaire global school near Palladium Convention Hall, Katedan

Task overview: Clothes donation

Total expenditure:0₹

Task no:26

Task Date: 2/10/2021

Division:Street Cause St Anns Task name: project jaladhaara Task venue:kachikal ,warangal

Task overview: provided a water treatment plant for kachikal village and 4 villages around it.

Total expenditure:25,000₹

Task no:27

Task Date: 10/01/2022

Division:Street Cause St Anns Task name: Project Prabhakara





Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district Total expenditure:25000₹

Task no:28

Task Date: 19/06/2022

Division: Street Cause St Anns

Task name: Donating requisites for anganvaadi schools

Task venue:Malkapur 1, Malkapur 2, Pamena, Devarampalli, Kummera

Task overview:donated few important requisites to the school which will help the needy

women & children who visit it. Total expenditure:50,000₹

Task no:29

Task Date:07/06/2022

Division:Street Cause St Anns

Task name: Anveesh

Task venue:8 mandals of Rangareddy District

Task overview: Teaching Learning Materials (TLM) distribution for Specially Challenged

Children

Total expenditure:85,742₹

Task no:30

Task Date: 19/06/2022

Division:Street Cause St Anns Task name: Project Library

Task venue:

- 1) Chamgomool school
- 2) Angadichittampalli school
- 3) Medipalli kalaam school
- 4) Kadumoor school

Task overview: Provided a library:

Total expenditure:42000₹

Task no:31

Task Date:20/03/22

Division: Street Cause St Anns

Task name: Donation of prerequisities

Task venue:Lingampally

Task overview: Donation of prerequisities

Total expenditure:7039₹

Task no:32

Task Date:31-07-21 Division:SC Bhavans





Task name:Aparvajanam Task venue:Malakpet

Task overview:school book equipments

Total expenditure:9500

Task no:33

Task Date:28-01-2022 Division: Sc bhavans Task name:Vidya

Task venue:jhansi Saraswathi Vidya nikeetan school,Balaji Nagar

Task overview:school equipments

Total expenditure: 18500

Task no:34

Task Date:5/09/2021 Division: SC Bhavans

Task name: digi class rooms and painting Task venue:mupparam village medhak

Task overview: donated projector and system

Total expenditure:26750

Task no:35

Task Date:2 June 2021 Division: sc bhavans

Task name: Distribution of groceries as per required by them

Task venue: secunderabad

Task overview: groceries distribution

Total expenditure:3794

Task no:36

Task Date:6-03-2022 Division:sc bhavans

Task name: Orphans asylum

Task venue: Malkajgiri Task overview:utensils Total expenditure:15,855

Task no:37

Task Date:8-11-2021 Division:sc bhavans Task name:Vruddha Task venue:Moulali

Task overview:old age home

Total expenditure:7797





Task Date:24-09-2021 Division:SC Bhavans Task name:Vrushali Task venue:Neredmet

Task overview:awareness of menstrual cycle.

Total expenditure:0

Task no:39

Task Date:07-11-2021 Division:SC Bhavans Task name:Vidyatmika

Task venue:Bodadla, Mandal Parishad

Task overview: Provided the school with the required items for the students

Total expenditure:125,780

Task no:39

Task Date:24th dec

Division: Street Cause swec

Task name: vruddha

Task venue: rajeshwari oldage home Task overview:donation of adult diapers

Total expenditure: 7500

Task no:40

Task date:7 june 2022

Division:Street Cause swec Task name:School renovation

Task venue:Charminar

Task Overview: Renovated the school

Total expenditure:25000

Task no:41

Task Date: 31st aug 2021

Division: sc mec

Task name: covid response

Task venue: radha kishan balika bhavan Tolichowki hyd

Task overview: Grocery distribution

Total expenditure:13500

Task no:42

Task Date:4th jan Division:sc mec

Task name: proj prabhakara Task venue:kothagudem





Task overview: solar street lights

Total expenditure:19000₹

Task no: 43

Task date - 04/07/2021 Division: SC GNITS

Venue- 1. Laalana Welfare Organisation, Vijaya Gardens Colony, Hyderabad.

2. Aman Vedika Orphanage, Hissamganj, Secunderabad.

Task overview- Project Svasthyam, week-1 Total expenditure - 0 (zero budget project)

Task no:44

Task date - 11/07/2021 Division: SC GNITS

Venue- 1. Laalana Welfare Organisation, Vijaya Gardens Colony, Hyderabad.

2. Aman Vedika Orphanage, Hissamgani, Secunderabad.

Task overview- Project Svasthyam, week-2 Total expenditure - 0 (zero budget project)

Task no:45

Task date - 18/07/2021 Division: SC GNITS

Venue- Aman Vedika Orphanage, Hissamganj, Secunderabad.

Task overview- Project Svasthyam, week-3 Total expenditure - 0 (zero budget project)

Task no:46

Task date - 25/07/2021 Division:SC GNITS

Venue- Aman Vedika Orphanage, Hissamgani, Secunderabad.

Task overview- Project Svasthyam, week-3 Total expenditure - 0 (zero budget project)

Task no:47

Task date - 13/08/2021 Division: SC GNITS

Venue- 4-32-41/130/1, Allwyn Road, Sai Nagar, Near SSD Grammar School, Allwyn Colony,

Kukatpally, Hyd.

Task overview- Project Saharogya

Total expenditure - 9685

Task no:48

Task date - 25/09/2021





Division: SC GNITS

Venue- St. Alphonsa karunalayam charitable trust, Rajendra Nagar, Budwel, Hyd.

Task overview- distribution of sanitary napkins

Total expenditure - 4000

Task no:49

Task date - 26/11/2021 Division: SC GNITS

Venue- Zilla Parishad High School, near bus stand, Edulabad village, Ghatkesar mandal,

Medchal-Malkajigiri district. Task overview- project wellness Total expenditure - 22072/-

Task no:50

Task date - 01/10/2021 Division:SC GNITS

Venue- MPPS NAZEEBNAGAR near JBIT college moinabad mandal Ranga Reddy.

Task overview- Project Kridayoga

Total expenditure - 5053

Task no:51

Task date - 06/12/2021 Division SC GNITS

Venue- Yelkaguda government school

Task overview- provided the school with the required items

Total expenditure - 15000

Task no:52

Task date - 31/12/2021 Division: SC GNITS

Venue- hyd

Task overview- blanket donation drive

Total expenditure - 4500

Task no:53

Task date - 12/03/22 Division: SC GNITS

Venue- Ippaipally Village, Kulakcherla Mandal, Vikarabad.

Task overview- Project Ippaipally Total expenditure - 51,150/-





Task date - 18/04/22 Division SC GNITS

Venue- ZPHS Javorpet village, Sircilla District.

Task overview- Project Sircilla Phase 1

Total expenditure - 6000/-

Task no:55

Task date - 18/04/22 Division: SC GNITS

Venue- ZPHS Javorpet village, Sircilla District.

Task overview- Project Sircilla Phase 2

Total expenditure - 24,097/-

Task no: 56

Task date - 10/06/2022 Division: SC GNITS

Task name: Benches and water purifier distribution

Task Venue: MPPS, Ram singh thanda ,Mulugu mandal, Mulugu district .

Task Overview: Distribution of benches and water purifier

Total Expenditure :20,500/-

Task no:55

Task date: 5/06/22 Division: SC GNITS

Venue:

Task name: Distribution of pad machine

Task overview: Distribution of pad machine phase 1.

Total expenditure: 5999₹

Task no:56

Task Date: 02/01/2022 Division: Street Cause CVR

Task Name: BLANKET DONATION DRIVE

Task Venue: Sagar ring road, Kothapet, Nagole, Shivam road, Chandrangutta,

Secunderabad

Task overview: donated blankets who are in need

Total Expenditure: 11,400/-

TASK NUMBER:57: Task Date: 12/01/2022 Division: Street Cause CVR

Task Name: Washroom renovation





Task Venue: MP UPS school, Lingarajpally

Task overview: renovated washrooms in MP UPS school

Total Expenditure: 25124/-

TASK NUMBER: 58
Task Date: 12/01/2022
Division: Street Cause CVR

Task Name: Menstrual cycle awareness
Task Venue: MP UPS school, Lingarajpally

Task overview: awareness program

Total Expenditure: 0/-

TASK NUMBER: 59
TASK DATE: 12-01-2022
Division: Street Cause CVR
Task Name: Food Donation Drive
Task overview: Donation of food

Total Expenditure: 0/-

Task no:60

Task Date: 17/01/2022

Division: Street Cause CMRIT Task Venue: Banjara hills

Task Name: Sweater drive donation

Task overview: Donated sweaters to people in need

Total Expenditure: 13.100/-

Task no:61

Task Date: 08/06/2022

Division: Street Cause CMRIT

Task Venue: Adilabad

Task Name: Kaanthi(Street Light Set-up)
Task overview: setting up of street lights

Total Expenditure: 2,00,000/-

Task no:62

Task Date: 08/11/2021

Division: Street Cause CMRIT

Task Venue: Panjagutta, Ameerpet, Erragadda, Bharat Nagar

Task Name: Blanket donation drive Task overview: donation of blankets

Total Expenditure: 2,100/-

Task no:63

Task Date: 10/01/2022

Division: Street Cause CMRIT





Task Venue: Kothagudem, Khammam district

Task Name: Prabhakara

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total Expenditure: 50,000/-

Task no:64

Task Date: 10/01/2022

Division: Street Cause CMRIT Task Venue: zphs Rajipet

Task Name: Projector and System provision

Task overview: provided the ZPHS school with projector and system

Total Expenditure: 19990/-

Task no:65

Task Date: 7/6/2022

Division: Street Cause CMRIT Task Venue: zphs chilkoor Task Name: Benches Project

Task overview: provided benches to the school

Total Expenditure: 72895/-

Task no:66

Task Date: 7/6/2022

Division: Street Cause CMRIT

Task Venue: Kandlakoya
Task Name: Stiching centre

Task overview: provided stitching machine

Total Expenditure: 72895/-

Task no:67

Task Date: 10/01/2022 Division : Street Cause IIMC

Task Venue: Adilabad

Task Name: Kaanthi(Street Light Set-up)
Task overview: set up of street lights

Total Expenditure: 30,000/-

Task no:68

Task Date: 05/02/2022 Division: Street Cause IIMC

Task Venue: Niloufer Hospital, Gowshala - Begum Bazar and Lower Tank Bund

Task Name: Share a Meal Task overview: provided meals

Total Expenditure: 4000/-





Task Date: 30/04/2022 Division: Street Cause IIMC Task Venue: Ameenpur Lake Task Name: Lake cleaning drive

Task overview: cleaned the ameenpur lake surroundings

Total Expenditure: 0/-

Task no:70

Task Date: 05/02/2022 Division: Street Cause IIMC

Task Venue: Niloufer Hospital, Gowshala - Begum Bazar and Lower Tank Bund

Task Name: Share a Meal

Task overview: provided with food

Total Expenditure: 3010/-

Task no:71

Task Date: 20/FEB/2022 Division: Street Cause IIMC

Task Name: Donation of Stationery

Task Venue: Government Children's Home, Monda Market

Task overview: donated stationary items

Total Expenditure: 4000/-

Task no:72

Task Date:08/March/2022

Division Name: Street Cause IIMC

Task Name: Teaching students Yoga and Self defense

Task overview:awareness program

Task Location: Red Cross Government Girls High school, Masab Tank

Total Expenditure: 1000/-

Task no:73

TASK DATE: 14-08-2021 Division: Street Cause CBIT

TASK VENUE: Shanthi Nilayam Orphanage, Monabad

TASK NAME: Super Hero

Task overview: provided the orphanage with the required items

Total Expenditure: 0/-

Task no:74

TASK DATE: 14-09-2021 Division: Street Cause CBIT

TASK VENUE: Alwal

Task Name: Gender Sensitization





Take overview: awareness program

Total Expenditure: 0/-

Task no:75

TASK DATE: 12-09-2021 Division: Street Cause CBIT

TASK VENUE: Love and Care Orphanage, Gajularamam TASK NAME: Waste management through 3Rs - Awareness

Task overview:awareness program

Total Expenditure: 0/-

Task no:76

TASK DATE: 14-09-2021 Division: Street Cause CBIT

TASK VENUE: Pallavi Model School, Alwal

TASK NAME: Choices

Task overview: awareness program

Total Expenditure: 0/-

Task no:77

TASK DATE: 30-10-2022 Division: Street Cause CBIT

TASK VENUE: St Anthony's high school, Langerhouse, Hyderabad, Telangana. TASK NAME: Career guidance, spardha and Smartphone addiction & Cybercrime

awareness.

Task overview: career guidance program

Total Expenditure: 0/-

Task no:78

TASK DATE: 27-12-2021 Division: Street Cause CBIT

TASK VENUE: KGBV, Shankarpalli

TASK NAME: Menstruation Health Awareness(The Periods)

Task overview: health awareness program

Total Expenditure: 0/-

Task no:79

TASK DATE: 31-12-2021 Division: Street Cause CBIT

TASK VENUE: Mandal Parishad Upper Primary School, Gandipet

TASK NAME: Learn hub

Task overview: learning program

Total Expenditure: 0/-

Task no:80





TASK DATE: 08-03-2022 Division: Street Cause CBIT

TASK VENUE: Telangana minorities residential school- Langar Houz, Golconda and ECIL

TASK NAME: Awareness of women Menstruation Health(Women's Day)

Task overview: health awareness program

Total Expenditure: 0/-

Task no:81

TASK DATE: 01-03-2022 Division: Street Cause CBIT

TASK VENUE: Govt school, Shaheen Nagar, Chandrayangutta

TASK NAME: School Painting

Task overview: Renovation of school (painting)

Total Expenditure: 37,900/-

Task no:82

TASK DATE: 30/09/2021 - 02/10/2021

Division: Street Cause MGIT Task Name: GREEN DRIVE

TASK LOCATION: INSTAGRAM (ONLINE)

Task overview: Awareness program

Total Expenditure: 0/-

Task no:83

TASK DATE: 31/10/2021

DIVISION NAME: STREET CAUSE MGIT

Task Name: PHIN deaf school, groceries donation

TASK LOCATION: MS 71 govt quarters, Malakpet, Hyderabad-500036

Task overview: groceries are donated

Total Expenditure: 6,598/-

Task no:84

TASK DATE: 1/12/2021

DIVISION NAME: STREET CAUSE MGIT

Task Name: YOGA

TASK LOCATION: MAHATMA GANDHI INSTITUTE OF TECHNOLOGY

Task overview: Awareness and learning of yoga program

Total Expenditure: 0/-

Task no:85

TASK DATE: 26/12/2021

DIVISION NAME: STREET CAUSE MGIT

Task Name: BLANKET DONATIOn

TASK LOCATION: SECUNDERABAD JUNCTION





Task overview: blankets were donated

Total Expenditure: 5,000/-

Task no:86

Task Date :- 2-Oct-2021
Division: Street Cause MGIT
Task name: Jaladhaara

TASK LOCATION: Kachikal, Warangal district, Telangana

Task overview: water treatment plant set up

Total Expenditure: 28,000/-

TASK No: 87

Task Date :- 30-Dec-2021
Division: Street Cause DGI
Task name: New Beginnings
TASK LOCATION: Tolichowki

Task overview: groceries distribution

Total Expenditure: 14,014/-

Task no:88

Task Date :- 09-Feb-2022

Division: STREET CAUSE DGI

Task name: Education Drive(Fee Payment)

TASK LOCATION: Igra High School, Jhirra, Asifnagar

Task overview: education drive Total Expenditure: 16,965/-

Task no:89

Task Date: 08/10/2021

Division: Street Cause ST.MARY'S Task Name: Raincoats distribution

Task venue: Around Dilsukhnagar, Koti, Hyderabad

Task overview: distributed raincoats

Total Expenditure: 1,257/-

Task no:90

Task Date: 15/08/2021 to 15/09/2021

SC Unit: Street Cause Eforce Task Name: Project Sahasra

Venue:

Task overview:

Total Expenditure: 1,100/-

Task no:91

TASK DATE: 26th September 2021 SC Unit: Street Cause Eforce





Task Name: Webinar on Sustainability and its applications in day to day life

Venue:online

Task overview: awareness program

Total Expenditure: 0/-

Task no:92

TASK DATE: 22nd October 2021 SC Unit: Street Cause Eforce

Task Name: water purifier installation

Venue:

Task overview: provided them with a water filter

Total Expenditure: 21,200/-

Task no:93

Task date:26/10/2021

Venue- G.P.S manukonda School, Shaikpet

Task name: Environmental Pollution and Plastic Usage

Task overview: Awareness program

Total Expenditure: 0/-

Task no:94

Task Date: 10/01/2022 Unit:Street Cause Eforce

Task name: project Prabhakara

Task Venue: Kothagudem, Khammam district

Task Overview: 24 solar street lights were set up in the tribal area of khammam district

Total Expenditure: 2.50,000/-

Task no: 95

Task Date:20/08/21 Division:SCSIET

Task name: Rice and groceries donation

Task venue:Surakshana Old Age home,Jillalguda

Task overview:rice and groceries donation

Total expenditure:4000

Task no:96

Task Date:4/8/21 Division:SCBIET

Task name: blankets donation drive

Task venue: Matrudevobhava Anadha aashramam, Nadergul

Task overview: blankets donation

Total expenditure:7850

Task no:97

Task Date:23/10/2021

Division:sc biet





Task name: Educational donation drive

Task venue: Care warriors foundation, Turayamjal.

Task overview:school equipments

Total expenditure: 10,410

Task no:98

Task Date:13/11/2021 Division:Street Cause Biet

Task name: Rice, essentials and stationery items donation.

Task venue:BN Reddy Nagar

Task overview:school equipment and food.

Total expenditure:4,988

Task no: 99

Task Date:9/01/22 Division:SC Biet

Task name:rice and groceries

Task venue:Shaun Care foundation Task overview: groceries donation

Total expenditure:7,001.49

Task no:100

Task Date:13/08/21 Division:SCBVRIT

Task name: Vessels Donation

Task venue: Manchikalalu organization, secunderabad

Task overview:vessels donation

Total expenditure:9007

Task no:-101

Task Date:2/10/21 Division:SCBVRIT Task name: Jaladhara

Task venue: Kachikal, Warangal district, Telangana.

Task overview: Water treatment plant

Total expenditure: 18,000

Task no:-102
Task Date:3/11/21
Division:SCBVRIT

Task name: Scanner Donation

Task venue:MPHS, Dabbagunta Palli, warangal

Task overview:school equipments

Total expenditure:29,597





Task Date:26-07-2021 Division: SCMVSR

Task name: Orphange drive

Task venue:RFI Rainbow home, Hyderabad

Task overview: orphange drive

Total expenditure:3,400

Task no:104

Task Date:26-07-2021 Division:SCMVSR

Task name: orphange drive

Task venue:RFI RAINBOW home, Hyderabad

Task overview: Orphange drive

Total expenditure:4,590

Task no:105

Task Date:14-11-2021 Division:SCMVSR

Task name: Orphange drive

Task venue: Kousalya foundation, Lb nagar

Task overview: Orphange drive

Total expenditure:9346

Task no:106

Task Date: 18-08-21

Division:Street Cause Mvsr Task name: Orphange drive Task venue:kharmanghat temple Task overview:clothes donation

Total expenditure:0

Task no:107

Task Date:19-12-2021 Division:SC MVSR

Task name: Orphanage drive

Task venue: Ashakuteer homes, medpally Task overview: fans and lights equipments

Total expenditure:11,150

Task no: 108

Task Date: 31-08-21 Division: SC JNAFAU Task name: Chaitanya

Task venue: Sannihita girls home Parklane and Maclodguda





Task overview: awareness session on mosquito borne diseases

Total expenditure: 0 (zero budget)

Task no: 109

Task Date: 02-10-21 Division: SC JNAFAU

Task name: project jaladhaara Task venue: mahbubabad

Task overview: water treatment plant

Total expenditure: 18,000₹

Task no: 110

Task Date: 05-12-21 Division: SC JNAFAU

Task name: project bhaksyaapanah

Task venue: DIVYA JYOTHI FOUNDATION, Saidabad road, Jayanagar colony, Hyderabad

Task overview: grocery donation

Total expenditure: 8240₹

Task no: 111

Task Date: 10-01-22 Division: SC JNAFAU

Task name: project prabhakara

Task venue: kothagudem

Task overview: setting up solar street lights

Total expenditure: 20,000₹

Task no:112

Task date:06/6/2022 Division:SC JNAFAU Task name:Project Touch Task venue:begumpet

Task overview:provided braille script printable A4 size papers

Total expenditure:79400₹

Task no:113

Task date:11/06/2022 Division:SC JNAFAU Task name:Anupradanam Task venue:vikarabad

Task overview:textbook distribution

Total expenditure:20000 ₹

Task no: 114

Task Date: 10-06-22





Division: SC JNAFAU

Task name: school renovation project

Task venue: Mufeed-ul-Anam Boys School, Hyderabad

Task overview: Electrical renovation

Total expenditure: 50,000/-

Task no:115

Task date:28/01/2022

Unit: SC HYA

Task name: Sports equipment donation

Task venue: Motinagar

Task overview: distributed sports equipments to orphanage

Total expenditure:7400₹

Task no:116

Task date:30/03/2022

Unit: SC HYA

Task name: donation of sewing machines

Task venue:Narsempet

Task overview: donated sewing machines to junior college

Total expenditure:29000₹

Task no:117

Task date:7/02/2022

Unit: SC HYA

Task name: WAshroom reconstruction Task venue: ZPHS Jally, Warnagal

Task overview: Renovated the washroom in a ZPHS school

Total expenditure:65770

Task no:118

Task date:20/01/2022

Unit: SC HYA

Task venue :dilsukh nagar

Task name: restoring play area equipment

Task overview: provided play area equipments for mentally disabled

Total expenditure: 49,500

Task no: 119

task date - 28/11/2021 taken up by - SC Vasavi

Venue- Chevella - Government degree college

Task overview- library set up Total expenditure - 1500





Task 120

task date - 28/11/2021 DIvision SC Vasavi

Venue- Chevella - Government school Task overview- sport equipment donation

Total expenditure - 5750

Task no:121

task date: 28/11/2021 Division:SC Vasavi

Venue- Chevella - Government hospital

Task overview- donated fans Total expenditure - 8100

Task no:122

Task date - 30.08.2021 Division: SC VNR

Venue- Vivekananda Seva Sangham, Madinaguda, Miyapur, Hyderabad.

Task overview- Stationery Donation Drive

Total expenditure - 3,160

Task no:123

task date - 09.09.2021 Division: SC VNR

Venue- Vivekananda Seva Sangham, Madinaguda, Miyapur, Hyderabad

Task overview- Plumbing materials Donation Drive

Total expenditure - 13,200

Task no:124

Task date - 16.11.2021 Division: SC VNR

Venue-Kothagudem, Khammam district.

Task overview- Project Prabhakara - solar street lights

Total expenditure - 25,000₹

Task no:125

Task date - 31.12.2021 Division: SC VNR

Venue- Keys High School X roads, Secunderbad

Task overview- blanket donation drive Total expenditure - 0- zero budget

Task no:126





Task date - 11.11.2020 - 13.11.2020

Division: SC VNR

Venue- Chennuru, kalluru Mandal, Khammam District of Telangana

Task overview- solar street lights

Total expenditure - 18,000₹

Task no:127

Task date - 19.05.2022 Division : SC VNR

Venue- MPHS, Kothagudem village, Narayanapuram Mandal, Yaadadri district

Task overview- Benches Project

Total expenditure - 34,250/-

Task no: 128

Task Date: 1/08/2021 Division: SC ICFAI Tech

Task name: Self Defence Classes for minors

Task venue: JEEVODAYA HOME FOR THE CHILDREN MOTINAGAR

Task overview: skillset and awareness on self defence

Total expenditure: 0 (zero budget)

Task no: 129

Task Date: 1/08/2021 Division: SC ICFAI Tech

Task name: Distribution of Sports Equipment in an Orphanage

Task venue: JEEVODAYA HOME FOR THE CHILDREN MOTINAGAR

Task overview: indoor sports equipment

Total expenditure: 4972/-

Task no: 130

Task Date: 02-10-2021 Division: SC ICFAI Tech

Task name: Project Jaladhaara

Task venue: Kachikal, Warangal district, Telangana

Task overview: water treatment plant

Total expenditure: 10,000/-

Task no: 131

Task Date: 10-11-2021 Division: SC ICFAI Tech

Task name: Medicines to Abandoned dogs

Task venue: Petluck rehabilitation Gajularamaram Hyderabad Task overview: provided Medicines to abandoned dogs

T 1 1 47401

Total expenditure: 1713/-





Task Date: 02-12-2021 Division: SC ICFAI Tech

Task name: Blanket Donation Drive

Task venue: Lakdikapul, Masab Tank, Aramghar, Charminar.

Task overview: provided blankets to the homeless

Total expenditure: 9990/-

Task no: 133

Task Date: 02-10-2021 Division: SC SNIST

Task name: Project Jaladhaara

Task venue: Kachikal, Warangal district, Telangana

Task overview: water treatment plant

Total expenditure: 10,000/-

Task no: 134
Task Date:26/7/21
Division: mrits

Task name: shed construction

Task venue: vivekananda seva sangam miyapur

Task overview: construction of a shed for accommodation

Total expenditure: 11000

Task no:135

Task Date:1st aug Division: mrits

Task name: fridge donation
Task venue:kondapur hitech city

Task overview: donated fridge to a dog rescuer who feeds stray dogs in large quantities

Total expenditure:14500

Task no:136

Task Date:5th sept Division:mrits

Task name: digi class rooms and painting Task venue:mupparam village medhak

Task overview: donated projector and system

Total expenditure:26750

Task no:137
Task Date: 1st oct
Division:mrits





Task name: donation pf hearing aid batteries and white boards

Task venue: durgabai deshmukh vocational training and rehabilitation centre vidyanagar

Task overview: donated the above for specially abled children

Total expenditure:7500/-

Task no:138
Task Date:1st oct
Division:mrits

Task name: muskaan

Task venue: jeevodaya foundation

Task overview: interacted with the kids in the foundation and make them paint diyas

Total expenditure:0

Task no:139

Task Date:2/11/2021 Division: MRITS

Task name:donating electric cooker

Task venue:jeevodaya foundation motinagar

Task overview:donated rice cooker

Total expenditure:5075

Task no:140

Task Date:10/01/2022

Division:Street Cause MRITS
Task name: Project Prabhakara
Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:25,000₹

Task no:141

Task Date:29/01/2022

Division:MRITS

Task name:donation of mask and sanitizers

Task venue:Miyapur

Task overview: distributed masks and sanitizers

Total expenditure:1700₹

Task no:142

Task Date:30/01/2022

Division:MRITS

Task name:menstrual health and hygiene

Task venue: Hyderabad

Task overview: Awareness program

Total expenditure:0₹





Task Date:7/04/2022 Division:MRITS

Task name:medical camp
Task venue: Mupparam village

Task overview: Provided a basic health check up and diabetic test

Total expenditure:37357₹

Task no:144

Task Date:25/7/21 Division: sc smec

Task name: donation of reusable sanitary napkins

Task venue: grace child home sainikpuri

Task overview: donation of reusable sanitary napkins

Total expenditure:4200

Task no: 145

Task Date: 30/10/21 Division: sc smec

Task name: Sanitization drive

Task venue: across

Task overview: across the city

Total expenditure:0

Task no:146

Task Date:1/11/21 Division:scsmec

Task name: clothes donation Task venue: across the city

Task overview: collected and redistributed used clothes

Total expenditure: 0

Task no:147

Task Date: 2/11/21 Division:scsmec

Task name: donation of sports equipment

Task venue: secunderabad

Task overview: donation of sports equipment

Total expenditure: 7610

Task no: 148
Task Date: 15/5/23
Division: smec

Task name: oldage home renovation





Task venue: mother india orphanage, Malkajgiri

Task overview: renovation Total expenditure: 20,020

Task no:149

Task date - 02/10/2021 Division:SC ROOTS Task name -Jaladhaara Venue- mahabubabad

Task overview- Water treatment plant

Total expenditure - 15,000

Task no:150

Task Date: 04/09/2021 Division: SC MREC

Task name: Sweekarphase-3

Task venue: Laalana welfare organization (Orphanage), Nagole.

Task overview: provided Electric Geyser.

Total expenditure: 6,499/-

Task no: 151

Task Date: 29/09/2021 Division: SC MREC

Task name: Groceries Distribution

Task venue: Bhadurpally

Task overview: provided grocery to the old age home

Total expenditure: 4,165/-

Task no: 152

Task Date: 02-10-2021 Division: SC MREC

Task name: Project Jaladhaara

Task venue: Kachikal, Warangal district, Telangana

Task overview: water treatment plant

Total expenditure: 35,000/-

Task no: 153

Task Date: 10-04-2022 Division: SC MREC

Task name: Donating requisites to Old age home

Task venue: Happy old age home organization, Secunderabad

Task overview: kitchen equipment donation

Total expenditure: 11,399/-

Task no: 154





Task Date: 28-04-2022 Division: SC MREC

Task name: Feed the need

Task venue: MGMH, Hospital, warangal Task overview: food donation drive

Total expenditure: 5500/-

Task no:155

Task Date: 01-05-2022 Division: SC MREC Task name: Orphanage

Task venue: Kutumba Orphanage, Bhadhurpally, Hyderabad. Task overview: serve food for kids for more than 45 days.

Total expenditure: 6893/-

Task no: 156

Task Date: 16-07-2022 Division: SC MREC

Task name: Project Shikshanam

Task venue: Pracha bhai alawa road, karwan, jiyaguda, Asif Nagar Hyderabad Telangana

Task overview: provide the school with basic requisites

Total expenditure: 1,23,371/-

TASK NO:157

DIVISION NAME: Street Cause VJIT TASK DATE: 29th October 2021 TASK NAME: Project Tharu

TASK VENUE : Village - Bhairapoor Mandal - Veldanda

District - Nagarkurnool, Telangana Task overview: Planting Trees TOTAL Expenditure: 16,200/-

TASK No: 158

TASK DATE:12th Dec 2021

DIVISION NAME: STREET CAUSE VJIT TASK NAME: The Sanitation Project

TASK LOCATION: Mahima Ministries, Kothagadi, Vikarabad

District

Task overview: Constructing Washroom

Total Expenditure: 49,939/-

TASK NO: 160

TASK DATE: 21stJanuary - 26th January 2022 DIVISION NAME: STREET CAUSE VJIT





TASK NAME: Project Kitaab

TASK LOCATION:

Sri Keerthana Foundation,

Hasthinapuram

Task overview: Providing books to orphanage

Total Expenditure =17,340/-

TASK NO: 161

TASK DATE: 29th may 2022

DIVISION NAME: STREET CAUSE VJIT

TASK NAME: Project JAL

TASK LOCATION:

Helping hands humanity boys home

Task overview: Providing water purifier and other equipments to an orphanage

Total Expenditure =11500/-

TASK NO: 162

TASK DATE: 07-06-2022

DIVISION NAME: STREET CAUSE VJIT

TASK NAME: *PROJECT VIDYA*

TASK LOCATION:

Maa foundation ,Uppal Peerzadiguda Manasagar, Hyderabad

Task overview: Provided all students attending high school with textbooks for the next

academic year

Total Expenditure =6,960/-

TASK NO:163

TASK DATE: 10-06-2022

DIVISION NAME: STREET CAUSE VJIT

TASK NAME: *PROJECT BACK TO SCHOOL*

TASK LOCATION: Sudheer foundation,

Hayathnagar

Task Overview: Provided bags for all the children of the orphanage

Total Expenditure =17,459/-

Task no:164

Task Date: 1st May 2021 Division : SC GRIET

Task Name: Queer Project

Task venue: Several places in the city
Task overview: Dry Ration donation

Expenditure: 100000(GRIET contribution)

Task no:165

Task Date: 10/01/2022

Division:Street Cause GRIET





Task name: project Prabhakara

Task Venue: Kothagudem, Khammam district

Task Overview: 24 solar street lights were set up in the tribal area of khammam district

Total Expenditure: 1,50,000/-

Task no:166

Task Date: Task date: 06th September 2021

Division name: Street Cause Francis

Task name: Palle Badi

TASK LOCATION: Government school in Thummenala Village, near Dharmapuri

Task Overview: Distributed stationery and long note books to primary and secondary kids

Total Expenditure: ₹29,049/-

Task no:167

Task Date :- 2-Oct2021

Division name: Street Cause Francis

Task name: Jaladhaara

TASK location: Kachikal, Warangal district, Telangana

Task Overview: Water treatment plant - purifier and supplier

Total Expenditure: 25,000/-

Task number: 168

Task date: 27th November, 2021 to 20th January, 2022

Division name: Street Cause Francis Task name: Clothes Donation Drive

Task Venue:

1. The Hyderabad Children's Aid Society

- 2. Secunderabad railway station
- 3. Ameerpet circle
- 4. Sri Ganesh Temple
- 5. Niloufer hospital
- 6. Kompally
- 7. Alwal
- 8. Old city Mehdipatnam
- 9. Tolichowki
- 10. Tarnak
- 11. Balnagar

Total Expenditure: 0/-

Task number: 169

Task Date: 31st January, 2022

Division Name: Street Cause Francis

Task Name: Project Pragyata

Task Venue: Tribal welfare primary. School UTLA, Gramapanchith MAMIDIPALLY

amlet village Utla Mandal. Dandepally district Task taken up by: Street cause FRANCIS





Task overview: Tribal school required a TV in order to continue their online education

Total Expenditure: 26,500/-

Task number: 170

Task date: 31st July, 2021, Saturday.

Task name: Project Suraksha

Task Venue: St. Montfort (People's Initiative Network) School, located in the slum of

Moosanagar, Chaderghat Task overview: Medical camp Total Expenditure: 4,037/-

Task Number: 171

Task Name: Prabhakara

Division name: Street Cause Francis

Task Location: Kothagudem, Khammam district.

Task overview: Solar street lights were set up in tribal hamlets of Kothagudem

Total Expenditure: 25,000/-

Task number: 172

Task Date: 9th January, 2022

Division Name: Street Cause Francis Task Name: Project Chitravidya

Task Venue: MPUPS GODSERIAL, Nirmal, Dasturabad

Task taken up by: Street Cause Francis

Total Expenditure: 52,000/-

Task number: 173

Task Date: 15th February, 2022. Division Name: Street Cause Francis

Task Name: Project Malar

Task taken up by: Street Cause Francis Task Location: MPPS.Bheemlathanda

Total Expenditure: 84,740/-

Task number: 174

Task date: 12th January, 2022, Wednesday.

Division name: Street Cause Francis

Task name: Project Aashray

Task Venue: Aashray Balatejassu, Secunderabad near Mother Teresa statue

Total Expenditure: 8409/-

Task number: 175

Task date: 24th December, 2021 Division name: Street Cause Francis





Task name: Project Swachagrah

Task taken up by: Street Cause Francis

Task Venue: Mupparam Village, Medak District

Total Expenditure: 47050/-

Task Number: 176

Task date: 23rd May, 2022

Division Name: Street Cause Francis

Task Name: Project Urija

Task taken up by: Street Cause Francis

Task Venue: zpps bhemmpur Mandal bhemmpur Adilabad district

Total Expenditure: 176850/-

Task number: 177

Task date: 30th January, 2022

Division name: Street Cause Francis

Task name: Project Akalk

Task taken up by: Street Cause Francis

Task Venue: Zila Parishad High School Yacharam, Yacharam Mandal, Ranga Reddy district

Total Expenditure: 10,999/-

Task number: 178

Task date: 14th May, 2022

Division name: Street Cause Francis
Task name: Food Distribution Drive
Task taken up by: Street Cause Francis

Task Venue: Gandhi Hospital Total Expenditure: 9000/-

TASK NUMBER:180

TASK DATE: 30th June, 2021

DIVISION NAME: Street Cause KMIT

Task Name: Groceries donation

TASK LOCATION: Peddamma Gudi colony, Hydershakote Task overview: provide the family with groceries for 2 months

Total expenditure: 3575/-

Task number: 181

Task date: 6th July, 2021

Division Name: Street Cause KMIT

Task Name: Sanitary essentials Donation

Task location: Spoorthi boys home, Vidyanagar, Hyderabad

Task overview: Sanitary essentials were provided to the hostelers

Total Expenditure: ₹2142





TASK NUMBER: 182

TASK DATE: 5th August 2021

DIVISION NAME: Street Cause KMIT

EVENT NAME: Mosquitoes and Insect Repellent Kit

TASK LOCATION:

1) Keerthana Foundation

2) Maatrudevobhava Anaadha Ashram

3) Anaadha Vidyarthi Griha

Task overview: Provided people with mosquitoes and insect repellent kits

TOTAL BUDGET: 7216/-

TASK NUMBER: 183

TASK DATE: 1st September 2021-9th September 2021

DIVISION NAME: Street Cause KMIT EVENT NAME: ECO-VIDYAVARIDHI

TASK LOCATION: Hyderabad

Task overview: Eco friendly ganesh idols were sold

Total Income = 32,600 Expenditure = 12,600

Profit = 20,000

TASK NUMBER: 184

TASK DATE: 24th September 2021 DIVISION NAME: Street Cause KMIT

EVENT NAME: Digi-Classroom

TASK LOCATION: PR Vidyalaya Govt School, Narayanaguda, Hyderabad

Task Overview: Digitalisaiton of a classroom

TOTAL BUDGET: ₹21776/-

TASK NUMBER: 185

TASK DATE: 24th November 2021 DIVISION NAME: Street Cause KMIT

EVENT NAME: Sanitary napkins vending machine

TASK LOCATION: Government Nehru Memorial High School, Malakpet, Hyderabad

Task overview: A sanitary pad vending machine was set up

TOTAL BUDGET: ₹6,756

TASK NUMBER: 186

TASK DATE: 14th November 2021
DIVISION NAME: Street Cause KMIT
EVENT NAME: Rain Water Harvesting 2.0

TASK LOCATION: Vivekananda Seva Sangham, Madinaguda, Hyderabad.

Task overview: A rainwater harvesting pit was dug





TOTAL BUDGET: ₹2000

TASK NUMBER: 187

TASK DATE: 25th November 2021
DIVISION NAME: Street Cause KMIT
EVENT NAME: School Bags Donation

TASK LOCATION: Govt boys primary school, Kukatpally, Hyderabad

Task overview: School bags were donated to the children

TOTAL BUDGET: 9,250/-

TASK NUMBER: 188

TASK DATE: 5th January 2022

DIVISION NAME: Street Cause KMIT EVENT NAME: Food Donation Drive

TASK LOCATION: Hyderabad

Task overview: Food was donated to people in need

TOTAL BUDGET: ₹8,300

TASK NUMBER: 189

TASK DATE: 5th January 2022

DIVISION NAME: Street Cause KMIT

TASK LOCATION: Hyderabad

Task overview: Blankets were donated to people

EVENT NAME: Blanket Donation Drive

TOTAL BUDGET: ₹8000

TASK NUMBER: 190

TASK DATE: 21st May 2022

DIVISION NAME: Street Cause KMIT EVENT NAME: Books Donation

TASK LOCATION: Aman vedika shelter home, Hyderabad

Task overview: Books were donated and a mini library was set up

TOTAL BUDGET: 11270/-

Task Number: 191

Task Date:28 september 2022 Division Name: Street Cause KMIT

Event Name: Medical Camp(Project Suraksha)

Task location: Bass orphanage, Osman gunj, Hyderabad

Task overview: Mallareddy hospitals and Street Cause KMIT conducted a medical camp

Total Budget: 0/-

Task Number: 192

Task Date: 2nd October 2022 Division Name: Street Cause KMIT





Event Name: Jaladhaara

Task location: Karchikal, Nellikudur mandal, Mahabubabad District

Total Budget: 2,42,000/- (KMIT's Split: 35,000/-)

Task Number: 193

Task Date: 27/7/2022- 26/8/2022 Division Name: Street Cause KMIT Event Name: Plantation Drive 2.0

Task location: Hyderabad

Task overview: SC KMIT people planted 5 saplings each in their surroundings

Total Budget: 0/-

Task no: 194

Task Date: 25-07-21 Division: SC ICFAI LS

Task name: Project Garbage Tow cycles

Task venue: Bekkera Village, Kalwakurthi mandal, Nagarkurnool district

Task overview: provided garbage Tow cycle

Total expenditure: 34,000/-

Task no: 195

Task Date: 29-08-2021 Division: SC ICFAI LS

Task name: Sanitizer Distribution Project

Task venue: Tank Bund. Necklace road, Irrum Manzil

Task overview: distributed sanitizers to the front line workers

Total expenditure: 0 (zero budget)

Task no: 196

Task Date: 29-08-2021 Division: SC ICFAI LS

Task name: Sanitizer Distribution Project

Task venue: Tank Bund. Necklace road, Irrum Manzil

Task overview: distributed sanitizers to the front line workers

Total expenditure: 0 (zero budget)

Task no: 197

Task Date: 25-08-2021 Division: SC ICFAI LS

Task name: Clothes Distribution

Task venue: Secunderabad Railway Station, Ananthapur, Nalgonda.

Task overview: provided winter clothing

Total expenditure: 0 (zero budget)

Task no: 198





Task Date: 01-11-2021 Division: SC ICFAI LS Task name: motor project

Task venue: Bheemla tanda, Mamada mandal, Adilabad

Task overview: motor for easy access to water

Total expenditure: 33792/-

Task no: 199

Task Date: 08-11-21 Division: SC ICFAI LS

Task name: Solar Lights Project

Task venue: Chennuru, kalluru Mandal, Khammam District of Telangana

Task overview: setup solar lights in the village.

Total expenditure: 19,000/-

Task no: 200

Task Date: 11-12-21 Division: SC ICFAI LS

Task name: water container

Task venue: Thotapally, Kalwakurthi Mandal, Nagarkurnool District

Task overview: water purifier and a water cooler

Total expenditure: 37,400/-

Task no: 201

Task Date: 10-01-22 Division: SC ICFAI LS

Task name: project prabhakara

Task venue: kothagudem

Task overview: setting up solar street lights

Total expenditure: 30,000/-

Task no: 202

Task Date: 21-02-22 Division: SC ICFAI LS

Task name: Emergency lights

Task venue: New Age Welfare Society, Kaladera, New Malakpet, Hyderabad

Task overview: provided emergency lights for the orphanage

Total expenditure: 3396/-

Task no: 203

Task Date: 08-05-22 Division: SC ICFAI LS

Task name: Project School adoption

Task venue: Muparam Village, alladurg mandal, Medak district.

Task overview: provided basic equipment like benches





Total expenditure: 44000/-

Task no:204

Task date:14/08/2021 Division:SC SVIT

Task name: distribution of home appliances

Task venue:Malkajgiri

Task overview: Distributed led lights and fans

Total expenditure:3180₹

Task no:205

Task Date:5/09/2021 Division: SC SVIT

Task name: digi class rooms and painting Task venue:mupparam village medhak

Task overview: donated projector and system

Total expenditure:12900₹

Task no:206

Task Date:10/01/2022

Division:Street Cause SVIT
Task name: Project Prabhakara
Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:20,000₹

Task no: 207

Task Date: 10-06-22 Division: SC svit

Task name: school renovation project

Task venue: Mufeed-ul-Anam Boys School, Hyderabad

Task overview: Electrical renovation

Total expenditure: 10,000/-

Task no 208

Task date - 11 December Division - streetcause svit Task venue - dharma puri

Task overview - repaired the bathrooms and fixed water leakage problems in a school

located in dharmapuri.

Task expenditure - 16,120

Task no:209

Task Date:4th July





Division: SC GNI

Task name: Svadhyaya

Task venue: Asha Kuteer and Vaidehi Ashram Task overview: Donated books in the orphanage

Total expenditure: 0

Task no:210

Task Date:18th July Division: SC GNI Task name: Badhruka

Task venue: Laalana Welfare org and Spandana society Task overview: Menstrual Hygiene product distribution

Total expenditure: 2983.50/-

Task no:211

Task Date: 25th October

Division: SC GNI Task name:Unnathi

Task venue: Maa Foundation Peerzadiguda

Task overview: Text Book Donation

Total expenditure: 3100/-

Task no:212

Task Date:14th Nov 21

Division: SC GNI

Task name: Helping Hands

Task venue: Rajeshwari Oldage home Kukatpally

Task overview: Donation of Garments, stationery and menstrual products

Total expenditure:4057

Task no:213
Task Date:14/11
Division: SC GNI
Task name: Sakhi

Task venue: Don Bosco Seva Sadhan

Task overview: Donation of menstrual products and stationery

Total expenditure:4057

Task no:214

Task Date: 27th November 21

Division: SC GNI Task name: Ujeda

Task venue: Mini Gurukulam for Girls

Task overview: Donated Wall lights, mosquito repellents and fans

Total expenditure: 22565/-





Task no:215

Task Date:2nd December

Division: SC GNI Task name:Shuddhi

Task venue:Lakshmi Bharathi Trust Bahadurguda

Task overview: Donated water dispenser

Total expenditure:7400

Task no:216

Task Date:4th to 10th December

Division: SC GNI

Task name:Blanket donation drive Task venue:Across Hyderabad Task overview:Blanket Donation

Total expenditure:24950

Task no:217

Task Date:25th December

Division: SC GNI Task name: Aahar

Task venue: Sarahas Convenet Home for Special Children

Task overview: Donated rice bags

Total expenditure: 4500/-

Task no:218

Task Date:25th dec 21 Division: SC GNI Task name:Aahar 2.0

Task venue: Mother's nest Home

Task overview: Sarah's Convenant home

Total expenditure:4500/-

Task no:219
Task Date:

Division: SC GNI Task name:Nirbhay

Task venue: Mother's Lap home

Task overview: Welding and Grill repair.

Total expenditure:5000/-

Task no:220

Task Date:26th Dec Division: SC GNI Task name: Raksha





Task venue: Govt Girls High School Falaknuma.

Task overview: Self Defence for girls

Total expenditure:0

Task no:221

Task Date: 26th January 22

Division: SC GNI Task name: Let's sow

Task venue: Aaradhana Home Saroornagar Task overview: Sapling plantation drive

Total expenditure: 135/-

Task no:222

Task Date: 28th January

Division: SC GNI Task name: First Aid Task venue: Hyderabad

Task overview: First Aid kit donation to the underprivileged

Total expenditure:13100/-

Task no:223

Task Date: 28th December

Division: SC GNI

Task name: Shudh pani

Task venue: Marami Child home

Task overview: Water purifier donation

Total expenditure:5500/-

Task no:224

Task Date:8th February

Division: SC GNI Task name: Nai Bhor

Task venue:Nai Bhor Sanstha Jaipur

Task overview: Stitching equipment for Transgenders.

Total expenditure: 11428/-

Task no:225

Task Date:22nd March Division: SC GNI Task name: Diksoochi

Task venue:Spoorthi Jyoti foundation Hyderabad

Task overview: Donation of Computer tables and extension boxes.

Total expenditure:7600/-

Task no: 226





Task Date: 25th April Division: SC GNI

Task name: Let's cycle

Task venue: Anuraag Children's home

Task overview: Donation of Racks, slippers, pots, cycle repairs

Total expenditure:4280

Task no: 227

Task Date: 30th April Division: SC GNI Task name:Solar

Task venue: Mother's Nest Oldage Home

Task overview: Donation of Solar powered water plant

Total expenditure: 10239/-

Task no: 228

Task Date: 8th May Division: SC GNI Task name: Aadhar

Task venue :Mother's Nest Oldage Home Task overview : Donation of Bulbs and fans

Total expenditure:4300/-

Task no: 229

Task Date: 25th and 26th May

Division: SC GNI Task name: Abhay

Task venue: SS WW SS Oldage Home Kamareddy

Task overview: Renovation and repairs

Total expenditure: 10297/-

Task no: 230

Task Date: 28th May Division: SC GNI Task name:Save Soil

Task venue : KBR park Jubilee Hills Task overview : Sapling distribution

Total expenditure: 10,470/-

Task Number:231 Task Date: 15-11-2021

Task taken up by : Street Cause IARE.

Task Name: Chaitanya

Task Venue: ZPHS Bowrampet (500043), Hyderabad.

Task overview: children were educated about gender equality





Budget: 0/-

Task Number: 232 Task Date: 10-11-2021

Division Name: Street Cause IARE.

Task Name: Vikaas

Task Venue: Srimatha Old Age Home,

located at New Bowenpally (500011), Secunderabad. Task overview: Fans were donated to the old age home

Total Budget: 4,076/-

Task Number: 233 Task Date: 04-12-2021

Task taken up by: Street Cause IARE. Task Name: Blanket Donation Drive Task Venue: Across Hyderabad.

Task overview: Blankets were donated to the needy

Total budget = 10200/-

Task No.: 234

Task Date: 2-Oct2021
Task name: Jaladhaara

Task taken up by: Street Cause IARE.

Event location: Kachikal, Warangal district, Telangana.

Task overview: water plant was set up.

Total: Rs. 2,42,000/- (IARE's Split: IARE - Rs. 10,000/-)

Task no: 235

Task Date: 16 March 2022

Task Name: Shvan

Task taken up by: Street Cause IARE

Event location: Across streets of hyderabad Task overview: dogs were fed across the city

Total budget: 2420/-

Task no: 236

Task date: 18/03/2022 Task name: indhradhanush

Task take up by: Street Cause IARE

Event location: Prerna Children's Home, Dwarakamayee Colony, JPR Enclave, Balanagat,

Hyderabad

Task overview: Stationery materials was provided

Total Budget: 3344/-

Task no:237





Task date:28/08/2021

Task name: Rice and groceries donation

Division: SC BIET

Event location:Surakshana Old Age Home

*Men's And Women's

*Address H No: 9-279 /3 srinivasa Gayatri Nagar Road No 17, jillalguda, Hyderabad

500097, Telangana.

Task overview:SC BIET donated them 3 rice bags, 2 wheat bags and tur dal

Total budget:4000/-

Task no:238

Task date: 3/11/2021

Task name: Scanner Donation

Division:SC BVRIT

Event location:MPHS, Dabbagunta Palli, warangal, 523109. Task overview:SC Bvrit, extended our helping hand by providing them the necessary requirements as pleased.

Total budget:29,597 /-

Task no:239

Task Date: 10/01/2022

Division:Street Cause SVIT
Task name: Project Prabhakara
Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:20,000₹

Task no:240

Task date:09/01/2022

Task name: Project Chitravidya

Division: SC FRANCIS

Event location: MPUPS GODSERIAL, Nirmal, Dasturabad

Task overview: The school was painted ,and the students were provided with clean learning

environment

Total budget:₹52,000

Task no:241

Task date: 14/05/2022

Task name:Food distribution

Division:SC FRANCIS

Event location: Gandhi Hospital

Task overview:meal packs and water bottles have been distributed to people in need

Total budget:9000₹

Task no:242

Task date:23/12/2021





Task name:Skisha Division:SC IARE

Event location: ZPHS Balanagar, Raju Colony, Balanagar, Hyderabad, Telangana 500042.

Task overview:provided the school with basic necessity

Total budget: 15,665/-

Task no:243

Task date:26/07/2021

Task name:orphanage drive

Division:SC MVSR Event location:RFI Rainbow home ,Falaknuma government junior college,Hyderabad

Task overview:provided Rice bags to the people of orphanage to fulfill their requirement.

Total budget:3400/

Task no:244

Task date:26/07/2021

Task name:orphanage drive 2

Division:SC MVSR

Event location:RFI Rainbow home ,Falaknuma government junior college,Hyderabad Task overview:provided basic commodities like cooking essentials and medicines to an orphanage

Total budget:4590/-

Task no:245

Task date: 18/08/2021

Task name:orphanage drive

Division:SC MVSR

Event location: • Kharmanghat temple

- BadangpetTurkayamjal
- · Nadergul main road
- Balapur

Task overview:distributed clothes to the people living in slums and roadside in various places of badangpet municipality.

Total budget:0₹

Task no:246

Task Date:10/01/2022 Division:Street Cause SVIT Task name: Project Prabhakara Task venue:kothagudem, khammam

Task overview:24 solar street lights were set up in the tribal area of khammam district

Total expenditure:20,000₹

Task no:247

Task date: 14/04/2022





Task name: DISTRIBUSTION OF BRAILLE BOOKS

Division:SC MVSR

Event location: Mathru Foundation, BEGUMPET

Task overview:provided the foundation with Grinder, brailee books, Idly stand, bowl with cap

for rice.

Total budget: 19,454/-

Task no:248

Task date:20/01/2022

Task name:donation of benches and other requirements

Division: SC MVSR

Event location:beside zila parishad office, jagjeevan ram nagar, Nizambad , Hyderabad.

Task overview:provided the school with benches ,chairs and other requirements like

black board and slates. Total budget:₹15000/-

Task no:249

Task date:4/04/2022

Task name:donation of oil extraction machines

Unit: SC HYA

Event location: Mamada and Dasturabad of Nirmal district

Task overview: distributed oil extraction machines to the village

Total budget:41,266₹

Task no:250

Task date:1/11/2021
Task name:HAPPY FEET

Division:SC MRIET

Event location: Rehmathnagar, yousufguda.

Task overview:provided the requirements to the Vengalrao Nagar division

Total budget:10,100

Task no:251

Task date:19/09/2021 Task name:medical name

Division:SC MRIET

Event location:health community centre, premnagar, hafeezpet

Task overview: conducted a medical camp in health community centre of prem nagar

hafeezpet with the help of 3 doctors.

Total budget:4698/-

Task no:252

Task date: 1/09/2021

Task name: Cloth distribution

Division:SC MRIET

Event location: sannihitha primary school, parklane road secunderabad.

Task overview: distribution of clothes to people needy





Total budget:0₹

Task no:253

Task date:20/08/2021

Task name: distribution of groceries

Division:SC MRIET

Event location:sannihitha girls home, near GHMC quarters, tukaramgate secundrabad.

Task overview:provided them with the required items

Total budget:6690₹

Task no:254

Task date:28/01/2022
Task name:a better life
Division:SC MECS

Event location:16-86/2, Venkataiah Panthulu Nilayam, New Mirjalguda, SC Railway Colony,

Malkajgiri, Secunderabad, Telangana 500047

Task overview:provided them with all the required items

Total budget:6853₹

Task no:255

Task date:18/09/2021
Task name:for the children

Division:SC MECS

Event location: Divya Jyothi Foundation, 28/18, Jaya Nagar, Saidabad, Hyderabad, Telangana

500059

Task overview: provided the foundation with the required items

Total budget:5448₹

Task no:256 Task date:

Task name: distribution of sports kits

Division:SC LOYOLA

Event location:Donthi Toopran ZPHS SCHOOL Task overview:Provided the school with sports kits

Total budget:5490/-

Task no:257

Task date:28/08/2021

Task name:blood donation camp

Division:SC LOYOLA

Event location:red cross blood bank, rtc x rds

Task overview: blood was donated by many people which will be helpful for ppl in need

Total budget:0₹

Task no:258

Task date: 10/07/2021

Task name: donation of home appliances





Division:SC LOYOLA

Event location: Ayush nilayam children home

Task overview: provided the children home with rhe required needs

Total budget:1997.5₹

Task no:259 Task date:

Task name:geyser donation

Division:SC KMIT

Event location: the nest, miyapur

Task overview: donated a geyser to the

Total budget:5600₹

Task no:260

Task date:10/07/2021

Task name:school renovation

Division:SC KMIT

Event location:mufeed-ul-anam boys school

Task overview: renovated the school and provided the children with better studying

environment

Total budget:25, 000

Task no:261

Task date:11/06/2022
Task name:Anupradanam
Division:SC JNAFAU
Event location:vikarabad

Task overview:provided the school children with textbooks.

Total budget:20, 000₹

Task no:
Task date:
Task name:
Division:
Event location:
Task overview:

Total budget:





SC GOLD INSTAMART FOOD DRIVE (FOOD GENIE) 2021-22

Task Date: 10-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 01

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation it created a difficult situation for the underprivileged due to their financial crisis

To help them,we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

NAME OF THE ORPHANAGES: Chinnari Ranula illu, Ayusha Nilayam

Location : Alwal Budget Split :

Red&Yellow bell peppers $35pcs \times 52 = 1820$ Green Capsicum $4\times24 = 96$ Watermelon $6\times104 = 624$ Papaya $6pcs\times79 = 474$ Cluster Beans $12\times23 = 276$ Chilli Bajji(500gm) $12\times70 = 840$ Pumpkin $4pcs\times59 = 236$ Banana Stem $5\times35 = 175$ Cauliflower $3pcs\times55 = 165$ Tomatos $7kg\times21 = 147$ Zucchini Yellow (250gm) $5\times82 = 410$ Baby Corn $5pcs\times96 = 480$





Broccoli 4×89 = 356 Cherry Tomatoes (200gm) 16pcs×72 = 1152 Orange 5×138 = 690 Promegranate 8×121 = 968 Green Pear 11pcs×150 = 1650 Bread 14pcs×40 = 560 Raddish 5pcs×29 = 145

Total Budget = 11,264/-No.of people impacted = 76

Task Date: 11-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 02

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation it created a difficult situation for the underprivileged due to their financial crisis

To help them,we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

NAME OF THE ORPHANAGES: Chinnari Ranula illu

Location: Alwal Budget Split:

Pumpkin 3pcs×59 = 177 Tomatoes 1kg×21 = 21

Pomegranate shelled 5×109=545 Green lettuce(100gms)6×61=366

Bread 25pcs×40 = 1000

Small onion 6pcs×46=276

Baby potato 2pcs×34=68

Red cabbage (500gms)3×108=324

Celery(200gms)2×63=126

Leeks(100gms)4×36=144

Turnips 2gms×95=190

Colocasia(500gms)8×32=256 Bittergourd(500gms)4×50=200

Ladies finger 2×29=58

Sambhar Onion 8×51=408

Red pumpkin diced (200gms)6×26=156

Spring onion (250gms)8×56=448

Dragon fruit 1×129=129

Curry leaves(50gms)20×13=260





Total Budget = 5152/-No.of people impacted = 40

Task Date: 12-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 03

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation it created a difficult situation for the underprivileged due to their financial crisis

To help them,we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Daily wage workers

Location: Nallakunta

Budget Split:

Bread 15×40=60 Milk 10×25=25

Yellow capcicum(250gms)35×58=2030

Green capcichm 3×24=72

Potato 5×34=170

Lemon grass(200gms)4×65=260

Turnips 3×95=285

Broccoli 8×89=712

Promogrante 8×121=968

Papaya 2pcs×79=158

Cherry tomato(200gms)6×72=432

Celery(200gms)3×63=189 Bittergourd(500gms)4×50=20 Green Lettuce (100gms)5×61=30

Beetroot 3pcs×57=17

Gong Ira(250 gms) 3×50=100

Onion5×27=135

Yam Portion (250gms)5×60=300 Chilli Bajji(500gms) 2×70=140 Green Cucumber 1×22=22

Total Budget = 7499/-No.of people impacted = 60

13-08-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 04





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Daily Wages Workers(LB Nagar)

Location: Nallakunta

Budget Split:

Baby Potato 3×34=102 Sambhar Onion 9×51=459 Orange 5×138=690

Spring onion(250gms)7×56=392

Yam 6×60=360 Onion 5×37=135

Chukkakura 5×69=345

Sambhar Cucumber5×74=370

Ash Gourd portion(250gms)5×34=170

Carrot 3×100=300 Yam Cubes 3×37=111 Pumpkin 2×59=118

Red Pumpkin Diced(200gms)2×26=52

Zucchini yellow(250gms)3×82=246

Zucchini Green (250gms)2×81=162

Celery(200gms)3×63=189

Lemon Grass(200gms)5×65=325

Sprouts(200gms)6×30=180

Pomegranate shelled5×109=545

Broccoli 4×89=356

Curry Leaves (50gms) 4×13=52

Avocado 4×119=476

Green cucumber 5×22=110

Red cabbage(500gms)3×108=324 Red&Yellow Bell Oppers3×56=156

Milk12×25=300 Bread7×40=280 Beetroot1×57=57

Bitter gourd(500gms)1×50=50 Amaranthus(250gms) 1×40=40

runarantinao(2009ino) i io io

Total Budget = 7452/-No.of people impacted = 75

Task Date: 14-08-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 05





To help them,we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

NAME OF THE ORPHANAGES: Vastalayam Sindhu

Location : Moulali Budget Split:

Banana Stem 4×35=350

Garlic 2×57=114

Ginger 10pcs×31=310

Sweet Corn 4×35=140

Chilli Bajji(500gms)1×70=70

Chukkakura 2×69=138

Amaranthus(250gms)2×40=80

Dondakaya(250gms)2×30=60

Celery(200gms)3×63=189

Apples 8×102=816

Tomatoes (1kg)1×21=21

Brinjal(250gms)1×18=18

Green Lettuce(100gms)2×61=122

Green Cucumber 1×22=22

Banana kacha 1×19=19

Green Capcicum 4×24=96

Pumpkin 3pcs×58=177

Lemon grass(200gms)3×65=195

Yam Cubes 2×37=74

Red Pumpkin Diced(200gms)3×26=78 Zucchini Yellow (250gms)2×82=164 Zucchini Green (250gms)1×81=81

Bread 9×40=360

Pav Bhajis Buns 1×25=25

Milk 45×25=1125

Total Budget = 4634/-

No.of people impacted = 42

Task Date: 14-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 06

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO:Daily Wages labours

Location: Lb nagar Budget Split:

Pav Bhaji Buns 4×25=100 Sambhar Onion 5×51=255 Yam 5×60=300 Lemon Grass(200gms) 5×65=325 Sprouts(200gms) 7×30=210 Curry Leaves (50gms) 5×13=65 Red cabbage(500gms) 4×108=432 Red&Yellow Bell Oppers 5×52=260 Milk 17×25=425 Bread 16×40=640 Chilli bhaji(500gms) 6×70=420 Green Lettuce(100gms) 7×61=427 Raddish 3×29=87 Spinach(250gms)5×49=249 Corainder 2×23=46 Baby Potato 1×34=34

Total Budget =4261/-No.of people impacted =38

Task Date: 15-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 07

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Kukutpally Slum

Location: kukutpally Budget Split:

Sambhar Onion 4×51=204 Spring onion(250gms)7×56=392 Yam 6×60=420 Pumpkin 2×59=118 Zucchini Green (250gms)4×81=324





Pomegranate 5×121=605

Broccoli 1×89=89

Curry Leaves (50gms) 4×13=52

Avocado 3×119=357

Green cucumber 4×22=88

Red cabbage(500gms)4×108=432

Red&Yellow Bell Oppers6×52=312

Milk 40×25=1000

Bread 7×40=280

Bitter gourd(500gms)2×50=100

Amaranthus(250gms) 3×40=120

Bharat purple brinjal(500gms) 4×64=256

Turnips 2×95=190

Beans(250gms) 4×30=120

Dondakaya(250gms) 17×30=510

Chilli Bhaji(500gms) 5×70=350

Brinjal(250gms) 10×18=180

Cauliflower (400gms)4×55=220

Green lettuce 4×61=244

Green capcicum 2×24=48

Lady's finger 2×29=58

Banana Stem 6×35=210

Colocassia(500gms)3×32=64

Snake gourd 2×34=68

Cluster beans 2×23=46

Ridge Gourd (500gms)2×29=58

Sweetcorn 12×35=420

Muskmelon 8×51=408

Watermelon 3×104=312

Apples 4×102=408

Dragon fruit 3×129=387

Pine Apple 5×52=260

Banana 6×36=216

Papaya 1×79=79

Malbar potato 1×48=48

Chapathi 1×70=70

Pomegrante shelled 4×109=436

Celery(100gms)1×63=63

Total Budget = 10841/-

No.of people impacted = 60

Task Date: 15-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 08





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Mythri Home

Location: kukutpally

Budget Split:

Pumpkin 6×59=354

Red cabbage (500gms)4×108=432 Zucchini yellow (250gms)2×82=164 Green Lettuce (100gms)3×61=183 Banana stem 1×35=35

Ash Gourd Portion(250gms)4×34=136

Chilli Bhaji 1×70=70 Bread 18×40=720

Sambhar Onion 1×51=51

Yam 4×60=240

Red pumpkin Diced (200gms)6×26=156

Baby potato 1×34=34

Sambhar cucumber 5×74=370 Snake Gourd (500gms)4×34=136 Colocasia(500gms)1×32=32

Beetroot 3×57=171

Green cucumber 5×12=110 Spinach (250gms) 13×48=637

Lettuce ice berg (250gms)4×126=504

Corainder6×23=138 Chukkakura 3×69=207 Gongura (250gms) 3×50=150 Cherry tomato (200gms) 4×72=288 Sprouts 10×30=300 Yam Portion (250gms)2×60=120

Total Budget = 5738/-No.of people impacted = 45

Task Date: 13-08-2021

Division Name: STREET CAUSE GOLD **Event Name: FRUITS AND VEGETABLES**

Task Number: 09

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and





vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Grace Children Home

Location: sainikpuri

Budget Split:

Milk 21×25=525

Baby corn 9×40=360

Sweetlime 6×35=210

Green pear 8×150=1200

Pumpkin 1×59=59

Red cabbage (500gms)5×108=540

Spring onion(250gms)6×36=336

Yellow capcicum15×58=870

Zucchini yellow (250gms)2×82=164

Green Lettuce (100gms)7×61=427

Banana stem 3×35=105

Ash Gourd Portion(250gms)3×34=102

Chilli Bhaji 1×70=70

Bread 9×40=360

Sambhar Onion 23×51=1173

Red pumpkin Diced (200gms)2×26=52

Baby potato 5×34=170

Snake Gourd (500gms)2×34=68

Colocasia(500gms)3×32=96

Beetroot(250gms) 1×15=15

Spinach (250gms) 12×49=588

Lettuce ice berg (250gms)1×126=126

Gongura (250gms) 2×50=100

Cherry tomato (200gms) 1×72=72

Yam Portion (250gms)6×60=360

Lemon grass 2×65=130

Pineapple 1×52=52

Celery(200gms) 6×63=378

Leeks 3×36=108

Broccoli 14×89=1246

Sweet corn 4×35=140

Ridge gourd (500gms)10×29=290

Cauliflower 2×55=110

Romanian Lettuce 1×61=61

Amaranthus 2×40=80

Zucchinj green 4×8=324

BlueBerries 2×329=658

Brinjal 1×18=18

Bharath purple brinjal 2×64=128

Pudina (100gms)1×30=30

Beans (250gms)5×30=150

Curry leaves 6×13=78

Indian plum 11×129=1419

Avacodo 3×119=357





Tomotos 1×21=21 Apples 14×102=1428 Promogrante 4×121=484 Papaya 5×79=395 Tender coconut 2×63=126 Muskmelon 3×61=153

Total Budget = 16,824/-No.of people impacted = 70

Task Date: 16-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 10

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation it created a difficult situation for the underprivileged due to their financial crisis

To help them,we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DONATED TO: Beggers and GHMC Workers

Location: Alwal Budget Split:

Milk 26×25=650
Bread 18×40=720
Green cucumber 9×22=198
Tomatos (1kg) 1×21=21
Beetroot 2×57=114
Watermelon 5×104 =520
Bharath purple brinjak (500gms) 4×64=256
Banana kacha 5×19=95

Tender coconut 5×63=315 Spinach (250gms)3×49=147

Kale 4×44=176

Banana 4×36=144

Gongura (250gms(4×50=200) Amaranthus (250gms) 4×40=160 Snake gourd 3×34=102 Red &yellow bell oppers 2×52=104 Lemon grass (200gms)2×65=130 Pudina (100gms)5×30=150 Small onion 2×46=92 Vellanki foods 3×120=360

Total Budget = 4564/-No.of people impacted = 40





Task Date: 16-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 11

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation it created a difficult situation for the underprivileged due to their financial crisis

To help them,we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DONATED TO: Spoorthi Ghar

Location: vidyanagar

Budget Split:

Bread 20×40=800 Green cucumber 8×22=176 Banana kacha 7×19=133 Spinach (250gms)3×49=147 Gongura (250gms)4×50=200 Amaranthus (250gms) 3×40=120 Lemon grass (250gms)3×65=195 Spring onion(250gms) 6×56=336 Turnips 7×95=665 Curry leaves (50gms)3×13=39 Dondakaya 5×30=150(500gms) Green cucumber 8×22=176 Drumstick 4×23=92 Cauliflower(400gms) 6×55=330 Brinjal (250gms)4×18=72 Onion 7×27=189 Reddish 4×29=116 Colocasia (500gms)6×32=192 Chilli bhajji (500gms) 6×70=192

Total Budget = 4468/-No.of people impacted = 70

Task Date: 17-08-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 12





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Daily Wages Labours(LB Nagar)

Location: LB NAGAR

Budget Split:

Milk 30×25=180

Green pears 4×150=600

Spring onion(250gms)3×56=168

Yellow capsicum 2×58=116

Banana stem 2×35=70

Chilli Bhaji 2×70=140

Bread 25×40=1000

Bottle Gourd 1×80=80

Colocasia(500gms)2×32=64

Beetroot(250gms) 1×57=57

Lettuce ice berg (250gms)3×126=378

Cherry tomato (200gms) 1×72=72

Celery(200gms) 2×63=126

Sweet corn 1×35=35

Romanian Lettuce 4×61=244

Amaranthus 2×40=80

Brinjal 1×18=18

Bharath purple brinjal 2×64=128

Pudina (100gms)1×30=30

Tomotos 1×21=21

Promogrante shelled 2×109=218

Pav bhajji Buns 5×25=125

Chicken 23×159=3657

Sprouts 9×30=270

Yam 3×60=180

Green cucumber 1×22=22

Small onion 3×46=138

Pineapple 1×52=52

Kale 4×44=176

Total Budget = 12025/-No.of people impacted = 50

Task Date: 17-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 13





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Spoothi Ghar and MSR Oldage home

Location: vidya nagar

Budget Split:

Chilli Bhaji(500gms) 8×70=560

Bread 17×40=680

Beetroot(250gms) 2×57=114

Lettuce iceberg (250gms)5×126=630 Cherry tomato (200gms) 3×72=216

Romanian Lettuce 4×61=244

Brinjal(250gms)1×18=18

Pav bhaji Buns 3×25=75

Yam cubes 2×37=74

Green capsicum 4×24=96

Small onion 1×46=46

Kale 4×44=176

Red&yellow bell peppers 10×52=520

Red cabbage (500gms)2×108=216

Sambhar cucumber 1×74=74

Madras cucumber 1×21=21

Sambhar onion 1×51=51

Green lettuce 8×61=488

Baby corn 2×96=192

Turnips 10×95=950

Cauliflower 4×55=220

Leeks (100gms) 3×36=108

Bokchoy 4×53=212

Lemongrass (200gms) 5×65=325

Ridge gourd 2×29=58

Zucchini green (250gms)3×81=243

Zucchini yellow (250gms)16×82=1312

Ash gourd portion 1×34=34

Dondakaya (250gms)2×30=60

Total Budget = 8193/-

No.of people impacted = 110

Task Date: 19-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 14





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Chinnari Ranula Home

Location: Chikadpally

Budget Split:

Chilli Bhaji(500gms) 5×70=350
Bread 3×40=120
Brinjal(250gms)2×18=36
Red&yellow bell peppers 13×52=676
Red cabbage (500gms)2×108=216
Baby corn 3×96=288
Turnips 2×95=190
Cauliflower 1×55=55
Leeks (100gms) 3×36=108
Zucchini yellow (250gms)5×82=410
Tomatoes (1kg) 3×21=63
Patta gobi 3×16=48
Muskmelon 4×51=204
Pumpkin 4×59=236

Total Budget = 3285/-No.of people impacted = 40

Pineapple 3×52=156 Watermelon 2×104=207

Task Date: 19-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 15

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Share as mile NGO

Location: Secundrabad

Budget Split:

Pumpkin 2×59=118 Zucchini Yellow (250gms)1×82=82 Broccoli 2×89=178





Milk mist fresh cream 3×85=255

Bread 4×40=160 Turnips 2×95=190

Green lettuce 4×61=244

Green pear 2×150=300

Banana Stem 2×35=70

Babycorn 2×96=192

Sweetcorn 2×35=70

Baby potato 1×33=34

Curd Milk Mist 4×50=200

Gongura (250gms)2×50=100

Leeks (100gms)2×36=72

Lemongrass (200gms)2×65=130

Zucchini vellow (250gms)1×82=82

Celery (200gms)2×63=126

Curd 2×40=80

Drumstick 1×23=23

Kale 2×44=88

Small onion 1×46=46

Total Budget = 2630/-

No.of people impacted = 36

Task Date: 20-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 16

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Kristos Ashram

Location: Moulali Budget Split:

Pumpkin 2×59=118

Zucchini Yellow (250gms)2×82=164

Bread 5×40=200

Turnips 3×95=285

Avacodo3×119=357

Green lettuce(100gms) 8×61=244

Banana Stem 3×35=105

Babycorn 2×96=192

Baby potato 4×34=136

Zucchini Green (250gms)2×81=162





Celery (200gms)3×63=189 Brinjal (250gms)1×18=18 Red pumpkin diced (200gms) 5×26=122 Spring onion (250gms) 2×56=112 Carrot 5×100=500 Milk 10×25=250

Total Budget = 5226/-No.of people impacted = 32

Task Date: 21-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 17

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: vastalayam

Location: Alwal Budget Split:

Watermelon 2×104=28 Bread 4×40=160 Cauliflower(400gms) 4×55=220 Cabbage 4×12=48

Leeks 4×36=144

Zucchini Green 4×81=324

Red &yellow bell copper 9×52=468

Red pumpkin diced (200 gm's)7×26=182

Yam cubes 1×37=37

Zucchini yellow (250gms)2×82=164

Yam portion(250gms)1×60=60

Res cabbage (500gms)2×108=260

Amaranthus(250gms)3×40=120

Romanian Lettuce 8×61=488

Green lettuce (100gms)1×61=61

Banana stem 1×35=35

Turnips 3×95=285

Banana 3×36=108

Potato 1×34=34

Celery (200gms)3×63=189

Colocasia (500gms)1×32=32

Bharat purple brinjal 3×64=192

Ash gourd portion (250gms)1×34=34





Green capcicum 7×24=168

Total Budget = 3977/-No.of people impacted = 70

Task Date: 22-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 18

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Chaitanya Girls Home

Location: Secundrabad

Budget Split:

Green Capcicum 7×24=168
Red cabbage (500gms)3×108=324
Green lettuce 9×61=549
Banana kacha 3×19=57
Spinach (250gms) 5×49=245
Amaranthus (250gms) 4×40=160

Total Budget = 1503/-No.of people impacted = 42

Task Date: 24-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 19

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Preprna foundation

Location:Nagole





Budget Split:

Amaranthus 5×40=200

Green pear 2×150=300

Red pear 1×180=180

Avocado 1×119=119

Bharat purple brinjal (500gms)1×64=64

Potato2×34=68

Chukkakura 2×69=128

Spinach (250gms)1×49=49

Gongura (250gms)1×50=50

Green chilli 1×24=24

Cucumber 1×75=75

Spring onion (250gms)6×56=336

Green apple 1×150=150

Colocassia (500gms)1×32=32

Bitter gourd 2×50=100

Turnips 2×95=190

Beans 1×30=30

Red pumpkin diced (200gms) 1×26=26

Carrot 1×100=100

Zucchini Yellow 1×82=82

Romanian lettuce 3×61=183

Baby corn 1×96=96

Pav Bhajji Buns 6×25=150

Milk 42×25=1050

Bread 15×40=600

Onion 2×27=54

Cherry tomato (200gms)2×72=144

Pomegranate 1×121=121

Curry leaves (50gms)2×13=26

Leeks 3×36=108

Corainder 2×23=46

Red &yellow bell oppers 4×52=208

Green lettuce 1×61=61

Bokchoy 1×53=53

Yam cubes 1×37=37

Total Budget = 5250/-

No.of people impacted =52

Task Date: 25-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 21

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED To: Chaitanya Boys Home

Location: Alwal Budget Split:

Bread 9×40=360
Red&yellow bell peppers 5×52=260
Turnips 1×95=95
Zucchini yellow (250gms)1×82=82
Red cabbage (500gms)1×108=108
Baby corn 2×96=192
Dragon 1×129=129
Celery (200gms)3×63=189
Avacodo1×119=119
Bokchoy 1×53=53
Amaranthus (250gms)5×40=200
Green lettuce (100gms)1×61=61

Total Budget = 1848/-No.of people impacted =40

Task Date: 25-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 22

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: slum people

Location:Gachibowli

Budget Split:

Bread 45×40=1800
Banana 20×36=720
Ginger 1×31=31
Pineapple 1×52=52
Milk 10×25=250
Cherry tomato 6×72=432
Onion 1×27=27
Amul butter 14×44=616
Curd milk mist 18×50=900





Milk mist fresh cream 12×85=1020

Potato 3×34=102

Pomegranate 2×121=242

Baby corn 2×96=192

Chilli Bhajji (500gms)3×70=210

Bitter Gourd (500gms)3×50=150

Spinach (250gms)20×40=800

Romanian lettuce 20×61=1220

Green capacicum 10×24=240

Raddish 10×29=290

Turnips 1×95=95

Lady's finger 4×29=116

Sweet Corn 2×35=70

Dragon fruit 2×129=258

Avacodo4×119=476

Broccoli 4×89=356

Epigma 20×40=800

Chicken 5×159=795

Apple 8×102=816

Total Budget = 14096/-No.of people impacted = 75

Task Date: 26-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 23

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Auxiliary Navajeevan home

Location: Nallakunta

Budget Split:

Kale 1×44=44
Mint leaves 8×28=224
Gongura (250gms)3×50=150
Basil 1×32=32
Romanian lettuce 4×61=244
Bokchoy 3×53=159
Fenugreek 1×27=27

Spinach 8×49=392

Onion 3×27=81

Spinach 8×49=392





Onion 3×27=81 Banana 3×36=108 Tomato (1kg)3×21=63 Cherry tomato (200gms)1×72=72 Brinjal (250gms)1×18=18 Zucchini yellow 2×82=164 Pumpkin 1×59=59 CowPea beans 2×27=54 Mushroom 8×65=520 Baby corn 4×96=384 Cucumber 4×75=300 Green capacicum 1×24=24 Yellow capcicum 10×58=580 Red&yellow bell peppers 20×52=1040 Celery 1×63=63 Bread 14×40=560 Milk 12×25=300 Pav bhaji buns 22×25=550

Total Budget = 6805/-No.of people impacted = 43

Task Date: 26-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 24

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Grace Bliss Home

Location: Sainikpuri Budget Split:

Bread 3×40=120
Red pear 1×180=180
Lettuce Ice berg (250gms) 1×126=126
Green lettuce (100gms)1×61=61
Banana stem 1×35=35
Banana kacha 3×19=57
brinjal 1×18=18
Green capcicum 2×24=48
Milk 49×25=1225
Tomatoes 13×21=273
Kale 4×44=176





Lemon grass (200gms)1×65=65

Cucumber 2×75=150

Pumpkin 2×59=118

Raddish 1×29=29

Sprouts 1×30=30

Celery 2×63=126

Basil 1×32=32

Mint leaves 1×28=28

Corainder 1×23=23

Beetroot 1×57=57

Curry leaves (50gms)1×13=13

Gongura (250gms)1×50=50

Cluster beans 1×23=23

Chukkakura 1×69=69

Beans 1×30=30

Cowpea beans 1×27=27

Snake guard (500gms)2×34=68

Bottle gourd 2×80=160

Madras cucumber 2×21=42

Pomegranate 6×121=726

Dondakaya (250gms)2×30=60

Total Budget = 4245/-

No.of people impacted = 75

Task Date: 27-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 25

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Agape Boys Home

Location:uppal Budget Split:

Amaranthus 8×40=320

Avocado 1×119=119

brinjal (250gms)1×18=18

Spinach (250gms)7×49=343

Gongura (250gms)7×50=350

Green chilli 6×24=144

Green apple 2×150=300

Bottle gourd 4×80=320





Baby corn 3×96=288 Milk 52×25=1300 Bread 4×40=160 Onion 3×27=81

Pomegranate 2×121=242

Corainder 4×23=92

Green lettuce 2×61=122

Bokchoy 1×53=53

Yam cubes 1×37=37

Mint leaves 6×28=168

Cauliflower 6×55=330

Broccoli 4×59=267

Yam portion 2×60=120

Green capsicum 6×24=144

Zucchini green 4×81=324

Celery 7×63=441

Chukkakura 7×69=483

Ridge gourd 3×29=87

Total Budget = 6653/-No.of people impacted =70

Task Date: 28-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 26

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Agape Girls Home

Location: uppal Budget Split:

Zucchini Yellow (250gms)6×82=492
Milk mist cream 1×40=40
Bread 5×40=200
Turnips 3×95=285
lettuce Ice berg (250gms)1×126=126
Banana 4×36=144
Curd 2×40=80
Leeks (100gms)3×36=108
Lemongrass (200gms)1×65=65
Celery (200gms)1×63=63
Green chilli 6×24=144





Carrot 2×100=200 Yam portion 2×60=120 Raddish 1×29=29 Red cabbage 1×108=108 Zucchini green 2×81=162 Red &yellow bell oppers 6×52=312

Total Budget = 3125/-No.of people impacted = 70

Task Date: 27-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 27

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Asha jyothi

Location: Secundrabad

Budget Split:

Pumpkin 2×59=118

Zucchini green (250gms)1×81=81

Bread 12×40=480 Turnips 1×95=95

Green lettuce 8×61=488

Celery (200gms)4×63=252

Mohini corn flour (500gms)1×35=35

Aashirvaad shudh chakki Atta (1kg)7×37=259

Ahaar super atta (5kg)3×245=735

Haldirams lite chiefs (60gms)2×10=20

Potato 2×34=68

Green chilli 1×24=24

Red peppers 1×100=109

Red cabbage 3×108=324

Kale 3×44=132

Cowpea beans 1×27=27

Kondaji namkeen makmal chiwda (500gms)7×59=665

Total Budget = 4437/-

No.of people impacted = 50





Task Date: 29-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 28

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Slum project gachibowli

Location: gachibowli

Budget Split:

Red cabbage (500gms)2×108=216 Zucchini yellow (250gms)6×126=756 Bread 20×40=800 Lettuce ice berg (250gms)3×65=195 Yam Portion (250gms)3×60=180 Milk 32×9=288 Curd 9×30=270 Banana 10×36=360 Green chilli 9×24=216 Carrot 2×100=200 Leeks 3×36=108 Lemon grass 3×65=195 Celery (250gms)5×63=325 Raddish 5×29=145 Red &yellow bell oppers 2×52=104 Pomegranate 5×121=605 Dragon fruit 1×129=129 Apples 5×102=510 Orange 5×138=690

Total Budget = 6972/-No.of people impacted = 55

Task Date: 30-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 29

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: slum LB nagar

Location: Lb nagar Budget Split:

Onion 5×27=135

Small onion2×46=92

Pomegranate 5×121=605

Broccoli 1×89=89

Milk 9×25=225

Bread 5×40=200

Bitter gourd(500gms)3×50=150

Amaranthus(250gms) 2×40=80

Turnips 2×95=190

Beans(250gms) 1×30=30

Cauliflower (400gms)30×55=165

Green lettuce 2×61=122

Green capcicum 4×24=72

Banana Stem 1×35=35

Bottle gourd 1×80=80

Cluster beans 1×23=23

Ridge Gourd (500gms)5×29=145

Apples 5×102=510

Banana 5×36=180

potato 5×34=170

Celery(200gms)1×63=63

Curd 10×40=400

Spinach (250gms)2×49=98

Green chilli 3×24=72

Cabbage 1×12=12

Yellow capsicum (250gms)5×58=290

Red peppers 5×100=500

Gongura 1×50=50

Cucumber 2×75=150

Leeks 1×36=36

Zucchini yellow (250gms)1×82=82

Kale 3×50=150

Carrot 3×100=300

Raddish 5×29=145

Lemon grass 1×65=65

Total Budget = 5649/-

No.of people impacted = 30





Task Date: 30-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 30

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Bless house

Location: Secundrabad Budget Split: uppal

Pumpkin 7×59=413 Broccoli 4×89=356 Green lettuce 8×61=488 Babycorn 3×96=288 potato 3×34=102 Lemongrass (200gms)6×65=390 Zucchini yellow (250gms)7×82=574 Zucchini green (250gms)7×81=567 Lettuce ice very 4×126=504 Cowpea beans 4×27=108 Romanian lettuce 2×61=1222 Milk 120×25=300 Snake gourd 7×34=238 Muskmelon 4×51=204 Red &yellow bell peppers 8×52=416 Spring onion (250gms)7×56=392

Total Budget = 5582/-No.of people impacted = 43

Task Date: 24-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 20

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED To: Lalana foundation





Location: Nagole Budget Split:

Chilli Bhaji(500gms) 2×70=140

Bread 4×40=160

Red&yellow bell peppers 2×52=104

Turnips 2×95=190

Zucchini yellow (250gms)4×82=328

Pumpkin 1×59=59

Sambhar onion 5×51=255

Banana 13×36=468

Snake gourd 3×34=102

Sweet tamarind 5×167=835

Milk mist cream 9×40=360

Mint leaves 10×28=280

Coriander 15×23=345

Spinach (250gms)15×23=345

Lemongrass (200gms) 3×65=195

Carrot 7×100=700

Blue Berries 1×329=329

Total Budget = 5585/-

No.of people impacted =30

Task Date: 31-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 32

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED To: Agape home 3

Location: uppal Budget Split:

Bread 2×40=80 Turnips 2×95=190 Spring onion 2×56=112 Spinach (250gms)2×49=98 Milk 15×25=375 Green chilli 2×24=48 Amaranthus (250gms)2×40=80 Cabbage 2×12=24 Yellow capsicum=4×58=232





Yam 1×60=60 Cherry tomato (200gms)5×72=360 Curry leaves (500gms)2×13=26 Raddish 3×29=87 Banana kacha 10×19=190 Licious chicken curry cuy 2×145=290

Total Budget = 2252/-No.of people impacted =70

Task Date: 31-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 33

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED To: slum project gachibowli

Location: gachibowli

Budget Split:

Bread 15×40=600 Turnips 2×95=190 Pumpkin 5×59=295 Snake gourd 6×34=204 Sweet tamarind 3×167=501 Milk 55×25=1357 Mint leaves 10×28=280 Spinach (250gms)42×49=2058 Tender coconut 2×63=126 Leeks 3×36=108 Black berry 1×463=463 Green capsicum 20×24=480 Raddish 3×29=87 Tomatoes $(1kq)3\times21=63$ Cherry tomato 5×72=360 Cabbage 6×12=72 Red cabbage(500gms)9×108=972 Baby corn 1×96=96 Tomato hybrid 2×26=52

Total Budget = 8182/-No.of people impacted =45





Task Date: 1-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 34

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Nest for oldage

Location: Madinaguda

Budget Split:

Milk 53×25=1325 Pumpkin 8×59=472 Spring onion(250gms)1×56=56 Yellow capsicum 4×58=232 Zucchini yellow (250gms)2×82=164 Green Lettuce (100gms)7×61=427 Banana stem 2×35=70 Ash Gourd Portion(250gms)2×34=68 Snake Gourd (500gms)3×34=102 Lettuce ice berg (250gms)5×126=630 Gongura (250gms) 2×50=100 Cherry tomato 8×72=576 Brinjal 4×18=72 Sprouts 4×30=120 Green capsicum 2×24=48 Red & Yellow bell oppers 2×52=104 Bitter gourd 1×80=80 Coriander 1×23=23 Fenugreek 2×27=54

Total Budget = 5078/-No.of people impacted = 30

Task Date: 1-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 35

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Cheers Foundation

Location: kukutpally Budget Split:

Milk 80×25=2000 Baby corn 2×96=192

Zucchini yellow (250gms)9×82=738 Green Lettuce (100gms)4×61=244

Banana kacha 2×19=38 Bread 35×40=1400

Red pumpkin Diced (200gms)2×26=52

Gongura (250gms) 2×50=100

Cherry tomato (200gms) 5×72=360

Yam (250gms)2×60=120

Leeks 2×36=72

Romanian Lettuce 2×61=122

Amaranthus 1×40=40 Zucchini green 4×81=324 Muskmelon 3×51=153

Yakult 6×85=510

Curd 2×40=80

Kale 2×44=88

Raddish 2×29=58

D-#1- ----- 0..00 00

Bottle guard 2×80=80

Cucumber 3×75=225

Green capsicum 1×24=24

Red &yellow bell oppers 5×52=260

Total Budget = 7381/-No.of people impacted =40

Task Date: 1-08-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 36

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: chinnari rajula illu

Location: alwal Budget Split:





Milk 15×25=375 Zucchini yellow (250gms)2×82=164 Banana stem 5×35=175 Bread 13×40=520 Yam Portion (250gms)2×60=120 Leeks (100gms)2×36=72 Zucchini green 2×81=162 Brinjal (250gms)14×18=252 Red &yellow Bell oppers 7×52=364 Raddish 1×29=29 Cowpea beans 5×27=135 Banana ha ha 1×19=19 Kale 5×44=220 Sprouts 4×30=120 Muskmelon 3×51=153 Broccoli 1×89=89 Curd 5×40=200

Total Budget = 3169/-No.of people impacted = 40

Task Date: 1-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 37

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Grace Children Home

Location: sainikpuri Budget Split:

Milk 17×25=425
Green capsicum 2×24=48
Pumpkin 3×59=177
Red cabbage (500gms)2×108=216
Spring onion(250gms)5×56=280
Banana kacha 3×35=105
Bread 1×40=40
Sambhar Onion 5×51=255
Spinach (250gms) 5×49=245
Cherry tomato (200gms) 5×72=360
Yam (250gms)2×60=120
Amaranthus 5×40=200
Muskmelon 8×51=407
Snacky peppers 1×68=68





Cabbage 4×12=48
Bitter gourd 4×50=200
Turnips 2×59=58
Bottle guard 5×80=400

Total Budget = 4023/-No.of people impacted = 51

Task Date: 31-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 31

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Ashraya Foundation

Location: kukutpally Budget Split:

Lemongrass (200gms)4×65=260
Zucchini green (250gms)6×81=486
Cowpea beans 2×27=54
Milk 9×25=225
Red &yellow bell peppers 3×52=156
Red peppers 3×100=300
Banana stem 4×35=140
Spinach 3×49=147
Gongura (250gms)8×50=400

Chilli bhajji 1×70=70

American Garden salad dressing Italian 2×250=500

Total Budget = 2738/-No.of people impacted = 35

Task Date: 2-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 38

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Mahima Ministries





Location:Madinaguda Budget Split:

Gongura (250gms)2×50=100 Green Cucumber 2×22=44 Spring onion (250gms)4×56=224 Beans 2×30=60 Red pumpkin diced (200gms) 10×26=260 Carrot 3×100=300 Zucchini Yellow 2×82=164 Romanian lettuce 2×61=122 Milk 5×25=125 Cherry tomato (200gms)10×72=720 Curry leaves(50gms)2×13=26 Leeks 2×36=72 Corainder 5×23=115 Kale 2×44=88 Ladies finger 4×29=116 Musk melon 8×51=408 Zucchini green 2×81=162 Disco pumpkin 2×71=142 Baby corn 4×96=384 Brinjal 10×18=180 Green capsicum 2×24=48

Garlic 9×57=513 Red cabbage 2×108=216 Snake gourd 4×34=136 Lemon grass 1×65=65

Yellow capsicum 2×58=116 Sambhar onion 15×51=765

Total Budget = 5671/-No.of people impacted =90

Task Date: 2-09-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 39

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Mahima Ministries Location:Madinaguda Budget split:

MILK 7 x25=175





MILK MIST FRESH CREAM 110x85.0=935

BOTTLE GUARD 5x80=400

BOKCHOY 5.0x53=265

CORIANDER 2 x23=46

ROMANIAN LETUCE 2x61=122

BEANS (250 gms) 20x30=60

GREEN CAPSICUM 5x24=120

BHARTA PURPLE BRINJAL(1500 GMS) 10x64=640

COCCINIA 4x12=48

CHILLI BHAJJI (1500 GMS) 5x70=350

BITTER GOURD (500GMS) 6x50=300

RED & YELLOW BELL PEPPERS 5x52=260

MADRAS CUCUMBER 4x21=84 SNACKY PEPPERS 2x68=136

TOMATOS(1 KG) 5x21=105

NESTLE EVERY DAY DAIRY WHITENER (400 GM)POUCH 1x185=185

GREEN LETTUCE (100 GMS) 2x61=122 SPRING ONION (250 GMS) 5x56=280

FENUGRWEK 1x27=27

RIDGE GOURD (500 GMS) 10x29=290

GARLIC 5x57=285 MUSKNELON 5x51=204

PAPAYA 2x79=158

YELLOW CAPSICUM (250 GMS) 5x58=290

CHERRY TOMATO(200 GMS) 5x72=360

SAMBHAR ONION 2x51=102

YAM CUBES 1x37=37 BROCCOLI 2x89=178

LETUCE ICE BERG (250 GMS) 2x126=252

CURD 3x40=120

BREAD 5x40=200

SALAD BOX 11x80=880

MOONG MOTH SPROUTS 4x25=100

AMUL SHIRKHAND ELAICHI 1x45=45

BRITANNIA PAV 4x25=100

WINGREENS GARLIC DIP 160 GM 1x200=200

GOAT - BIRYANI CUT 1 KGx800=800

NESTLE A+ GREKYO MANGO YOGURT 100 GM 2x30=60

NESTLE A GREKYO BLUEBERRY 11x45=495

AMUL PANEER 200 GM 5x30=150 ZUCCHINI YELLOW/250 GMS 1x82=82

Total Budget: 10048/-

Number of people impacted:40

Task Date: 02-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 40

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Agape Home 5 Location:uppal Budget split:

MILK 14 PCSx25=350 TOMATOS(1 KG) 1.0 PCSx21=21 GREEN CUCUMBER 1 PCSx22=22 SPRING ONIONI250 GMS) 10x56=560 COLOCASIA(500 GMS) 2x32=64 BEANS(250 GMS) 2x30=60 BOKCHOY 7x53=371 COCCINA 5x12=60 BRINJAL (250 GMS) 2x18=36 CHERRY TOMATO(200 GMS) 5x72=360 RIDGE GOURD(500 GMS) 2x29=58 BITTER GOURD (500GMS) 2x50=100 SALAD BOX 40x80=3200 **GREEN CAPCICUM 2x24=48** SPINACH (250 GMS) 2x49=98 AMARANTHUS(250 GMS) 2x40=80 YAM CUBES 2x37=74 PAPAYA 1x79=79 BREAD 4x40=160 CABBAGE 3x12=36 CUCUMBER 1x75=75 CARROT 1x100=100 ORANGE 1x138=138 ONION 1x27=27

Total Budget = 6177/-No of people impacted:41

Task Date :03-09-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 42

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Asha kutter





Location:uppal Budget split:

TOMATOS(1 KG) 1.0 PCSx21=21 BEANS(250 GMS) 2x30=60 BITTER GOURD (500GMS) 20x50=1000 GREEN CAPCICUM 2x24=48 SPINACH (250 GMS) 2x49=98 AMARANTHUS(250 GMS) 2x40=80 PAPAYA 2x79=158 LEEKS (100GMS)3×36=108 CHILLIBHAJJI 2×70=140 APPLES 1×102=102 APPLES 16GMS×50=800 BABY CORN 5×96=480 YAM PORTION1×60=60 CHUKKAKURRA 4×69=276 GONGURA 5×50=250 WATERMELON 2×104=208 SNAKEGOURD 1×34=34 BANANA 6×36=216

Total Budget = 4139/-No of people impacted:38

Task Date :04-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 44

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Chaitanya Ranula Illu Location:Alwal

Budget split:

MILK 20x25=500
GREEN CUCUMBER 10 PCSx22=220
SALAD BOX 3×80=240
YAM PORTION 4x60=240
BREAD 20x40=800
TURNIPS 3×95=285
COWPEA BEANS 4×27=108
MUSKMELON 10×51=510
BROCCOLI 10×89=890
GREEN LETTUCE 10×61=610
ZUCCHINI YELLOW 3×82=246





ZUCCHINI GREEN 3×81=243 PUMPKIN 6×59=354 DISCOP 5×71=355 BANANA STEM 6×35@=210

Total Budget = 6531/-No of people impacted:40

Task Date: 03-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 41

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Ashri society Location:Miyapur

Budget split:

CELERY 200 GMS) 2 PCSx63=126 CHUKKAKURA LEAVES 7x73=511 SPINACH(250 GMS) 6x49=204 BOKCHOY 8x53=424

ROMANIAN LETUCE 3.0 PCSx61=488

GREEN LETTUCE(100 GMS) 10 PCSx61=610

KALE 3.0 PCSx44=132

DISCO PUMPKIN 7.0 PCSx71=497

RED CABBAGE(500 GMS) 3 PCSx108=324

SNACKY PEPPERS 2 PCSx68=136

ZUCCHINI YELLOW/250 GMS 1 PCSx82=82

SALAD BOX 5.0 GMSx80=400

LEMON GRASS(200 GMS) 4x65=260

RED & YELLOW BELL PEPPERS 8x52=410

GREEN CAPSICUM 2.0 GMSx24=48

SAMBHAR ONION 4 PCSx51=204

GARLIC 3x57=171

BABY CORN 1 PCSx96=96 BANANA STEM 2 PCSx35=70

RADDISH 2 GMSx29=58

SNAKE GOURD500 GMS 3 PCSx34=102

ZUCCHINI GREEN (250 GMS) 3 PCSx81=243

LEBKS 100 GMS) 2 PCSx36=72

SPRING ONION250 GMS) 6 PCSx56=336

YAM CUBES 2 PCSx37=74

RED PUMPKIN DICED 200 GMS 6.0 PCS x26=156

CAULIFLOWER1400 GMS) 1 PCSx55=55

LETUCE ICEBERG (250 GMS) 1 PCSx120=120





BEETROOT 1 PCSx57=57 PUMPKIN 1 PCSx59=59

Total Budget = 6627 No of people impacted:40

Task Date :04-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 43

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Nest for oldage

Location: Madinaguda

Budget split:

CHILLI BHAJOO GMS) 2 PCSx70=140
GREEN CUCUMBER 1 PCSx22=22
ZUCCHINI GREEN (250 GMS) 2x81=162
CORIANDER 2 PCSx23=46
COWPEA BEANS2 PCSx27=54
ZUCCHINI YELLOW (250 GMS)3.0 PCSx82=246
AMARANTHUS(250 GMS)1 PCSx40=40
CELERY 200 GMS 2 PCSx63=126
MINT LEAVES 1 PCSx28=28
GREEN LETTUCE(100 GMS) 2 PCSx61=122
LETUCE ICEBERG 250 GMS 5 PCSx126=630
GONGURA (250 GMS) 1 PCSx50=50
BANANA STEM 2 PCSx35=70
RED CABBAGE (500 GMS) 50 PCSx108=540
BROCCOLI 1 PCSx89=89

ASH GOURD PORTION (250 GMS) 1x34=34 YAM PORTION (250 GMS) 2.0 PCSx60=120

PINEAPPLE 1x52=52

CHERRY TOMATO(200 GMS) 5x72=360

SAMBHAR ONION 1 PCSx51=51 BABY POTATO 1 PCSx34=34 TOMATOS(1 KG) 1 PCSx21=21

MILK21 PCSx25=525

YAM CUBES 3 PCSx37=111

RED PUMPKIN DICED (200 GMS) 5.0 PCSx26=130

GARLIC 6 PCSx57=342

MOONG MOTH SPROUTS 1 GNSx25=25

BABY CORN 3.0 PCSx96=288

YELAKKI BANANA 4.0 GMSx40=160

SALAD BOX 4.0 GMSx30=320





MUSKMELON 12 PCSx51=612

Total Budget=5550 Number of people impacted:30

Task Date :05-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 47

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Manchikalalu Organisation Location:Secundrabad Budget split:

TOMATOS(1 KG) 1.0 PCSx21=21 GREEN CUCUMBER 2 PCSx22=44 TOMATO HYBRID(200 GMS) 7x26=182 BITTER GOURD (500GMS) 8x50=40 GREEN CAPCICUM 4x24=96 BREAD 5x40=200 CABBAGE 3x12=36 WATERMELON 5×104=520 MUSKMELON 3×51=153 APPLES 4×50=200

Total Budget = 3192/-No of people impacted:40

Task Date :06-09-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 48

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Krupas children home





Location:Jeedimetla Budget split:

TOMATOS(1 KG) 5.0 PCSx21=105 RIDGE GOURD(500 GMS) 10x29=290 BOTTLE GOURD (500GMS) 2x80=160 AMARANTHUS(250 GMS) 3x40=120 PAPAYA 1x79=79 BANANA 28×36=1008 DRUMSTICK 5×21=105 **CLUSTER BEANS 2×23=46** GREEN LETTUCE 3×61=183 RED &YELLOW BELL OPPERS 3×52=156 AMARANTHUS 3×40=120 GONGURA (250GMS) 3×50=150 CAULIFLOWER 1×55=55 MUSKMELON 1×51=51 **RADDISH 1×29=29** PROMOGRANATE 6×121=726 MUSHROOM 3×65=195 CHILLI BHAJJI 10×70=700

Total Budget = 4168/-No of people impacted:45

Task Date: 06-08-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 49

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Grace Oldage home

Location: Bachupally

Budget Split:

Tomato (5KG) 5*21=105
Baby Potato (4KG) 4*34=136
Cherry Tomato (200 GMS) 20*72=1440
Milk 20*25=500
Bread 20*40=800
Curd 5*40=200
Cabbage 4*12=48
Red Cabbage (500 GMS) 4*108=432
Curry Leaves(50GMS) 32*13=416
Brinjal(250 GMS) 4*18=72
Pineapple 1*52=52
Green Capcicum 14*24=336





Papaya 1*79=79 Watermelon 1*104=104 Banana 10*36=360 Spinach(250GMS) 2*49=98 Bottle Gaurd 1*80=80 Green Cucumber 1*22=22 Muskmelon 1*51=51 Milk Mist Cream 15*170=2550

Total Budget = 7881/-No.of people impacted =50

Task Date :06-09-2021

Division Name: STREET CAUSE GOLD **Event Name: FRUITS AND VEGETABLES**

Task Number: 50

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to

their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Daily Wages Labours Location:LB nagar Budget split:

TOMATOS(1 KG) 50 PCSx21=1050 PUMPKIN 1×59=59 CUCUMBER 15x75=1125 **ZUCCHINI GREEN 3×81=243** GREEN LETTUCE 2×61=122 **ROMANIAN LETTUCE 1×61=61** ITALIAN BASIL 5×50=250 MUSHROOM 5×65=325 BABYCORN 1×96=96 LEMON 4KGS ×105=420

Total Budget = 3751/-No of people impacted:60

Task Date: 06-08-2021

Division Name: STREET CAUSE GOLD **Event Name: FRUITS AND VEGETABLES**

Task Number: 51

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

DISTRIBUTED TO: Cheers Foundation

Location: Kukatpally

Budget Split:

Birnjal(250 GMS) 11*18=198 Bottle Gaurd 10*80=180

Bitter Gaurd (500 GMS) 5*50=250

Milk 10*25=250

Tomato (1KG) 12*21=252

Cherry Tomato (200 GMS) 8*72=576 Red Cabbage(500 GMS) 3*108=324

Potato 8*34=272 Bread 10*40=400 Salad box 1*80=80 Banana Stem 3*35=105 Pumpkin 3*59=177

Papaya 6*79=474 Sambhar Onion 3*51=153

Green Capcicum 6*24=144 Orange 3*138=414

Chilli Bhajji(500 GMS) 4*70=280

Watermelon 1*104 = 104

Colocasia(500 GMS) 2*32=64 Spring Onion (250 gms) 2*56=112 Green Lettuce (100 GMS) 4*61=244

Romanian Letuce 2*61=122 Spinach (250 GMS) 4*49=196

Coriander 4*23=92 Mint leaves 4*28=112

Zucchini Green (200GMS) 6*81=486

Baby Corn 1*96=96 Yam 1*60=60

Red Pumpkin Diced (200 GMS) 1*26=26

Garlic 1*57=57

Amaranthu(250 GMS) 1*40=40 Curry Leaves(50 GMS) 1*13=13 Gongura(250 GMS) 2*50=100

Total Budget = 7073/-No.of people impacted =37

Task Date: 07-09-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 52

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Mahima Ministres Location:Madinaguda Budget split:

SALAD BOX 11×80=880
RED PUMPKIN DICED 8×26=208
BABY CORN 3×96=288
BABY CORN 3×96=288
RES CABBAGE 1×108=108
LETTUCE ICE BERG(250GMS)3×126=378
SNACKY PEPPERS 2×68=136
ZUCCHINI YELLOW 5×82=410
BOKCHOY 2×53=106
GREEN CAPCICUM 1×24=24
TOMATOS 5×21=105
CREAMY THICK CURD 14×33=462
MILK 20×25=500
BREAD 5×40=200

Total Budget = 3805/-No of people impacted:28

Task Date: 09-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 53

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Mahima Ministries Location:Madinaguda Budget split:

Nestle A + Grekyo Mango Yogurt 100 GM 15*360=450 Potato 5*18=90 Bread 20*40=800 Tomato (1KG) 10*21=210 Ariko Fresh Mushrooms 9*63=567 Cheery Tomato (200 GMS) 5*72=360 Spinach (250 GMS) 1*49=49 Amaranthu (250 GMS) 5*40=200





Banana 10*36=360 Salad Box 2*80=160 Moong Moth Sporuts 3*25=75 Spring Onion (250 GMS) 5*56=280 Raddish 5*29=145 Romanian Letuce 5*61=305 Yellow Capcicum (250 GMS) 1*58=58 Red & Yellow Bell Oeppers 4*52=208 Shevanthi Flowers 3*130=390 Green Capcicum 4*24=96 Muskmelon 5*51=255 Mint Leaves 3*28=84 Milk 15*25=375 Gongura (250 GMS) 2*50=100 Snacky Peppers 2*68=136 Birnjal (250 GMS) 4*18=72 Lemon 3*105=315 Dragon Fruit 4*129=516 Ash Gourd Portion (250 GMS) 2*34=68 Bokchoy 1*53=53

Total Budget = 6777/-No of people impacted:32

Task Date :10-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 54

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Grace Old age home Location:Bachupally Budget split:

TOMATOS(1 KG) 6.0 PCSx21=126 CHERRY TOMATO 10×72=720 YAM CUBES 3×37=111 BRINJAL 4×18=72 BABY CORN 3×96=288 GREEN CUCUMBER 5×22=1110 FRESH HYDROPHONICALLY GROWN SALAD BOX 1×128=128

Total Budget = 1555/-No of people impacted:21





Task Date :11-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 55

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: srimata oldage home

Location: Kukatpally

Budget split:

Sweet Potato 1*16=16

Marie Gold Flowers 1*118=118

Red Cabbage(500 GMS) 3*108=324

Celery (200 GMS) 1*63=63

Leeks (100 GMS) 2*36=72

Papaya 2*79=158

Muskmelon 2*51=102

Green Lettuce (100 GMS) 4*61=244

Red & Yellow Bell Oeppers 6*52=312

Raddish 1*29=29

Turnips 1*95=95

Bread 1*40=40

Bharata Purple Brinjal (500 GMS) 1*64=64

Tomato (1KG) 1*21=21

Brinjal (500 GMS) 1*18=18

Cherry Tomato (200 GMS) 3*72=216

Sweet Tamarind 1*167=167

Cabbage 2*12=24

Cocconia 3*12=36

Pumpkin 4*59=236

Baby Corn 6*96=576

Bitter Gaurd (500 GMS) 2*50=100

Chukkakura 2*69=138

Amaranthu (250 GMS) 2*40=80

Potato 1*18=18

Gongura (250 GMS) 6*50=300

Spring Onion (250 GMS) 16*56=896

Milk 21*25=525

Mint Leaves 8*28=224

Total Budget = 5212/-

No of people impacted:30

Task Date :11-09-2021

Division Name: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number: 56

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Nest for oldage

Location: Madinaguda

Budget split:

Wheat Bread 17*40=680

Brown Bread 15*45=675

Multigrain Bread 5*50=250

Britannia Pav 10*25=250

Tomato(1KG) 10*21=210

Snacky Peppers 1*68=68

Red & Yellow Bell Oeppers 1*52=52

Green Lettuce(100 GMS) 3*61=183

Celery (200 GMS) 1*63=63

Ladies Finger 1*29=29

Coccinia 3*12=36

Avocado 2*119=238

Zucchini Green (250 GMS) 1*81=81

Colocasia (500 GMS) 1*32=32

Baby Potato 1*34=34

Cheery Tomato (200 GMS) 1*72=72

Carrot 2*100=200

Red Cabbage (500 GMS) 6*108=648

Cabbage 3*12=36

Lettuce Ice Berg (250 GMS) 2*126=252

Disco Pumpkin 1*71=71

Raddish 2*29=58

Beetroot 1*57=57

Turnips 2*95=190

Garlic 1*57=57

Lemon 1*105=105

Chilli Bhajji (500GMS) 5*70=350

Green Chilli 2*24=48

Mushroom 1*65=65

Curry Leaves (50 GMS) 3*13=39

Cluster Beans 2*23=46

Gongura(250 GMS) 3*50=150

Baby Corn 1*96=96

Yam Portion (250 GMS) 1*60=60

Amaranthu (250 GMS) 2*40=80

Salad Box 2*80=160

Yam Cubes 2*37=74

Red Pumpkin (200 GMS) 3*26=78

Moong Moth Sprouts 2*25=50





Sweet Tamarind 2*167=334 Pineapple 1*52=52 Watermelon 8*104=832

Total Budget = 7141/-No of people impacted:39

Task Date: 11-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 57

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Grace oldage home Location: Jeedimetla Budget Split:

Bitter gourd 4×50=200 Curry leaves (50gms) 10×13=130 Beans (250gms) 8×30=240 Bharat purple Brinjal 2×64=128 Brinjal 8×18=144 Cauliflower 1×55=55 Cabbage 2×12=24 Sambhar cucumber 10×74=740 Carrot 2×100=200 Raddish 5×29=145 Papaya 4×29=316 Ridge gourd 4×29=116 Coccina 8gms×12=96 Tender coconut 1×63=63 Cherry tomato 5×72=360 Tomato (1kg) 1×21=21 Green capsicum 2×24=48

Total Budget = 3026/-No of people impacted:21

Task Date: 12-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 58

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Gachibowli slum

Location: Gachibowli

Budget Split:

Vegetables & fruits kit 200gms ×300=60,000

Total Budget = 60,000/-No of people impacted:51

Task Date: 12-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 59

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Naya Foundation Location: kukatpally

Budget Split:

Bitter Gourd (500GMS) 20*50=1000 Beans (250 GMS) 32*30=960 Green Cucumber 4*22=88 Fenugrwek 2*27=54 Gongura (250 GMS) 8*50=400 Coccina 5*12=60 Amaranthu (250 GMS) 4*40=160 Ridge Gourd (500 GMS) 1*29=29 Brinial (250 GMS) 5*18=90 Bottle Gourd 4*80=320 Sweet Corn 12*35=420 Tomatos (1KG) 1*21=21 Tender Cocount 7*63=441 Carrot 1*100=100 Sweet Tamarind 3*167=501 Licious Chicken Curry Cuy 4*145=580 Milk 72*25=1800

Total Budget = 7024/-No of people impacted:41





Task Date: 12-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 60

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Force for orphans

Location: Gachibowli

Budget Split:

Milk 64*25=1600 Banana 12*36=432 Green Chilli 30*24=720

Cherry Tomato (200 GMS) 1*72=72

Lemon 43*13=559

Sambhar Onion 2*51=102

Baby Corn 3*96=288

Pumpkin 1*59=59

Zucchini Yellow (250 GMS) 3*82=246 Red & Yellow Bell Oeppers 10*52=520

Brinjal (500 GMS) 1*18=18

Bharata Purple Brinjal (500 GMS) 3*64=192

Beans (250 GMS) 9*30=270 French Beans 9*23=207 Green Cucumber 1*22=22

Broccoli 2*89=178

Colocasia (500 GMS) 4*32=128

Pav Bhaji Buns 4*25=100

Sandwich Bread 2*40=80

Sandwich Premium Bread 2*35=70

Aashirvad Lal Mirchi Powder (100GMS) 5*26=130

Shevanthi Flower 15*130=1950 Marie Gold Flowers 9*118=1062 Yam Portion (250 GMS) 1*60=60

Cluster Beans 4*23=92 Leeks (100 GMS) 2*36=72

Bitter Gaurd (500 GMS) 2*50=100

Green Lettuce (100 GMS) 2*61=122 Lettuce Ice Berg (250 GMS) 2*126=252 Spring Onion (250 GMS) 1*56=56

Chukkakura Leaves 1*73=73 Celery (200 GMS) 1*63=63

Bottle Gaurd 1*80=80 Tomatos (1KG) 4*21=84

Zucchini Green (250 GMS) 2*81=162





Total Budget = 10245/-No of people impacted:46

Task Date: 13-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 63

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: susheel foundation

Location: Lingampally

Budget Split:

Milk 42*25=1050

Brinjal (500 GMS) 15*18=270

Bharata Purple Brinjal (500 GMS) 4*64=256

Tomatos (1KG) 15*21=315

Mushroom 4*65=260

Green Chilli 8*24=192

Red Cabbage (500 GMS) 2*108=216

Red Pumpkin Diced(200 GMS) 8*26=208

Mint Leaves 10*28=280

Carrot 3*100=300

Potato 2*18=36

Green Capcicum 13*24=312

Coriander 5*23=115

Garlic 4*57=228

Amaranthus(250 GMS) 5*40=200

Cabbage 9*12=108

Onion 3*27=81

Colocasia (500 GMS) 1*32=32

Raddish 2*29=58

Cucumber 1*75=75

Sweet Corn 1*35=35

Marie Gold Flowers 1*118=118

Shevanthi Flower 5*130=650

Jasmine 20*40=800

Mixed Sprouts 8*26=208

Beetroot 2*57=114

Watermelon 1*104=104

Sambhar Onion 2*51=102

NestleA+Grekyo Blueberry 1*45=45

Promegranate Shelled 1*109=109

Promegranate 2*121=242

Tinder Coconut 1*63=63

American Green Salad Dressing Italian 1*250=250





Cherry Tomato(200 GMS) 1*72=72 Banana 6*36=216

Total Budget = 7720/-No of people impacted:37

Task Date: 13-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 62

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Shiridi Sai oldage home

Location: Nizampet

Budget Split:

Milk 35×25=875 Curd 5×40=200 Bread 32×40=1280 Bitter gourd(500gms) 2×50=100 Bottle gourd 1×80=80 Tomatoes(1kg) 1×21=21 Potato 1×18=18 Carrot 1×100=100

Total Budget = 2674/-No of people impacted:21

Task Date :14-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 66

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: prashanthi oldage home Location: kukutpally Budget Split:





Mint leaves 18×28=504 Gongura 10×50=500 Tomatos 15×21=315 Cluster beans 5×23=115 Bread 10×40=400 Brinjal(250 gms) 4×18=72 Curry leaves 1×13=13 Kiwi fruit 2×95=190 Milk 72×25=1800

Total Budget = 3909/-No of people impacted:27

Task Date :14-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 68

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Dwaraka mayee seva samithi

Location: Kukatpully

Budget Split:

Aashirvaad shudh chakki atta (1kg)16×37=582
Aashirvaad Atta 24×300=7200
Milk 14×25=350
Postcard jamnagiri chwda 8×68=612
Baked pita bread crisps 9×127=1143
Lays chile lemon 11×20=220
Mushroom 2×65=130
Sprouts 4×30=120
Spinach 22×49=1078
Roasted sooji 3×41=124
Dosa &idli batter 1×65=65
24 mantra organic massor dal 500gm 8×95=760
24 mantra organic Green moong dal split
(500gm) 1×110=110
Bread 7×40=280

Total Budget = 12783/-No of people impacted:34

Task Date :14-09-2021

Division Name: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number: 70

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Vivekanandha seva sangham

Location: miyapur Budget Split:

Brittania Pav 5×25=175 Bread 8×40=320 Pumpkin 3×59=177 Banana 3×36=108 Curd 13×40=320 Milk 24×25=600 Dosa & idli batter 1×65=65 Tomatos 11×21=231 Red & yellow bell oppers 3×52=156 Red cabbage 1×108=108 Raddish 5×29=145 Garlic 3×57=171 Cabbage 1×12=12 Amaranthus 3×40=120

Total Budget = 2858/-No of people impacted:21

Task Date: 13-09-2021

Division Name: STREET CAUSE GOLD **Event Name: FRUITS AND VEGETABLES**

Task Number: 65

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: cheers foundation

Location: moosapet

Budget split:

Amaranthus 2×40=80 Mint leaves 7×28=196 Gongura 3×50=150 French Beans 5×23=115





Coccina 8×12=96 Green chilly 5×24=120 Red & yellow Bell Oppers 9×52=468 Cabbage 7×12=84 Brinjal (250gms) 9×18=162 Red cabbage (500gms) 2×108=216 Green lettuce (100gms) 7×61=427 Banana 7×36=252 Tomatoes(1kg) $7 \times 21 = 147$ Cherry tomato 7×72=504 Mushroom 5×65=325 Sprouts 5×30=150 Red pumpkin diced 7×26=182 Salad Box 3×80=240 Carrot 5×100=500 Baby corn 1×96=96 Celery (200gms) 3×63=189 Leeks (100gms) 2×36=72 Chicken 2×159=318 Potato 5×18=90

Total Budget = 5179/-No of people impacted:29

Task Date :13-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 61

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Mahima ministries

Location: madinaguda

Budget split:

Bread 15×40=600
Milk 72×25=1800
Drumstick 2×23=46
Ridge gourd(500 gms)3×29=87
Celery (200gms)3×63=189
Lemon grass (200gms)1×65=65
Bottle guard 2×80=160
Banana kacha 5×19=95
Yam cubes 2×37=74
Lemon 5×13=65
Ash gourd portion (250gms)
Pineapple 2×80=160





Dragon fruit 1×129=129 Promogrante 1×121=605 Green apple 2×150=300 Apples 2×50=100 Green capsicum 2×24=48 Sweet tamarind 3×167=501 Mushroom 2×65=130 Red&yellow bell oppers 3×52=156 Red pumpkin diced 1×26=26 Mixed sprouts 4×26=104 Salad box 2×80=240 Tender coconut 1×63=63 Cluster beans 2×23=46 French beans 2×23=46 Green chilli 2×24=48 Amaranthus 4×40=160 Romanian lettuce 2×61=122 Red globe grapes 2×168=336

Total Budget = 6427/-No of people impacted:35

Task Date :13-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 64

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Amma Nanna oldage home

Location: kukatpally

Budget split:

Milk 100×25=2500
Potato 6×34=208
Beans 2×30=60
Papaya 2×79=158
Mosambi 1×100=100
Promegranate 3×121=363
Lettuce ice berg 2×126=252
Onion 4×27=108
Green capsicum 4×24=96
Spring onion 2×156=1112
Yam portion 1×60=60
Green chilli 2×24=48

Chilli bhajji 4×70=280





Beet root 4×57=228 Bharat purple brinjal 3×64=193 Bitter gourd 3×50=150 Ladies finger 2×29=58 Cucumber 1×75=75 Cluster beans 2×23=46 Green cucumber 12×22=264 Zucchini yellow 1×82=82 Zucchini green 1×81=81 Amaranthus 2×40=80 Mint leaves 2×28=56 Gongura 8×50=400 Cowpea Beans 1×27=27 Coccina 7×12=84 Red & yellow Bell Oppers 2×52=104 Cabbage 2×12=24 Banana 8×36=288 Cherry tomato 3×72=216 Baby corn 1×96=96 Potato 6×18=108

Total Budget = 8523/-No of people impacted:35

Task Date :14-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 67

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: spreads short stay home Location: lingampally Budget split:

Sweetlime 1×35=35
Moong moth sprouts 2×25=50
Yamcubes 1×37=37
Amaranthus 1×40=40
Chukkakura leaves 1×73=73
Gongura 3×50=150
Turnips 5×95=475
French Beans 5×23=115
Brinjal kateri 1×44=4
Zucchini yellow (250gms) 2×82=164
Red & yellow Bell Oppers 6×52=312
Banana 10×36=360





Tomatoes(1kg) 1×21=21 Nagpur brinjal 4×12=48 Sweet tamarind 1×167=167 Red pumpkin diced 3×26=78 Salad Box 1×80=80 Drum stick 2×23=46 Amul paneer 200×30=600 Raddish 6×29=174 Sambhar onion 3×51=153 Potato 1×18=18 Snacky peppers 2×68=136 Yellow capcicum 1×58=58 Peri peri chicken 7×325=2275 Banana 10×36=360 Milk 60×25=1500 Promogranate 2×121=242 Apples 4×50=200 Green pear 2×150=300 Bread 1×40=40 Cauliflower 1×55=55 Cucumber 1×75=75

Total Budget = 8195/-No of people impacted:37

Task Date: 14-09-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 69

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Nest for oldage

Location: madinaguda

Budget split:

Amaranthus 1×40=40
Mint leaves 2×28=56
Gongura 2×50=100
Red & yellow Bell Oppers 3×52=156
Green lettuce (100gms) 1×61=61
Banana kacha 4×19=56
Cherry tomato 1×72=72
Mushroom 2×65=130
Red pumpkin diced 1×26=26
Salad Box 1×80=80





Baby corn 3×96=288 Milk 7×25=175 Turnips 4×95=380 Leeks (100gms) 4×36=144 Ginger 2×31=62 Broccoli 6×89=534 Kale 2×44=88 Sambhar onion 3×51=153 Nagpur brinjal 3×12=36 Potato 6×34=204 Ash gourd portion 1×34=34 Moong mouth sprouts 7×25=175 Yelakki banana 5×40=200 Nestle a plus dah 6×25=150 Britannia paw 9×25=225 Brown bread 2×45=90 Sandwich bread 1×40=40 Milk bread 4×40=160

Total Budget = 4287/-No of people impacted:25

Task Date :04-09-21

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 45

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Lb Nagar slum Location:lb nagar

Budget split:

Milk 90*25=2250
Bread 40*40=1600
Baby corn 2*96=192
Cabbage 7*12=84
Disko pumpkin 5*71=355
Muskmelon 7*51=357
Yellow capcicum 4*58=232
Green pears 2*150=300
Beetroot 6*57=342
Tomatoes 6*21=126
Garlic 10*57=570
Cherry tomatoes 5*72=360
Mixed sprouts 3*26=78
Spinach 2*49=98

Green lettuce 2*61=122





Brinjal 2*64=128

Green capcicum 6*24=144

Yam 5*60=300

Green chilli 5*24=120

Bottle guard 10*80=800

Lettuce Ice berg 2*126= 252

Spring onion 4*56=224

Yam cubes 8*37=296

Cluster beans 4*23=92

Amarantus 2*40=80

Gongura 2*50=100

Chukka kura leaves 3*73=219

Zucchini yellow 8*82=656

Tender coconut 3*63=189

Carrot 5*100=500

Red and yellow peppers 2*52=104

Baby potato 2*34=68

Banana stem 3*35=105

Snake guard 6*34=204

Fenu Greek 2*27=54

Broccoli 3*89=267

Collocasia 20*32=640

Sambhar onion 4*51=204

Onion 4*27=108

Curry leaves 4*13=52

Salad box 3*80=240

Green cucumber 5*22=110

Turnips 2*95=190

Leaks 2*36=72

Romanian lettus 2*61=122

Zucchini 4*81=334

Kale 2*44=88

Bokchoy 2*53=106

Red pumpkin dice 2*56=52

American guard and salad dressing italian 2*250=500

Total Budget: 16425/-

Number of people impacted:46

Task Date: 05-09-21

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 46

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:cheers foundation





Location: Moosapet Budget split:

CELERY 200 GMS) 2 PCSx63=126 CHUKKAKURA LEAVES 7x73=511 SPINACH(250 GMS) 6x49=204 **BOKCHOY 8x53=424** ROMANIAN LETUCE 3.0 PCSx61=488 GREEN LETTUCE(100 GMS) 10 PCSx61=610 KALE 3.0 PCSx44=132 DISCO PUMPKIN 7.0 PCSx71=497 RED CABBAGE(500 GMS) 3 PCSx108=324 SNACKY PEPPERS 2 PCSx68=136 ZUCCHINI YELLOW/250 GMS 1 PCSx82=82 SALAD BOX 5.0 GMSx80=400 LEMON GRASS(200 GMS) 4x65=260 RED & YELLOW BELL PEPPERS 8x52=410 GREEN CAPSICUM 2.0 GMSx24=48 SAMBHAR ONION 4 PCSx51=204 GARLIC 3x57=171 BABY CORN 1 PCSx96=96 BANANA STEM 2 PCSx35=70 RADDISH 2 GMSx29=58 SNAKE GOURD500 GMS 3 PCSx34=102 ZUCCHINI GREEN (250 GMS) 3 PCSx81=243 LEBKS 100 GMS) 2 PCSx36=72 SPRING ONION250 GMS) 6 PCSx56=336 YAM CUBES 2 PCSx37=74 RED PUMPKIN DICED 200 GMS 6.0 PCS x26=156 CAULIFLOWER1400 GMS) 1 PCSx55=55 LETUCE ICEBERG (250 GMS) 1 PCSx120=120

Total Budget = 6571/-No of people impacted:27

BEETROOT 1 PCSx57=57 PUMPKIN 1 PCSx59=59

Task Date :15-09-2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 72

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: sri satya sai krupa home





Location: miyapur Budget split:

Gongura 10×50=500 Curry leaves(50gms) 1×13=13 Chukkakura leaves 1×73=73 Tomatoes (1kg) 5×21=105 Lemon grass 6×65=195 Coccina 2×12=24 Lemon 1×105=105 Sweetcorn 2×35=70 Cabbage 2×12=24 Cauliflower 1×55=55 Spring onion 8×56=448 Cluster beans 1×23=23 Green chilli 1×24=24 Beans (250gms) 3×30=90 Ridge gourd(500gms) 1×29=29 Cucumber 2×75=150 Fenugreek 3×27=81 Raddish 1×29=29 Banana stem 1×35=35 Promegranate 4×121=484 Green capsicum 1×24=24 Red&yellow bell oppers 3×52=156 Sweet potato 1×16=16 Celery (200gms) 5×63=315 Bread 10×40=400 Banana 4×36=144 Orange 6×138=828

Total Budget = 4440/-No of people impacted:25

ask Date :15-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 73

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Happy old age home Location: miyapur Budget split:

Turnips 2×95=190 Mint leaves 4×28=112





Cluster beans 3×23=69
Coriander 6×23=138
Green chilli 2×24=48
Green capcicum 2×24=48
Spinach (250gms)4×49=196
Tomatoes (1kg) 1×21=21
Baby corn 1×96=96
Bread 16×40=640

Total Budget = 1558/-No of people impacted:17

Task Date :16-09-2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 78

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: spreads short stay home

Location:lingampally

Budget split:

Moong moth sprouts 1×25=25

Baby corn 1×96=96 Spring onion 3×56=168 Tomatoes (1kg) 2×21=42

French beans 1×23=23

Beans 1×30=30 Leeks 4×36=144

Green lettuce 2×61=122

Avacodo 1×119=119

Lettuce ice very(250gms)2×126=252

Turnips 1×95=95

Lemon grass 6×65=390

Red & Yellow Bell oppers 2×52=104

Curry leaves 4×13=52
Mint leaves 8×28=224
Zucchini yellow 1×82=82
Cauliflower(400gms)5×55=275
Banana 24×36=864
Bread 25×40=1000
Milk 15×25=375

Total Budget = 4482/-No of people impacted:26





Task Date :17/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 80

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Susheel Foundation

Total Budget = 10097 No of people impacted:50

Task Date :17/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 81

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Care and Love Orphanage

Total Budget = 7088 No of people impacted:46

Task Date: 18/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 82

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Mahima Ministries

Total Budget = 4024

No of people impacted:43





Task Date :17/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 83

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Horbes homes Total Budget = 8111 No of people impacted:45

Task Date :17/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 84

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:DWARAKA MAYEE SEVA SAMITHI

Total Budget = 4931 No of people impacted:45

Task Date: 17/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 85

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FALAKNUMA GIRLS HOME

Total Budget = 3343 No of people impacted:30

Task Date: 17/09/2021





Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 85

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FALAKNUMA GIRLS HOME

Total Budget = 3343 No of people impacted:30

Task Date :17/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 86

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:RAJESWARI OLDAGE HOME

Total Budget = 4580 No of people impacted:33

Task Date: 19/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 87

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:NEW LIFE FOUNDATION

Total Budget = 2418 No of people impacted:25

Task Date :19/09/2021

Division Name: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number: 88

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:CHAVADI ASHRAMAM

Total Budget = 5153 No of people impacted:25

Task Date :19/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 89

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: HAPPY OLD AGE HOME

Total Budget = 4790 No of people impacted:30

Task Date :19/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 90

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: HAPPY OLDAGE HOME

Total Budget = 5010

Task Date :19/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 91





Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:MANCHIKALALU ORPHANAGE Total Budget = 7898 No of people impacted:40

Task Date :19/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 92

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: GRACE CHILDREN HOME

Total Budget = 7999 No of people impacted:50

Task Date :20/09/2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 93

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FORCE FOR ORPHANS

Total Budget = 5140 No of people impacted:30

Task Date :20/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 94





Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SRI SATYA SAI KRUPA HOME

Total Budget = 4057 No of people impacted:25

Task Date :20/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 95

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:VIVEKANANDA SEVA SANGHAM

Total Budget = 3226 No of people impacted:25

Task Date :20/09/2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 96

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SPREDS SHORT STAY HOME

Total Budget = 7213 No of people impacted:45

Task Date :20/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 97

Task taken up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:LB NAGAR SLUM Total Budget = 5845 No of people impacted:35

Task Date :20/09/2021

Division Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 98

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:BLISS HOME Total Budget = 7722 No of people impacted:45

Task Date :21/09/2021

Division Name : STREET CAUSE GOLD Event Name : FRUITS AND VEGETABLES

Task Number: 99

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:ANURAG HUMAN SERVICES Total Budget = 6535 No of people impacted:45

Task Date :21/09/2021

Unit Name: STREET CAUSE GOLD Event Name: FRUITS AND VEGETABLES

Task Number: 100

Task taken up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SHIRIDI SAI OLDAGE HOME

Total Budget = 3092 No of people impacted:30

Task Date :21/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:101

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 9121 No of people impacted:50

Task Date :21/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 102

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:NAYASREE FOUNDATION

Total Budget = 3646 No of people impacted:25

Task Date :21/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 103





Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FALUKNAMA GIRLS HOME Total Budget = 4828 No of people impacted:30

Task Date :21/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 104

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:MANCHIKALLU ORGANIZATION

Total Budget = 9233 No of people impacted:45

Task Date :22/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 105

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FALUNAMA GIRLS HOME Total Budget = 25258

No of people impacted:75

Task Date :22/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 106

Task taken up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:AMMA NANNA OLDAGE HOME

Total Budget = 3649 No of people impacted:30

Task Date :22/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :107

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:CARE & LOVE ORPHANGE

Total Budget = 11706 No of people impacted:50

Task Date :22/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 108

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:RAMAANJANEYA CHARITABLE TRUST

Total Budget = 9642 No of people impacted:45

Task Date :23/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 109

Task taken up by - Pavan (9059501914)





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SUSHEEL FOUNDATION

Total Budget = 14648 No of people impacted:60

Task Date :23/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:110

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHERISH CHILDREN'S HOME

Total Budget = 2641 No of people impacted:25

Task Date :23/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:111

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:AASHA KUTTER FOR BLIND

Total Budget = 11898 No of people impacted:55

Task Date :23/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:112

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and





vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:DWARAKA MAYEE SEVA SAMITHI

Total Budget = 2439 No of people impacted:20

Task Date :23/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:113

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SRIMATA OLDAGE HOME

Total Budget = 7206 No of people impacted:30

Task Date :23/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 114

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHERISH CHILDREN'S HOME

Total Budget = 4739 No of people impacted:30

Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:115

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on





daily basis.
Distributed to:CHERISH CHILDREN'S HOME
Total Budget = 6407
No of people impacted:35

Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 116

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:MAHIMA MINISTERS

Total Budget = 8502 No of people impacted:40

Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 117

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SUDHEER FOUNDATION

Total Budget = 9342 No of people impacted:45

Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :118

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FRIEND'S FOUNDATION





Total Budget = 8926 No of people impacted:45

Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:119

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SRI DATHA OLD-AGE HOME

Total Budget = 6272 No of people impacted:57

Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:120

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:RAJESWARI OLD-AGE HOME

Total Budget = 5674 No of people impacted:30 Task Date :24/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :121

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:ASHREYA OLD-AGE HOME

Total Budget = 4792 No of people impacted:30





Task Date :25/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 122

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SHANTHI NILAYAM

Total Budget = 4011 No of people impacted:30

Task Date :25/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 123

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:KRISTOS ASHRAM[ALWAL]

Total Budget = 5769 No of people impacted:35

Task Date :25/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:124

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:GREAT COMMISSION MINISTERS

Total Budget = 11335

Task Date :25/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES





Task Number :125

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ORPHAN AMMAN VEDIKA

Total Budget = 4620 No of people impacted:25

Task Date :25/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:126

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:BETHEL GOSPEL CHURCH FOR GIRLS

Total Budget = 7388 No of people impacted:34

Task Date :25/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:127

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAITANYA MAHILA MANDALI

Total Budget = 22363 No of people impacted:80

Task Date :26/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 128

Task taken up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SPREADS SHORT SYTAY

Total Budget = 11793 No of people impacted:60

Task Date :26/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 129

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:NAYA FOUNDATION

Total Budget = 7537 No of people impacted:40

Task Date :26/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :130

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURAG HUMAN SERVICES

Total Budget = 5645 No of people impacted:38

Task Date :26/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 131

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:AUXILM CHURCH HOME, SECUNDRABAD SLUM

Total Budget = 44800 No of people impacted:122

Task Date :26/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 132

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: GRACE CHILDREN HOMES

Total Budget = 6384 No of people impacted:30

Task Date :26/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 133

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SREE EDUCATION SOCIETY

Total Budget = 3082 No of people impacted:30

Task Date :27/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :135

Task taken up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHINNARI RAJULA ILLU

Total Budget = 8423 No of people impacted:45

Task Date :27/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 136

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:FORCE FOR ORPHANS

Total Budget = 14021 No of people impacted:50

Task Date :27/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:137

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:NEST FOR OLDAGE

Total Budget = 2607 No of people impacted:20

Task Date :27/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 139

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEW LIFE FOUNDATION

Total Budget = 6752 No of people impacted:40

Task Date :28/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 140

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:AYUSH NILAYAM

Total Budget = 6404 No of people impacted:35

Task Date :28/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:141

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SHEEP NGO Total Budget = 7168 No of people impacted:45

Task Date :28/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :142

Task taken up by - Pavan (9059501914)





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:CARE AND LOVE ORPHANAGE Total Budget = 6453

No of people impacted:45

Task Date :28/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 143

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:PRASHANTHI OLD-AGE HOME

Total Budget = 2342 No of people impacted:30

Task Date :28/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 144

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:CAP'S BOWL ORGANISATION

Total Budget = 5083 No of people impacted:45

Task Date :28/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 145

Task taken up by - Pavan (9059501914)





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:HOREB HOMES Total Budget = 3152 No of people impacted:25

Task Date :29/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 146

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 5221 No of people impacted:40

Task Date :29/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 147

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:AMMA NANA OLDAGE HOME

Total Budget = 4250 No of people impacted:27

Task Date :29/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 148

Task taken up by - Pavan (9059501914)





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SRI MARUTHI OLD-AGE HOME

Total Budget = 12865 No of people impacted:78

Task Date :29/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 149

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:ADARSHA FOUNDATION

Total Budget = 5346 No of people impacted:35

Task Date: 30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 150

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: GRACE OLGAGE HOME

Total Budget = 4536 No of people impacted:29

Task Date: 30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:151

Task taken up by - Pavan (9059501914)





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:CHERISH CHILDREN'S HOME

Total Budget = 9174 No of people impacted:54

Task Date :30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:152

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SPREDS SHORT STAY

Total Budget = 12318 No of people impacted:76

Task Date :30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 153

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHINNARI RANULA ILLU

Total Budget = 8189 No of people impacted:54

Task Date :30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 154

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to

their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and





vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis

Distributed to:SRIMATHA OLDAGE HOME

Total Budget = 4532 No of people impacted:26

Task Date :30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 155

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: VIVEKANANDA SEVA BHARATI

Total Budget = 2091 No of people impacted:23

Task Date: 30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 156

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Padmarao Nagar slum

Total Budget = 9724 No of people impacted:23

Task Date :30/09/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :155

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.





Distributed to: Amaal Basthi Total Budget =28800 No of people impacted:45

Task Date :1/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 158

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Ashri Society Total Budget = 1794 No of people impacted:20

Task Date :1/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 159

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:VIVEKANANDA SEVA BHARATI

Total Budget = 14097 No of people impacted:25

Task Date :2/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:160

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Sarah's Home





Total Budget = 2486 No of people impacted:23

Task Date :2/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:161

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: VIVEKANANDA SEVA BHARATI

Total Budget = 1575 No of people impacted:23

Task Date :2/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :162

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SRI SATYA SAI KRUPA OLD-AGE HOME

Total Budget = 2673 No of people impacted:25

Task Date :2/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :163

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.





Distributed to: Mahima Ministries

Total Budget = 10510 No of people impacted:23

Task Date :2/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :163

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Daily wages labour, LB Nagar

Total Budget = 32000 No of people impacted: 400

Task Date :2/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 165

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Vaddera Basthi

Total Budget = 5000 No of people impacted:50

Task Date :3/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 166

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Vaddera Basthi Total Budget = 35000

No of people impacted:50





Task Date :3/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number :167

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:Sri datha old age home

Total Budget = 1953 No of people impacted:30

Task Date :03/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 168

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAITANYA MAHILA MANDALI

Total Budget = 6047 No of people impacted:35

Task Date :04/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 169

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FORCE FOR ORPHANS

Total Budget = 6334 No of people impacted: 40





Task Date :03/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 170

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA NANA OLD-AGE HOME

Total Budget = 9195

No of people impacted: 34

Task Date :04/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 171

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FORCE FOR ORPHANS

Total Budget = 6334

Task Date: 04/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 172

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: GREAT COMMISSION MINISTERS

Total Budget = 4894 No of people impacted: 35





Task Date :04/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 173

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAJESHWARI OLD-AGE HOME

Total Budget = 6762

No of people impacted: 40

Task Date :04/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 174

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CARE &LOVE ORPHANAGE

Total Budget = 5706 No of people impacted: 40

Task Date: 04/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 175

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: PRASHANTHI OLD-AGE HOME

Total Budget = 5155

No of people impacted: 35





Task Date :05/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 176

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ARUN RAINBOW HOMES

Total Budget = 8395

No of people impacted: 45

Task Date :05/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 177

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEST FOR OLDAGE HOME

Total Budget = 9275 People Impacted: 40

Task Date: 05/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 178

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ARUNAPRIYA OLD-AGE HOME

Total Budget = 8814 No of people impacted: 45

Task Date :05/10/2021

Unit: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number: 179

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHANTHI NILAYAM

Total Budget = 9442 No of people impacted: 45

Task Date :06/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 180

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 26192 No of people impacted: 45

Task Date: 03/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 181

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SREE EDUCATION SOCIETY

Total Budget = 9731

Task Date :06/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES





Task Number :182

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Sheep NGO Total Budget = 10515 No of people impacted: 45

Task Date :06/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 183

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Arun Rainbow Homes

Total Budget = 7835 No of people impacted: 35

Task Date :06/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 184

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Spreads short stay home

Total Budget = 10842 No of people impacted: 45

Task Date :06/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 185





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Happy old age home

Total Budget = 12453 No of people impacted: 50

Task Date :06/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 186

Task taken up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Srimata Old age Home

Total Budget = 2167 No of people impacted: 36

Task Date:07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:187

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: New Life Foundation

Total Budget = 4985 No of people impacted: 45

Task Date: 07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 188





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Vivekananda Seva Bharthi

Total Budget = 5619 No of people impacted: 40

Task Date: 07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 189

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Shirdi Sai Old Age Homes

Total Budget = 11661 No of people impacted: 40

Task Date:07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 190

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Horeb Homes

Total Budget = 9592 No of people impacted: 50

Task Date:07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:191

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Sudheer Foundation

Total Budget = 6604 No of people impacted: 37

Task Date:07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 192

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Ayush Nilayam

Total Budget = 8721 No of people impacted: 41

Task Date: 08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:193

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Anurag Old Age Home

Total Budget = 2826 No of people impacted: 30

Task Date:07/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:194





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: Sri Satya Krupa Old Age Home

Total Budget = 2901 No of people impacted: 32

Task Date:07/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 195

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: srimata oldage home

Total Budget = 3997 No of people impacted: 37

Task Date: 08/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 196

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAJESHWARI OLDAGE HOME

Total Budget = 8002 No of people impacted: 35

Task Date:08/11/2021 Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES





Task Number: 197

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SUSHEEL FOUNDATION

Total Budget = 8883 No of people impacted: 40

Task Date: 08/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 198

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHALOM FOUNDATION

Total Budget = 22672 No of people impacted: 38

Task Date:14\11\2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 199

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA OLADE HOME

Total Budget = 5910 No of people impacted: 26

Task Date: 15/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:200





Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA NANA OLDAGE AND ORPHANS

Total Budget = 7596

No of people impacted: 42

Task Date: 15/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:201

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHERISH HOME FOR GIRLS

Total Budget = 1820 No of people impacted: 30

Task Date: 18/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:202

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAJESHWARI OLDAGE HOME

Total Budget = 1846 No of people impacted: 36

Task Date: 19/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:203





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAVADI ASHRAMAM

Total Budget = 9497 No of people impacted: 26

Task Date: 19/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:204

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 2159

No of people impacted: 25

Task Date:20/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 205

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MAHIMA MINISTRIES

Total Budget = 2497 No of people impacted: 43

Task Date:21/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:206





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SPREAD SHORT STAY HOME

Total Budget = 4106 No of people impacted: 40

Task Date:23/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:207

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 4106

No of people impacted: 25

Task Date:23/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:208

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEST FOR OLDAGE HOME

Total Budget = 14418 No of people impacted: 28

Task Date:24/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 209

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: HOREB HOMES

Total Budget = 8250 No of people impacted: 40

Task Date: 16/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:210

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHIRIDI SAI OLDAGE HOME

Total Budget = 10436 No of people impacted: 35

Task Date:07/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:211

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 4870 No of people impacted: 40

Task Date:07/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:212

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SPREADS SHORT STAY

Total Budget = 8741 No of people impacted: 35

Task Date:07/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:213

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SPREADS SHORT STAY
Total Budget = SRI DATTA OLDAGE HOME

No of people impacted: 25

Task Date: 10/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:214

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIMATA FOUNDATION

Total Budget = 3893 No of people impacted: 25

Task Date:10/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:215

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAVADI CHILD WELFARE SOCIETY

Total Budget = 3255 No of people impacted: 28

Task Date: 10/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:216

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAITANYA MAHILA MANDALI

Total Budget = 2742 No of people impacted: 40

Task Date: 10/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:217

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: HOREB HOMES

Total Budget = 6333 No of people impacted: 35

Task Date: 11/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:218

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 3807 No of people impacted: 35

Task Date: 11/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:219

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FORCE FOR ORPHANS

Total Budget = 5105 No of people impacted: 40

Task Date:12/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:220

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 1891 No of people impacted: 28

Task Date: 12/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:221





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 3330 No of people impacted: 38

Task Date: 12/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:222

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEST FOR OLDAGE

Total Budget = 3163 No of people impacted: 25

Task Date: 13/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:223

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget = 4263 No of people impacted: 30

Task Date: 13/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:224





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MAHIMA MINISTRIES

Total Budget = 2141 No of people impacted: 40

Task Date: 13/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:225

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHANTI NILAYAM

Total Budget = 7891

No of people impacted: 32

Task Date: 14/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:226

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SPREAD SHORT STAY

Total Budget = 9800 No of people impacted: 28

Task Date:20/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:227





Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA OLDAGE HOME

Total Budget = 5463 No of people impacted: 28

Task Date: 18/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:228

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SUSHEEL FOUNDATION

Total Budget = 22031 No of people impacted: 30

Task Date: 15/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:229

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI MATA Total Budget = 4849 No of people impacted: 33

Task Date:24/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:230





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIMATHA OLDAGE HOME

Total Budget = 1708 No of people impacted: 24

Task Date: 25/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:231

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget = 8612

No of people impacted: 30

Task Date: 25/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:232

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:RATNA OLDAGE HOME

Total Budget = 4651 No of people impacted: 30

Task Date: 26/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:233





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 2352

No of people impacted: 28

Task Date:27/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:234

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA OLD AGE HOME

Total Budget = 2693 No of people impacted: 28

Task Date:27/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:235

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget = 7902 No of people impacted: 33

Task Date:28/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:236

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA OLD AGE HOME

Total Budget = 2553 No of people impacted: 26

Task Date: 28/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:237

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 1698 No of people impacted: 20

Task Date:03/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:238

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget = 4611 No of people impacted: 28

Task Date:04/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:239

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHANTHI NILAYAM

Total Budget = 4611

No of people impacted: 32

Task Date:06/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:240

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHALOM OLDAGE GOME

Total Budget = 10641 No of people impacted: 28

Task Date: 08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:241

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: BLISS HOME

Total Budget = 12621 No of people impacted: 40

Task Date: 08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:242

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.





Distributed to: SECUNDRABAD SLUM(PADMARAO NAGAR)

Total Budget = 8129 No of people impacted: 35

Task Date: 08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:243

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SUSHEEL FOUNDATION

Total Budget = 10709 No of people impacted: 26 Task Date:08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:244

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: DWARKA MAAYE SEVA SAMITHI

Total Budget = 4692 No of people impacted: 18

Task Date:08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:245

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:PRIYA OLDAGE HOME

Total Budget = 4019 No of people impacted: 29





Task Date: 08/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:246

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AYUSH NILAYAM

Total Budget = 9135 No of people impacted: 34

Task Date: 09/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:247

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: VADDERA SLUM SECUNDRABAD

Total Budget = 15000 No of people impacted: 50

Task Date: 09/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:248

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SECUNDRABAD SLUM

Total Budget = 3500 No of people impacted: 35





Task Date: 09/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:249

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI MATA OLDAGE

Total Budget = 4211

No of people impacted: 25

Task Date: 09/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:250

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MAHIMA MINISTRIES

Total Budget = 13582 No of people impacted: 50

Task Date: 09/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:251

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RATNA OLDAGE HOME

Total Budget = 7844 No of people impacted: 27

Task Date:10/10/2021

Unit: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number:252

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FRIENDS FOUNDATION

Total Budget = 16883 No of people impacted: 45

Task Date: 10/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:253

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SECUNDRABAD SLUM

Total Budget = 2000 No of people impacted: 20

Task Date: 10/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:254

Task took by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ASHA KUTEER

Total Budget = 15229 No of people impacted: 27

Task Date: 10/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES





Task Number:255
Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 1280 No of people impacted: 20

Task Date:11/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:256

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAITANYA MAHILA MANDALI

Total Budget = 9309 No of people impacted: 20

Task Date: 11/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:257

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FORCE FOR ORPHANS

Total Budget = 12586 No of people impacted: 20

Task Date:20/11/2021

Unit: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number:258

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOME

Total Budget = 10806 No of people impacted: 25

Task Date: 20/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:259

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:AMMA OLDAGE HOME

Total Budget = 10806 No of people impacted: 26

Task Date:22/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:260

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA OLDAGE HOME

Total Budget = 59021 No of people impacted: 35 Task Date:21/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:261

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SHALLOW OLDAGE HOME

Total Budget = 11466 No of people impacted: 25

Task Date: 18/11/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:262

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:SUSHEEL FOUNDATION

Total Budget = 22031 No of people impacted: 23

Task Date:9/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:263

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MAHIMA MINISTRIES

Total Budget = 13582 No of people impacted: 45

Task Date:11/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 264

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ASHRI SOCIETY

Total Budget = 2040 No of people impacted: 37

Task Date: 20/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:265

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI MATA OID AGE HOME

Total Budget = 17503 No of people impacted: 26

Task Date: 18/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 266

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SUDHEER FOUNDATION

Total Budget = 15929 No of people impacted: 33

Task Date:20/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:267

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and





vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION

Total Budget = 29967 No of people impacted: 38

Task Date:20/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number: 268

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHANTI NILAYAM

Total Budget = 14714 No of people impacted: 34

Task Date: 19/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:269

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:MAHIMA MINISTRIES

Total Budget = 10589 No of people impacted: 45

Task Date: 19/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:270

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and





vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: LIGHTS FOR LIFES

Total Budget = 17493 No of people impacted: 43

Task Date: 20/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:271

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CARE AND LOVE

Total Budget = 19803 No of people impacted: 36

Task Date:21/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:272

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: BLISS HOME

Total Budget = 15402 No of people impacted: 29

Task Date:21/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:273

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.





Distributed to: ANURAG CHILDREN HOME

Total Budget = 3939 No of people impacted: 24

Task Date:21/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:274

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHINNARI RAJULA ILLU

Total Budget = 8276 No of people impacted: 25

Task Date:21/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:275

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SUSHEEL FOUNDATION

Total Budget = 11463 No of people impacted: 30

Task Date:21/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:276

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ASHRI SOCIETY

Total Budget = 5092

No of people impacted: 37





Task Date:22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:277

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: VIVEKANANDA SEVA SANGHAM

Total Budget = 16010 No of people impacted: 35

Task Date: 22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:278

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA OLDAGE HOME

Total Budget = 7891 No of people impacted: 28

Task Date:22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:279

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIMATA OLDAGE HOME

Total Budget = 10650 No of people impacted: 34





Task Date: 22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:280

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI MATRUSRI

Total Budget = 10806 No of people impacted: 25

Task Date:22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:281

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA NANA OLDAGE AND ORPHANS

Total Budget = 9309 No of people impacted: 22

Task Date:24/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:282

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SPREADS SHORT STAY

Total Budget = 4533 No of people impacted: 31

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES





Task Number:283
Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAVADI ASHRAM

Total Budget = 10762 No of people impacted: 25

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:284

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MAHIMA MINISTRIES

Total Budget = 19486 No of people impacted: 45

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:285

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA NANA OLDAGE HOME

Total Budget = 1911

No of people impacted: 22

Task Date:25/10/2021 Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:286





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FRIENDS FOUNDATION

Total Budget = 15590 No of people impacted: 43

Task Date: 20/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:287

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: GREAT COMMISSION MINISTRIES

Total Budget = 15406 No of people impacted: 45

Task Date: 12/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:288

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ABHITHA FOUNDATION

Total Budget = 10573 No of people impacted: 25

Task Date: 12/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:289

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FALUKNAMA GIRLSHOME

Total Budget = 11602 No of people impacted: 20

Task Date:23/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:290

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAJESHWARI OLDAGE HOME

Total Budget = 6309 No of people impacted: 25

Task Date:23/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:291

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AYUSH ORPHANAGE

Total Budget = 13019 No of people impacted: 26

Task Date:23/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:292

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and





vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis

Distributed to: SPREADS SHORT STAY

Total Budget =6193 No of people impacted: 25

Task Date:23/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:293

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI EDUCATION SOCIETY

Total Budget = 3525 No of people impacted: 29

Task Date:22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:294

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: FUTURE FOUNDATION

Total Budget = 9399 No of people impacted: 30

Task Date:20/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:295

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.





Distributed to: SECUNDRABAD SLUM

Total Budget = 5000 No of people impacted: 32

Task Date:21/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:296

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget = 7452

No of people impacted: 26

Task Date:12/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:297

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAJESHWARI OLDAGE HOME

Total Budget = 10331 No of people impacted: 26

Task Date: 12/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:298

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CARE AND LOVE ORPHANAGE





Total Budget = 11481 No of people impacted: 30

Task Date: 12/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:299

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ARUNAPRIYA OLDAGE HOME

Total Budget = 7484 No of people impacted: 20

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:300

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEW LIFE FOUNDATION

Total Budget = 5460 No of people impacted: 30

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:301

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MANYATHA OLDAGE HOME

Total Budget = 6614 No of people impacted: 28





Task Date: 18/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:302

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RATNA OLDAGE HOME

Total Budget = 8942 No of people impacted: 26

Task Date: 19/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:303

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEW LIFE Total Budget = 3939
No of people impacted: 23

Task Date: 19/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:304

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAINBOW HOMES

Total Budget = 6541

No of people impacted: 28





Task Date: 19/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:306

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ABHITHA FOUNDATION

Total Budget = 8292 No of people impacted: 25

Task Date: 13/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:307

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI EDUCATION SOCIETY

Total Budget = 7460 No of people impacted: 27

Task Date: 13/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:308

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI MATHA OLDAGE

Total Budget = 4849 No of people impacted: 30

Task Date:10/10/2021

Unit: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number:309

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRI DATTA OLD AGE HOME

Total Budget = 8997 No of people impacted: 30

Task Date: 11/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:310

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHALLOW OLD AGE HOME

Total Budget = 13268 No of people impacted: 28

Task Date: 13/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:311

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIMATHS OLD AGE HOME

Total Budget = 9554

Task Date: 15/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:312

Task took up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CAP BOWLS

Total Budget =8189

No of people impacted: 25

Task Date:16/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:313

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ASHRI SOCIETY

Total Budget =10490 No of people impacted: 29

Task Date: 19/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:314

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: BETHEL GOSPEL FOR GIRLS

Total Budget =10222 No of people impacted: 25

Task Date: 22/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:315

Task took up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ASHRI SOCIETY

Total Budget =2699

No of people impacted: 26

Task Date:23/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:316

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHALLOW OLD AGE HOME

Total Budget =9461

No of people impacted: 29

Task Date:23/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:317

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CAP BOWL ORGANISATION

Total Budget =7328

No of people impacted: 29

Task Date:24/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:318

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to





their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHAVADI ASHRAM

Total Budget =3826

No of people impacted: 25 Task Date:24/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:319

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAINBOW GIRLS HOME

Total Budget =6415

No of people impacted: 28

Task Date: 24/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:320

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to:PRAKASH ORPHANAGE

Total Budget =9140

No of people impacted: 25

Task Date:24/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:321

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.





Distributed to:PRASHANTHI OLDAGE HOME

Total Budget =503

No of people impacted: 23

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:322

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CAP BOWL Total Budget =20268
No of people impacted: 24

Task Date:01/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:323

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA OLDAGE HOME

Total Budget =2576

No of people impacted: 25

Task Date:01/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:324

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHEERS FOUNDATION





Total Budget =2295 No of people impacted: 26

Task Date: 03/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:325

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget =5070

No of people impacted: 27

Task Date:04/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:326

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: VIJAY RANI HOMES

Total Budget =9486

No of people impacted: 27

Task Date:04/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:327

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHALLOW OLDAGE HOME

Total Budget =14156 No of people impacted: 27





Task Date: 05/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:328

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget =3335

No of people impacted: 29

Task Date: 05/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:329

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AMMA NANNA OLDAGE HOME

Total Budget =2295

No of people impacted: 29

Task Date:07/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:330

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RATNA OLDAGE HOME

Total Budget =22031 No of people impacted: 28





Task Date:07/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:331

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHIRIDI SAI HOMES

Total Budget =10806 No of people impacted: 26

Task Date: 09/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:332

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget =16212 No of people impacted: 27

Task Date: 11/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:333

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: NEW LIFE FOUNDATION

Total Budget =6267

No of people impacted: 25

Task Date:12/12/2021

Unit: STREET CAUSE GOLD





Event Name: FRUITS AND VEGETABLES

Task Number:334

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHEEP NGO

Total Budget =3335 No of people impacted: 27

Task Date: 12/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:335

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA SAI OLDAGE HOME

Total Budget =2576

No of people impacted: 25

Task Date: 13/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:336

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIRIDI SAI OLDAGE HOME

Total Budget =2650 No of people impacted: 24

Task Date: 13/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:337

Task took up by - Pavan (9059501914)





Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RAJESHWARI OLDAGE HOME

Total Budget =5463

No of people impacted: 28

Task Date: 16/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:338

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SRIDATTA OLDAGE HOMES

Total Budget =1608

No of people impacted: 23

ask Date: 17/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:339

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: MAHIMA MINISTRIES

Total Budget =1686

No of people impacted: 25

Task Date: 17/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:340

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious





food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget =8109

No of people impacted: 26

Task Date: 18/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:341

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: CHERISH CHIDREN HOMES

Total Budget =432

No of people impacted: 26

Task Date:22/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:342

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: RATNA OLDAGE HOMES

Total Budget =3677 No of people impacted: 27

Task Date:23/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:343

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOMES

Total Budget =19086 No of people impacted: 26

Task Date: 25/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:344

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHIRIDI SAI OLDAGE HOME

Total Budget =13515 No of people impacted: 24

Task Date: 29/12/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:345

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: SHALLOW OLDAGE HOME

Total Budget =4849

No of people impacted: 27

Task Date:06/01/2022

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:346

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis





To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOME

Total Budget =15183 No of people impacted: 24

Task Date:12/01/2022

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:347

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOME

Total Budget =11651 No of people impacted: 24

Task Date:20/01/2022

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:348

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOME

Total Budget =13605 No of people impacted: 24

Task Date:27/01/2022

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:349

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on





daily basis.

Distributed to: ANURADHA HOME

Total Budget =37144 No of people impacted: 24

Task Date:03/02/2022

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:350

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: ANURADHA HOME

Total Budget =14156 No of people impacted: 24

Task Date:03/02/2022

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:351

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: AASHRI SOCIETY

Total Budget =2650

No of people impacted: 25

Task Date:26/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:352

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on





daily basis.

Distributed to: SRIKANTH CO-EDUCATION

Total Budget = 9846 No of people impacted: 29

Task Date:27/10/2021

Unit: STREET CAUSE GOLD

Event Name: FRUITS AND VEGETABLES

Task Number:353

Task took up by - Pavan (9059501914)

Event Summary: Food is a basic necessity for every individual, especially having nutritious food considering the Covid situation created a difficult situation for the underprivileged due to their financial crisis

To help them, we at Street Cause Gold have taken up an initiative to distribute fruits and vegetables in & around Hyderabad in various slum areas, Oldage homes & Orphanages on daily basis.

Distributed to: BLISS HOME

Total Budget = 17503 No of people impacted: 24

PAW

Task Date: 01/07/2021, 11:00 AM IST

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 01
Animal: Kitten (Cat)
Age: 20 days old

Color: White and Brown

Place of rescue: Narayanaguda, Hyderabad

Shelter Name: PFA, Hyderabad.

Task taken up by: B. Kranthi Kalyan Reddy and Bharath Chandra

Task Summary:

One of the residents at Narayanaguda has reported to find a motherless and

a

weak kitten. He has reached out to Street Cause PAW for help and one of the members has immediately attended the kitten. The kitten was taken to a veterinarian for a general check-up,

after which, it was moved to a foster. However, the condition of the kitten got critical and was

immediately moved to PFA at which its recovery is taken care of. Street Cause PAW appreciates

L. Pavan for reporting the kitten, and thanks Meghana Gogte for fostering the kitten.

Total Amount spent: Rs. 290/-





Task Dates: 08/07/2021 and 09/07/2021

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 02

Location: Shastri Nagar, Musheerabad

Task taken up by: Rohit Chilakala, Gayatri Vatsavai, Prachi Shah

Task Summary:

N.Sriya, a resident at Shastri Nagar, Musheerabad has reached out to

Street

Cause PAW informing us about the 6 young and tender puppies of about 2 months each, that were in sheer need of vaccination.

Consequently, the puppies were dewormed and rabies

vaccinated at PVNR Veterinary Hospital. Later, one of our coordinators even briefed about

"puppy care", prior to reinstating them at the apartment.

Total Amount spent: Rs.295 /-

Total no. of animals impacted: 6 Puppies

Task Date: 16/07/2021, 14:45 IST Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 04
Animal: Cat (Kitten)
Age: 1 ½ Month Old

Place of adoption: Raintree Park Malaysian Township, KPHB

Task taken up by: Manognya Bharadwaj, Aravind

Task Summary:

The parent of a one and half month old kitten wanted to find a new permanent home as the parent had a lot of cats and was finding it hectic to manage. Street Cause PAW was able to find a home for the kitten. The kitten was adopted by Ashitha Elizabeth Thomas. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the kitten's health and its safety until the confidence on the adopter is gained.

Total amount spent: Rs. 0/-





Task Dates: 16/07/2021 and 20/07/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 05

Animal: Dog
Age: 3 Years
Color: Black

Place of rescue: Vidya Nagar, Hyderabad

Task taken up by: K. Manognya Bharadwaj and Aravind Kumar

Task Summary:

An abandoned dog was reported in the neighbourhood of Vidya Nagar. It seemed weak and traces of skin infection were evidently tangible. Street Cause PAW has henceforth taken it to the veterinarian in the nearest vicinity wherein it was given basic medication and was also diagnosed with anxiety and depression. Subsequently, it was fostered. Street Cause PAW appreciates D.Sindhuja for being of great assistance in the process of medicating the dog and Avinash Neelakanti for fostering it with utmost diligence.

Total Amount spent: Rs. 1770/-

Task Date: 23/07/2021, 14:15 IST Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 06

Animal: Dog

Age: 2.5 to 3 Years

Place of adoption: Vidya Nagar

Task taken up by: Manognya Bharadway and Aravind Kumar

Task Summary:

The dog that was duly medicated and fostered earlier (refer to task no.05) has been adopted by Shiva. He has signed the adoption form and has been briefed on the laws of India with respect to the safety of animals. Street Cause PAW shall follow up on the dog's health and its safety until the confidence on the adopter is gained.





Total Amount spent: Rs. 0/-

Task Dates: 19/07/2021

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 07

Location: Shastri Nagar, Musheerabad **Task taken up by:** Manognya Bharadwaj

Task Summary:

Pavan, a resident of DD Colony has reached out to Street Cause PAW informing us about an abandoned puppy that was slightly precarious and needed vigilance. Consequently, it was taken to Trusty Vet Multispeciality Pet Hospital wherein it was diagnosed with malnutrition and skin infection, and thus medicated accordingly. Street Cause PAW appreciates Akshaya for being of great assistance in the process of medicating the puppy and for fostering it with utmost diligence.

Total Amount spent: Rs.8,015 /-





Task Dates: 19/07/2021

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 07

Location: Shastri Nagar, Musheerabad **Task taken up by:** Manognya Bharadwaj

Task Summary:

Pavan, a resident of DD Colony has reached out to Street Cause PAW informing us about an abandoned puppy that was slightly precarious and needed vigilance. Consequently, it was taken to Trusty Vet Multispeciality Pet Hospital wherein it was diagnosed with malnutrition and skin infection, and thus medicated accordingly. Street Cause PAW appreciates Akshaya for being of great assistance in the process of medicating the puppy and for fostering it with utmost diligence.

Total Amount spent: Rs.8,015 /-

Task Date: 28/07/2021, 20:00 IST Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 08
Animal: Puppy (Dog)
Age: 45 Days old

Place of adoption: Ram Nagar

Task taken up by: Manognya Bharadway and Aravind Kumar

Task Summary:

The parent of a newborn puppy had to find a new permanent home due to personal reasons and hence contacted Street Cause PAW. Street Cause PAW was able to find a loving home for the puppy. The puppy was adopted by Jangiti Shashidhar. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals. Street Cause PAW shall follow up on the dog's health and its safety until the confidence on the adopter is gained.





Total Amount spent: Rs. 0/-

Task Date: 28/07/2021, 18:00 IST Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 09
Animal: Puppy(Dog)
Age: 4 Months old

Place of adoption: Vidya Nagar

Task taken up by: Manognya Bharadway

Task Summary:

The puppy that was duly medicated and fostered earlier (refer to task no.07) has been adopted by Akshaya. She has signed the adoption form and has been briefed on the laws of India with respect to the safety of animals. Street Cause PAW shall follow up on the dog's health and its safety until the confidence on the adopter is gained.

Total Amount spent: Rs. 0/-

Task Date: 30/07/2021, 13:20 IST

Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 10
Animal: Puppy(Dog)
Age: 45 Days old

Place of adoption: Vidya Nagar

Task taken up by: Manognya Bharadwaj

Task Summary:

The parent of a newborn puppy had to find a permanent home due to personal circumstances and hence contacted Street Cause PAW. Street Cause PAW was able to find an affectionate home for the puppy. The puppy was adopted by J. Jagadeesh. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals. Street Cause PAW shall follow up on the dog's health and its safety until the confidence on the adopter is gained.





Total Amount spent: Rs. 0/-

Task Date: 31/07/2021, 20:30 IST Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 11
Animal: Puppy (Dog)
Age: 7-8 Months old

Color: White and Brown

Place of rescue: Film Nagar, Hyderabad

Shelter Name: PFA, Hyderabad

Task taken up by: Rohit Chilakala, D. Rohit and S. Venkatadri Babu

Task Summary:

One of the residents of Film Nagar has reported a puppy that was severely injured, with a brutally broken neck. He has reached out to Street Cause PAW for help and our coordinators have promptly attended the puppy. The puppy was taken to the nearest veterinarian in the vicinity, wherein the requisite treatment was given. Later, the puppy was moved to PFA shelter home at which its recovery is taken care of.

Total Amount spent: 1300/-

Task Dates: 16/07/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 12

Animal: Dog Age: 3 Years Color: Black

Place of rescue: Vidya Nagar, Hyderabad

Task taken up by: K. Manognya Bharadwaj

Task Summary:

An abandoned dog was reported in the neighbourhood of Vidya Nagar. It seemed weak and traces of skin infection were evidently tangible. Street Cause PAW has henceforth taken it to the veterinarian in the nearest vicinity wherein it was given basic medication and was also diagnosed with anxiety and depression. Currently, it is sheltered at





the apartment it was rescued from and is in sheer need of a foster home. Street Cause PAW appreciates D. Sindhuja for being of great assistance in the process and also for grooming the dog.

Total Amount spent: Rs. 590/-

Task Date: 04/08/2021, 23:57 IST Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 13

Animal: Dog Age: 1-2 Years

Color: White and Brown **Place of rescue:** Miyapur

Task taken up by: Sai Krishna and Shreyas Reddy

Task Summary:

One of the residents of Miyapur has reported a dog that was struggling as its head was unfortunately stuck in a plastic water tin. He has reached out to Street Cause PAW for help and our coordinators without any delay, very cautiously attended the dog with the necessary equipment in order to help it. The dog was very cooperative and hence it was set free without any hassle. Street Cause PAW appreciates Ruchitha for reporting the dog and bringing it to our notice.

Total Amount spent: 0/-

Task Date: 04/08/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 14

Animal: Dog Age: 3 Years

Color: Brown and White

Place of rescue: Kavadiguda

Task taken up by: Javleen

Task Summary:

An abandoned dog was reported in the neighbourhood of Kavadiguda. It





seemed weak and was suffering from an injury. Street Cause PAW has henceforth taken it to the veterinarian in the nearest vicinity wherein it was given the necessary medication. Currently, it is recovering and is taken care of by its owner. Street Cause PAW appreciates Anjali for reporting the dog.

Total Amount spent: Rs. 1120/-

Task Date: 06/08/2021,

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 15

Animal: Dog Age: 3 Years

Color: Brown and White

Place of rescue: Hashim Nagar

Task taken up by: Rohit D.

Task Summary:

One of the residents at Hashim Nagar has reported a dog that was shivering for 4 days and seemed very weak and malnourished. Street Cause PAW has henceforth attended the dog and contacted PFA. PFA has vigilantly picked up the dog. Street Cause PAW appreciates Pooja for reporting the dog.

Total Amount spent: Rs. 500/-

Task Date: 06/08/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 16

Animal: Puppies (Dog)

Age: 40 Days old

Color: Black and Brown

Place of rescue: Vidya Nagar

Task taken up by: Ashrita Bhadriraj and Vaishnavi Moruspalli

Task Summary:

One of the residents at Vidya Nagar has reported 5 puppies that were accidentally hurt due to a runover by the car under which they were asleep. Street Cause





PAW has without any delay attended the rescue, but unfortunately one of the puppies has passed away and another puppy had a minor injury on its leg and henceforth was taken to the veterinarian wherein it was treated accordingly for the muscle tear. Currently, all the puppies are being fostered and duly taken care of. Street Cause PAW appreciates Sindhuja for promptly reporting about the puppies and bringing it to our notice.

Total Amount spent: Rs. 300/-

Task Date: 10/08/2021, 07:15 IST

Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 17

Animal: Puppies (Dog)

Age: 1 Month old

Place of adoption: Kachiguda

Task taken up by: Manognya, Aravind, Sravani, Gayatri and Jashwanth

Task Summary:

One of the residents of Kachiguda has reported an abandoned puppy in the neighbourhood, that was tender, needed care and above all was in sheer need of a compassionate home. Street Cause PAW was able to find a home for the puppy after getting it duly vaccinated and dewormed. The puppy was adopted by Kodijuttu. Shankar. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the puppy's health and its safety until the confidence of the adopter is gained. Street Cause PAW also appreciates Dhwani and Meghana Gogte for fostering the puppy and taking care of it until it was adopted.

Total Amount spent: Rs. 1290/-

Task Date: 18/08/2021, 13:40 IST Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 18

Animal: Dog
Age: 3 Years





Color: Brown and White **Place of rescue:** Miyapur

Task taken up by: Shreyas Reddy, Rohit C, Gayatri

Task Summary:

A dog with a severe Maggot wound was reported in the neighbourhood of Miyapur that was in excruciating pain and needed immediate treatment. Street Cause PAW has without any delay attended the dog and contacted the PFA shelter home, which came by in an hour and picked it up proactively so as to medicate it in accordance.

Total Amount spent: Rs. 1000/-

Task Date: 18/08/2021, 13:35 IST Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 19
Animal: Cat (Kitten)
Age: 1 1/2 Month Old

Place of adoption: Ibrahimpatnam

Task taken up by: Manognya Bharadwaj, Aravind and Tejaswini

Task Summary:

One of the residents of DD Colony reported an abandoned kitten which needless to say was tender and in need of an ardent and affectionate permanent home. Subsequently she reached out to Street Cause PAW for assistance and we were able to find a lovely home for the kitten. The kitten was adopted by Yugender Reddy. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the kitten's health and its safety until the confidence of the adopter is gained. Street Cause PAW appreciates Navya for bringing the kitten to our notice and also for fostering it with utmost affection.

Total amount spent: Rs. 0/-

Task Date: 19/08/2021, 16:15 IST Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 20
Animal: Puppy (Dog)





Age: 2 Months old

Place of adoption: Ramnagar

Task taken up by: Manognya Bharadwaj, Aravind and Tharuni

Task Summary:

The parent of a puppy had to find a new permanent home due to personal reasons and hence contacted Street Cause PAW. Eventually, Street Cause PAW was able to find a charming and compassionate home for the puppy. The puppy was adopted by Sirisha Gade. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the puppy's health and its safety until the confidence of the adopter is gained.

Total amount spent: Rs. 0/-

Task Date: 22/08/2021, 16:15 IST Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 21
Animal: Kitten (Cat)
Age: 2 Months old

Place of adoption: Near Kali Mandir area

Task taken up by: Manognya Bharadwaj and Adithi Reddi

Task Summary:

The parent of a kitten had to find a new permanent home due to personal reasons and hence contacted Street Cause PAW. Eventually, Street Cause PAW was able to find a lovely and pleasant home for the kitten. The kitten was adopted by Aamrin Yusuf Zariwala. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the kitten's health and its safety until the confidence of the adopter is gained.

Total amount spent: Rs. 0/-

Task Date: 07/08/2021-24/08/2021 **Unit Name:** Street Cause PAW

Task Name: Rescue and well-being

Task Number: 22

Animal: Dog

Age: 6-7 Years





Color: Brown and Tan

Place of rescue: Banjara Hills

Task taken up by: Rohit.C, Ashrita, Javeleen

Task Summary:

An abandoned dog with a severe maggot wound was reported in the neighbourhood of Banjara Hills that was in searing pain and needed immediate treatment. Street Cause PAW has without any delay attended the dog and taken it to All vet clinic for predominant maggot wound treatment. It was subsequently sheltered at a boarding and then later sent to a surgery in order to treat the external maggot wounds. At the moment the dog is recovering promptly and post recovery it would be available for adoption.

Total Amount spent: Rs. 5624/-

Task Date: 25/08/2021, 08:10 IST Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 23

Animal: Puppy (Dog)

Age: 1 Month old

Place of adoption: Madinaguda

Task taken up by: Manognya Bharadwaj, Sravani and Tharuni

Task Summary:

One of the residents of Yapral has reported a motherless puppy that was juvenile and in downright need of a nurturing and affectionate permanent home. Eventually, Street Cause PAW was able to find a warm and lovely home for the puppy. The puppy was adopted by Shruti Dharampal Dhawan. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the puppy's health and its safety until the confidence of the adopter is gained. Street Cause PAW appreciates Shruthi and her lovely daughter for fostering the puppy benevolently prior to adopting it.

Total amount spent: Rs. 0/-

Task Date: 25/08/2021, 13:30 IST Unit Name: Street Cause PAW

Task Name: Adoption





Task Number: 24

Animal: Dog
Age: 1-3 Years

Place of adoption: Hi-Tech City

Task taken up by: Manognya Bharadwaj and Dhanashree

Task Summary:

One of the residents of SR Nagar has reported an abandoned dog that was in outright need of a nurturing and affectionate permanent home. Eventually, Street Cause PAW was able to find a charming and compassionate home for the dog. The dog was adopted by Shreya Kankanala Reddy. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the dog's health and its safety until the confidence of the adopter is gained. Prior to adoption, the dog was fostered and duly taken to a veterinary checkup to rule out any unnoticed underlying conditions and aptly dewormed and vaccinated. Street Cause PAW appreciates Shreya for fostering the puppy graciously, with utmost love. **Total amount spent:** Rs. 2875/-

Task Date: 25/08/2021, 15:00 IST Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 25

Animal: Dog
Age: 6-7 Years

Place of adoption: Ghatkesar

Task taken up by: Manognya Bharadwaj and Pavan Teja

Task Summary:

The dog that was duly treated and sheltered earlier(refer to task no. 22) has been adopted by Angel Meagher post its recovery. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the dog's health and its safety until the confidence of the adopter is gained.

Total amount spent: Rs.0/-

Task Date: 27/08/2021, 21:30 IST





Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 26

Animal: Kitten (Cat)

Age: 1 Month old

Place of adoption: Nampally

Task taken up by: Manognya Bharadwaj and Divyagna

Task Summary:

The parent of a kitten had to find a new permanent home due to personal reasons and hence contacted Street Cause PAW. Eventually, Street Cause PAW was able to find a lovely and compassionate home for the kitten. The kitten was adopted by Varshitha Reddy. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the kitten's health and its safety until the confidence of the adopter is gained.

Total amount spent: Rs. 0/-

Task Date: 12/08/2021, 13:130 IST Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 27

Animal: Dog (Puppy)

Age: 4 Weeks old

Color: White and Brown **Place of rescue:** Malkajgiri

Task taken up by: Murali and Rohith. C

Task Summary:

A puppy with a dreadful cut on the neck was reported in the neighbourhood of Malkajgiri that was in searing pain and needed immediate treatment. Street Cause PAW has without any delay attended the dog and taken it to the nearest veterinary wherein it was diagnosed with a maggot wound and medicated accordingly. The puppy was subsequently fostered until the wound recovered completely, after which it was released back to its mother. Street Cause PAW appreciates Sravani for fostering the puppy with utmost care and generosity.





Total Amount spent: Rs.639/-

Task Date: 30/08/2021, 16:30 IST Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 28
Task Summary:

Street Cause PAW has purchased a new and pristine dog cage that would be of great utility whilst fostering the puppies and kittens coming forward. Street Cause PAW has recognised that one of the major inconveniences when it comes to fostering is the lack of a utility to keep the animal in. Hence, this cage will be used to serve the purpose and will be sent to the fosters as needed.

Total amount spent: Rs. 1120/-Task Date: 30/08/2021, 16:30 IST Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 28
Task Summary:

Street Cause PAW has purchased a new and pristine dog cage that would be of great utility whilst fostering the puppies and kittens coming forward. Street Cause PAW has recognised that one of the major inconveniences when it comes to fostering is the lack of a utility to keep the animal in. Hence, this cage will be used to serve the purpose and will be sent to the fosters as needed.

Total amount spent: Rs. 1120/-

Task Date: 21/08/2021-31/08/2021 **Unit Name:** Street Cause PAW

Task Name: Amelioration

Task Number: 30
Animal: Kitten (Cat)
Age: 1 Month old

Gender: Male

Location: Narayanaguda





Task Taken up by: Rohith.C, Bharath and Ashrita

Task Summary:

One of the residents of Narayanguda has reported a motherless kitten that was vulnerable and exposed to being harmed by the local alpha dogs in the street. Street Cause PAW proactively moved it to a safe and reliable foster home, wherein the kitten apparently had ticks and henceforth was taken to the nearest veterinary and treated correspondingly. Street Cause PAW appreciates Sai Kiran for reporting the kitten right away and Meghana Gogte for fostering it with exemplary care and concern. At the moment the kitten is being fostered and is recovering promptly.

Total amount spent: Rs. 570/-

Task Date: 31/08/2021, 21:30 IST Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 31

Animal: Puppy (Dog) **Age:** 4-5 Months old

Gender: Female

Place of adoption: M.J Colony, Moula-Ali

Task taken up by: Manognya Bharadwaj and Challapally Mahathi

Task Summary:

One of the residents of M.J Colony has reported a dog that was being mistreated ruthlessly and henceforth straight up rescued it. Subsequently, he reached out to Street Cause PAW for help so as to get it adopted. Eventually, Street Cause PAW was able to find a warm and lovely home for the dog. The dog was adopted by Sai Shashank. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the dog's health and its safety until the confidence of the adopter is gained. Street Cause PAW appreciates Pavan for being so kind and promptly reporting and rescuing the dog.

Total amount spent: Rs. 0/-





Task Dates: 18/08/2021 and 2/09/2021

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 32

Location: Blue cross and PFA Nagole

Task taken up by: Events wing

Task Summary:

With the colder months approaching ahead of us, the shelter homes could use a helping hand to keep the animals warmer. Henceforth, Street Cause PAW has successfully donated blankets, curtains, gunny bags and pillow covers collectively to Blue Cross and PFA-Nagole as a part of the blanket donation drive. A total of 96 blankets and 26 pillow covers were donated.

Total amount spent: Rs. 0/- **No. of animals impacted:** 80

Task Date: 09/09/2021

Unit Name: Street Cause PAW

Task Name: Adoption

Task Number: 33

Animal: Puppy (Dog)

Age: 3 Months Gender: Male

Place of adoption: Ramnagar

Task taken up by: Manognya Bharadwaj and Pavan Gorijala

Task Summary:

The parent of a puppy had to find a new permanent home due to personal reasons and hence contacted Street Cause PAW. Eventually, Street Cause PAW was able to find a lovely and pleasant home for the puppy. The puppy was adopted by Rajyalakshmi. She has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on





the

puppy's health and its safety until the confidence of the adopter is gained.

Total amount spent: Rs. 0/-

Task Date: 27/08/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 34
Animal: Kittens (Cat)
Age: 5-6 Days old
Gender: Male

Color: Brown and Black

Place of rescue: Mehdipatnam

Task taken up by: Rohit Chilakala

Task Summary:

One of the residents of Mehdipatnam has rescued 2 kittens that were motherless, tender and weak and hence contacted Street Cause PAW for help. One of our coordinators has immediately attended the kittens and subsequently took them to the nearest veterinary wherein both the kittens unfortunately passed away due unforeseen conditions.

Total amount spent: Rs. 300/-

Task Date: 26/08/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 35

Animal: Puppies (Dog)

Age: 20 Days old

Gender: Male and Female **Color:** Brown and Black

Place of rescue: ECIL, Secunderabad





Task taken up by: Vishnu and Tharuni

Task Summary:

One of the residents of Secunderabad has rescued 3 puppies that were motherless, tender and weak and hence contacted Street Cause PAW for help. Unfortunately, before handing over the 3 puppies to Street Cause PAW one of them died. Consequently, one of the puppies has been adopted and the other is at the moment being fostered. Street Cause PAW thanks Haritha for proactively rescuing the puppies and reaching out promptly.

Total amount spent: Rs. 1400/-

Task Date: 28/09/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 36

Animal: Dog
Age: 1 Year
Gender: Male

Color: White

Place of rescue: Miyapur

Task taken up by: Shreyas Reddy and Sai Krishna

Task Summary:

An injured and bruised dog was reported in the neighbourhood of Miyapur. One of our coordinators immediately attended the dog that had maggot wounds. Simultaneously, PFA was contacted and they promptly picked up the dog. Street Cause PAW thanks Rakesh for being considerate and reporting the dog straight away.

Total amount spent: Rs. 400/-

Task Date: 02/10/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 37
Animal: Puppy (Dog)





Age: 8 Weeks old Gender: Male

Color: Brown and White **Place of rescue:** Malkajgiri

Task taken up by: Phani, Samuel, Tarun, Rohit C.

Task Summary:

A brutally injured puppy was reported in the neighbourhood of Malkajgiri which was apparently run over by a vehicle ruthlessly. Our coordinators reached out immediately and the puppy was taken to the nearest veterinary wherein it was diagnosed with a major spinal injury. Over the due course of 15 days it was medicated and treated accordingly. While it was being treated, it was fostered thoughtfully and post the treatment it was handed over to an animal rescue centre sanctuary for better facilitation and care.

Total amount spent: Rs. 3440/-

Task Date: 13/10/2021, 16:00 IST Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 38
Animal: Puppy (Dog)
Age: 7 Months old

Gender: Male

Color: Brown and White

Place of adoption: Badangpet

Task taken up by: Aravind Kumar and Manognya

Task Summary:

The parent of a puppy had to find a new permanent home due to personal reasons and hence contacted Street Cause PAW. Eventually, Street Cause PAW was able to find a lovely and pleasant home for the puppy. The puppy was adopted by Robin Roy. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the puppy's health and its safety until the confidence of the adopter is gained.

Total amount spent: Rs. 0/-

Task Date: 25/10/2021

Unit Name: Street Cause PAW
Task Name: Rescue and well-being





Task Number: 39

Animal: Cat Age: 1 year Gender: Male

Color: Orange and white

Place of rescue: Beerappagadda Task taken up by: Tanvi Mekala

Task Summary:

A brutally injured cat was reported and Street Cause PAW was contacted for immediate help. The cat was apparently run over by a vehicle due to which its back was injured and unfortunately was unable to walk. One of our coordinators attended the rescue promptly and dropped the cat at PFA.

Total amount spent: Rs. 0/-

Task Date: 23/10/2021,

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 40
Task Summary:

ACWS has been having a shortage of food bags specifically for a dog that has been detected with tumour in the bladder and bleeding from the uterus and hence Street Cause PAW has reached out and donated 2 bags of Royal Canine Urinary S/O food and has also committed to help AWCS with the equipment needed for rescues.

Total amount spent: Rs. 2640/-

Task Date: 06/11/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 41
Animal: Dog
Age: 3 years

Gender: Female **Color:** Black and Tan

Place of rescue: P.V Narasimha Rao Marg-Somajiguda

Task taken up by: Prachi and Phani

Task Summary:





A weak and dehydrated abandoned dog was found wandering in the area of Necklace Road. The dog when inspected by our members was apparently having two tumors on its stomach. The dog was cautiously attended and then dropped at PFA for further treatment.

Total amount spent: Rs. 429/-

Task Date: 17/11/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 42

Animal: Dog
Age: 1 month
Gender: Male

Color: Black and white
Place of rescue: Sainikpuri
Task taken up by: Jashwanth

Task Summary:

A puppy was reported to be stuck inside an enclosed space for a few days. One of our coordinators immediately attended the puppy and freed it from the cave by breaking it open carefully. Simultaneously, the puppy was taken to the nearest veterinary to check for any injuries or health implications, wherein it was given a clean chit and proclaimed healthy and hence the puppy was returned to its area. The puppy would be further vaccinated at the right age.

Total amount spent: Rs.0/-

Task Date: 15/11/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 43

Animal: Dog
Age: 2 months
Gender: Male

Color: White and Brown **Place of rescue:** Malkajgiri

Task taken up by: Prachi Samuel and Tarun





Task Summary:

A weak and dehydrated puppy was reported in the neighbourhood of Malkajgiri. Hence, two of our coordinators immediately attended the puppy and simultaneously the puppy was taken to the nearest veterinary wherein it was diagnosed with canine distemper and parvo virus. Although the puppy was immediately given saline and prescribed medication, unfortunately it passed away due to its adversely critical condition.

Total amount spent: Rs.696/-

Task Date: 13/09/2021 to 13/10/2021

Unit Name: Street Cause PAW **Task Name:** Fundraiser event

Task Number: 43
Task Summary:

Street Cause PAW has successfully organised its first fundraiser for this term. The event was an intriguing combination of 2 categories namely- the pet contest and the pet photoshoot wherein participants could compete and participate based on the briefing that was given to them. The participation fee for the pet contest was Rs.100/- and the pet photoshoot was Rs.500/-. The winners of the pet contest were subcategorized into 2 and the first prize winner was rewarded in both the categories with Rs.1000/- and the second prize with Rs.500/- respectively.

Total no. of registrations:88

Total amount raised: 1,05,43

Breakdown of the amount raised:

Amount raised through registrations: 9,600 Amount raised through benefactions: 95,839

Total amount spent: Rs.0/-

Task Date: 24/08/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 45
Animal: Dog
Age: 3 years
Gender: Male





Color: Black

Place of rescue: Narayanguda Task taken up by: Javeleen

Task Summary: A dog with a serious maggot wound was reported in the neighbourhood of Narayanaguda and it was treated with a spray for a day but it went missing later. People from the area very kindly continued its treatment and it has been healing since then.

Total Amount spent: 530/-

Task Date: 24/11/21

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 46
Animal: Dog
Age: 1 year

Gender: Male **Color:** White

Place of rescue: Anandh Bagh Task taken up by: Jashwanth

Task Summary: A dog with tangibly serious skin issues has been reported. Subsequently, one

of our coordinators attended the dog in no time and started the treatment. It is being

treated for scabies with utmost care, caution and affection.

Total Amount spent: 77/-

Task Date: 06/08/21

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 47 Animal: Dog Age: 2 years

Gender: Male

Color: White and Brown

Place of rescue: Narayanaguda Task taken up by: Javeleen

Task Summary:





A dog with an open maggot wound was reported in the area of Narayanaguda. Consequently, one of our coordinators immediately attended it and treated it cautiously with a spray. The dog was cooperative and will hopefully heal proactively.

Total Amount spent: 200/-

Task Date: 07/12/21

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 48
Animal: Kittens (Cat)

Age: 3 Months **Gender:** Female

Color: Grey

Place of rescue: Malkajgiri Task taken up by: Rohit.C

Task Summary:

A seriously wounded cat and 2 injured kittens were reported in the neighborhood of Malkajgiri by a pedestrian for help. One of our coordinators has guided him further so as to take the kittens to the nearest veterinary for immediate medical treatment and the cat which was apparently their mother was unfortunately identified dead. The kittens were treated caustiosly and are currently being fostered by the . Street Cause PAW thanks for being kind, considerate and cooperative throughout the rescue task.

Total Amount spent: 650/-

Task Date: 13/12/21

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 49
Animal: Kitten (Cat)

Age: 8 Months **Gender:** Female

Color: Black and White Place of rescue: Attapur Task taken up by: Simran

Task Summary:





A weak kitten with hypothermia was reported in one of the neighbourhoods of Attapur, which was in such excruciating pain that it was unable to even move. Simultaneously, one of our coordinators was immediately sent to attend the kitten so as to take it to the nearest veterinary, wherein it was treated respectively. Post medication, the kitten recovered and is absolutely fine now.

Total Amount spent: 800/-

Task Date: 14/12/21

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 50
Animal: Puppies (5)
Age: 1 Month Old

Color: Brown and Beige **Place of rescue:** Gandipet

Task taken up by: Adithi and Gayatri

Task Summary:

5 tender puppies were reported in the Gandipet area that were tangibly infested with fleas and ticks. Our coordinators, without any delay took the puppies to the nearest veterinary and were accordingly medicated post which they were dropped back carefully at their location in order to reunite with their mother respectively. The puppies are healing and the treatment will continue until they recover completely.

Total Amount spent: 460/-

Task Date: 20/12/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 51
Animal: Puppy (Dog)
Age: 3 months old
Gender: Female

Place of rescue: ECIL

Task taken up by: Aishwarya CVS

Task Summary:

Color: Beige





A puppy was reported to be very sick as it wasn't eating and vomiting vehemently. In addition to that, it's leg was also injured. Consequently, one of our coordinators has immediately taken it to the veterinary, wherein it was diagnosed with ticks and fleas. Accordingly, it was treated and medication was given, post which it was returned back to its location respectively.

Total Amount spent: 1069/-

Task Date: 19/12/2021

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 52
Animal: Puppy (Dog)

Gender: Male

Color: White and brown **Place of rescue:** Yousufguda

Task taken up by: Bharath Chandra

Task Summary: A juvenile puppy was reported that was miserably hurt due to a cut on its neck. Subsequently, the puppy was immediately attended and shifted to the PFA shelter

home for further treatment and care.

Total Amount spent: Rs.500/-

Task Date: 28/12/21

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 53
Animal: Puppy (Dog)
Age: 7-8 months
Gender: Female

Color: White

Place of rescue: Langerhouse Task taken up by: Tejaswi

Task Summary: A pet was mercilessly abandoned and given its tender age, it needed attention and care. A kind lady has volunteered to take care of the puppy but she could not afford it's vaccinations and medical care, hence reached out to Street Cause PAW for help.





Responsively, one of our coordinator took the puppy to the nearest veterinary and ensured it that it was properly vaccinated. Street Cause PAW acknowledges and appreciates the woman's act of kindness.

Total Amount spent: Rs. 2250/-

Task Date: 08/01/2022

Unit Name: Street Cause PAW

Task Name: Adoption Task Number: 54 Animal: Puppy (Dog)

Age: 1 month old Gender: Female

Color: White

Place of adoption: Secunderabad

Task taken up by: Dhanasree, Manognya, Divyagna

Task Summary:

A parent of a puppy had to find a new permanent home due to personal reasons and hence reached out to Street Cause PAW respectively. Eventually, Street Cause PAW was able to find a lovely and an affectionate home for the puppy. The puppy was adopted by M.Hrithik. He has duly signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the puppy's health and its safety until the confidence of the adopter is gained.

Total Amount spent: 0/-

Task Date: 12/01/2021

Unit Name: Street Cause PAW

Task Name: Awareness

Task Number: 55

Location: Future Foundation, Malkajgiri

Task Summary:

"Today's children are tomorrow's future and it is our responsibility to nurture each and every one of them with the right kind of knowledge, the one that imparts the power of inclusivity, acceptance and love." Inspired by this thought, Street Cause PAW has decided to take it a notch up higher and organise an awareness campaign across multiple orphanages in the city. As a part of this campaign, we first organised the awareness programme in the Future Foundation in Malkajgiri. Our coordinators have conducted a brief session on the





importance of inclusivity and animal welfare. Towards the end of the session the kids were gifted with a vibrant stationery kit and asked to draw their heart out. The kids were very energetic, highly responsive and supremely talented. Throughout the campaign all the Covid protocols were followed by everyone very strictly. Street Cause PAW thanks Future Foundation for letting us kickstart our drive with such warmth and humbleness.

Total amount spent: 3710

Task Date: 27/1/2022

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 56 Animal: Dogs (2) Age: 3-4 years

Gender: Male (1) and Female (1)

Color: Brown and white

Place of rescue: Sindhi Colony

Task taken up by: Prachi

Task Summary:

Two dogs were reported in the neighbourhood of the Sindhi Colonies. One of the two had a tumor and was bleeding. The other one was in excruciating pain as it had an eye injury, most probably because someone recklessly threw a stone. Our coordinator immediately reached the place of rescue and contacted the PFA. A couple of them from the PFA have treated both the dogs on the spot and the treatment will continue for a couple more days. The dogs would soon recover.

Total Amount spent: Rs.500

Task Date: 19/1/22 to 28/1/22 Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 57
Animal: Dog
Age: 7-8 years
Gender: Male

Color: White and brown **Place of rescue:** Attapur





Task taken up by: Sanjana

Task Summary:

A very badly injured single-eyed abandoned dog was reported near Mantra Mall. One of our coordinators attended the dog that was severely injured in the muzzle area. Subsequently, it was taken to the nearest veterinary in the vicinity wherein a surgery was suggested as the dog's jaw was completely dislocated. Fortunately, the surgery was successful and the dog is recovering very well at the moment. Post recovery, Street Cause PAW will be looking for a forever loving home for the brave dog.

Total Amount spent: 14,220

Task Date: 28/1/2022

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 58
Animal: Puppy

Age: 3-4 months old

Gender: Male

Color: Black and white **Place of rescue:** B.H.E.L

Task taken up by: Lahari Reddy

Task Summary:

A little puppy was midly injured because a reckless driver had run over it. It was immediately taken to a nearest veterinary, wherein it was given an injection for the sprain on its right leg. It was fostered for a while and given the prescribed medicine, post which it was absolutely fine. Street Cause PAW thanks the localite, Mahika Chandra for being a great help during the entire rescue task.

Total Amount spent: Rs.615

Task Date: 30/1/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 59
Animal: Puppies (4)
Age: 3 to 4 weeks old
Gender: Male & Female





Color: Black, white & brown

Place of rescue: Sainatpuram, A.S.Rao Nagar

Task taken up by: Phanidher and Tarun

Task Summary:

Some weak puppies were reported in the neighborhood of Sainatpuram. A couple of our coordinators have attended the puppies and checked for any underlying conditions and found none except for fleas. Subsequently, suitable spray was bought from the nearest pet shop and a basic treatment was given to them. A basic soft environment was also created for the puppies to stay tucked and warm. Street Cause PAW thanks the localities for being kind and helpful.

Total Amount spent: Rs.500

Task Date: 28/01/2021

Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 60

Animal: Dog

Age: 7-8 years old Gender: Male

Color: Brown and white

Place of adoption: Madhapur

Task taken up by: Sanjana Dhanashree,

Task Summary:

The dog that was duly treated earlier(refer to task 57) has been adopted by Sahasra. She has signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the dog's health and its safety until the confidence of the adopter is gained.

Total Amount spent: 0/-

Task Date: 28/01/2021

Unit Name: Street Cause PAW

Task Name: Adoption
Task Number: 60

Animal: Dog

Age: 7-8 years old





Gender: Male

Color: Brown and white

Place of adoption: Madhapur

Task taken up by: Sanjana Dhanashree,

Task Summary:

The dog that was duly treated earlier(refer to task 57) has been adopted by Sahasra. She has signed the adoption form and has been briefed on the laws of India with respect to the safety of animals and pet care. Street Cause PAW shall follow up on the dog's health and its safety until the confidence of the adopter is gained.

Total Amount spent: 0/-

Task Date: 05/02/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 61
Animal: Puppies (9)

Gender: Male and Female **Color:** Brown and white

Place: Madhapur

Task taken up by: Bharath Chandra

Task Summary:

In the process of surveying a location for the vaccination drive, 9 weak and weary puppies were found. Henceforth, to make them healthier and more susceptible for the vaccinations, with the help of a local resident, the puppies will be fed "Pup Boosters" daily. Street Cause PAW thanks the localite for being so kind and helping us out.

Total Amount spent: Rs.550

Task Date: 28/12/21 to 5/02/2022 Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 62
Animal: Dog

Age: 2 years (approximately)

Gender: Female **Color:** Brown





Place of rescue: Nagole

Task taken up by: Sunidhi Siripurapu

Task Summary:

An injured dog was reported in the neighnourhood of Nagole. One of our coordinator immediately attended it and observed that it had a minor leg injury and was limping. The dog was given medication for its injury for around a week accordingly. It has recovered promptly and is absolutely fine now.

Total Amount spent: Rs.30

Task Date: 12/02/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 63 **Location:** Madhapur

Task Summary:

Dog vaccination is supremely crucial as it helps prepare their immune system to defend itself from invasion of any disease-causing organism. While most of the pets are vaccinated by their parents, street dogs are left out and susceptible to diseases. These diseases are at times fatal too. Hence, Street Cause PAW is on a mission to vaccinate a multitude of street dogs across Hyderabad in various localities. As a part of this massive vaccination drive, we have successfully given 7-in-1 vaccinations to 15 puppies in the area of Madhapur after vigilantly surveying the area. A week before vaccinating, the puppies were dewormed throughly.

Total Amount spent: Rs.16,213./No. of animals impacted: 15

Task Date: 19/2/22

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 64
Animal: Dog
Age: 2 years
Gender: Female

Color: Brown and Black
Place of rescue: Sainikpuri
Task taken up by: Samuel





Task Summary:

A stray dog was reported with a major open wound in its private area in the neighborhood of Sainikpuri. One of our coordinators attended the dog immediately and informed the same to the PFA respectively. The dog has been taken for a medical treatment. The treatment is under process and hopefully the dog feels better soon.

Total Amount spent: 0/-

Task Date: 20/2/22

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 65

Animal: Dog
Age: 2 months
Gender: Female
Color: White

Place of rescue: Himayat Sagar

Task taken up by: Task Summary:

During one of our vaccination drive's, a weak puppy was found, with an injured eye. Accordingly, it was given saline and medication. It is recovering promptly and is soon expected to be perfectly fine.

Total Amount spent: 349/-

Task Date: 10/02/2022

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 66
Animal: Dog
Age: 9 months
Gender: Male

Color: Brown and White
Place of rescue: Aziz Nagar
Task taken up by: D.Rohith

Task Summary:





An injured puppy was reported in the area of Aziz Nagar. One of our coordinators attended it and subsequently took it to the nearest veterinary, wherein the vet informed about the dreadfully broken spine bone. The condition was evidently serious and apparently caused due to a reckless car run-over. Accordingly, medicines were given for 10 days. The treatment is under process.

Total Amount spent: 1000/-

Task Date: 19/02/2022- 22/02/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 67

Location: Musheerabad, Pragathi Nagar, Himayath Sagar, KPHB

Task Summary:

As a part of the ongoing vaccination drive, we have successfully given 7-in-1 vaccinations to 41 puppies in the areas of Musheerabad, Pragathi Nagar, Himayath Sagar and KPHB after vigilantly surveying the area. Out of the 41, 5 Puppies were also given anti-rabies vaccination. A week before vaccinating, the puppies were dewormed thoroughly.

Total Amount spent: Rs.12,220/-**No. of animals impacted:** 41

Task Date: 16/02/2022- 20/2/22 Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 68
Animal: Dog
Age: 2 months
Gender: Male
Color: White

Place of rescue: Sanath Nagar Task taken up by: Rohit, Javeleen

Task Summary:

A feeble abandoned pomeranian dog was reported in the neighborhood of Sanath Nagar. One of our coordinators took it to the nearest veterinary, wherein post diagnosis, it





was found to have a minor liver infection. Accordingly, medicines were suggested. The treatment is ongoing and the dog is recovering gradually.

Total Amount spent: 2740/-

Task Date: 22/02/2022

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 70

Animal: Dog

Age: 11 years old Gender: Male

Color: Brown and Beige

Place of rescue: Old M.I.G-B.H.E.L Task taken up by: Lahari Reddy

Task Summary:

A dreadfully weak dog was found and reported by a pedestrian in the neighborhood of B.H.E.L. Post-attending the dog, it was clearly in excruciating pain due to an injury on its leg, probably caused by an accident. Its leg was only skeleton, no flesh and the wound had maggots. Henceforth, for further treatment the dog was handed over to the PFA. Street Cause PAW thanks Mahika Chandra for promptly reporting the dog and being a great help throughout the rescue.

Total Amount spent: 400/-

Task Date: 30/01/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 71

Location: Shilpa Valley

Task Summary:

As a part of the ongoing vaccination drive, we have successfully given 7-in-1 vaccinations to 50 puppies in the area of Shilpa Valley after vigilantly surveying the area. A week before vaccinating, the puppies were dewormed thoroughly. A few of the puppies





were even give the anti rabies vaccinations. Additional 50 7-in-1 vaccines can be further

Total Amount spent: Rs.15,730/-**No. of animals impacted:** 50

Task Date: 27/02/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 72

Location: BHEL, Pragathi Nagar, Bachupally and Bowrampet

Task Summary:

As a part of the ongoing vaccination drive, we have successfully given 7-in-1 vaccinations to puppies in the area of BHEL, Pragathi Nagar, Bachupally and Bowrampet after vigilantly surveying the area. A week before vaccinating, the puppies were dewormed thoroughly.

Total Amount spent: Rs.12,326/-**No. of animals impacted:** 33

Task Date: 27/02/2022 to 5/03/2022

Unit Name: Street Cause PAW **Task Name:** Amelioration

Task Number: 73 Animal: Dog

Age: 3 years
Gender: Male
Color: Black

Place of rescue: Moula Ali, Hyderabad

Task taken up by: Aishwarya

Task Summary:

A dog was found in the neighborhood of Moula Ali with a terrible skin infection. Post-attending the dog, our coordinator has thoroughly applied an authenticated mixture called Scooby dub dub for around a week. The dog has promptly healed and is perfectly fine now. The leftover mixture would be used for relevent further tasks respectively.

Total Amount spent: 1967/-





Task Date: 26/01/22

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 74

Animal: Dog
Gender: Male
Color: White

Place of rescue: Gachibowli

Task taken up by: N Aravind Kumar

Task Summary:

A stray dog was reported with a terrible injury . One of our coordinators reached out and ensured that the dog was handed over to the PFA for further treatment. But, unfortunately the dog passed away a week ago due to the severity of the injuries.

Total Amount spent: 3000

Task Date: 11/03/22

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 75
Animal: Puppy (Dog)
Age: 7 months(approx)

Gender: Male

Color: Brown and Black

Place of rescue: Secunderabad

Task taken up by: Rohit

Task Summary:

A puppy was reported in the neighbourhood of Secunderabad that was heavily bleeding and in excruciating pain as a reckless biker ran over it. Subsequently, one of our coordinator attended it, post which the puppy was handed over to the PFA for further treatment.

Total Amount spent: 500/-

Task Date: 06/03/2022

Unit Name: Street Cause PAW





Task Name: Amelioration

Task Number: 76

Location: Patancheru, Bowrampet, Moula Ali

Task Summary:

As a part of the ongoing vaccination drive, we have successfully given 7-in-1 vaccinations to puppies in the area of Patancheru, Bowrampet and Moula Ali after vigilantly surveying the area. A week before vaccinating, the puppies were dewormed thoroughly.

Total Amount spent: Rs.23,944/-**No. of animals impacted:** 100

Task Date: 16/3/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 77

Animal: Dog Age: 4 years

Gender: Female

Color: White and Beige

Place of rescue: Padmarao Nagar, Secunderabad

Task taken up by: Shivendra

Task Summary:

A dog was found in the neighborhood of Padmarao Nagar with a terrible injury and was bleeding. One of our coordinators attended it and contacted the PFA as soon as possible.

Subsequently, the dog was treated and is healing respectively.

Total Amount spent: 500/-

Task Date: 26/03/2022

Unit Name: Street Cause PAW

Task Name: Rescue and Well-Being

Task Number: 79
Animal: Puppy (Dog)
Age: 6 months old
Gender: Male

Color: Brown

Place of rescue: VBIT, Hyderabad





Task taken up by: Rohit

Task Summary:

A puppy was found with a tumor and was in excruciating pain. It was immediately taken for a medical treatment and subsequently in collaboration with another independent rescuer the puppy was successfully operated. Post the surgery, the puppy was under keen medical observation for over a month and is perfectly fine now. Upon approval, it was released back to its neighborhood recently. Street Cause PAW appreciates the rescuer for being kind and collaborating towards a noble cause of saving an innocent life.

Total Amount spent: Rs.6,995/-

Task Date: 01/04/2022

Unit Name: Street Cause PAW

Task Name: Rescue and Well-Being

Task Number: 80
Animal: Pigeon (Bird)
Color: Blue-Black

Place of rescue: Kachiguda Railway Station Task taken up by: Javelin, Sanjana and Rohit

Task Summary:

An injured pigeon was reported in Kachiguda Railway Station. Subsequently, one of our coordinators attended it and took it to the nearest veterinary in the vicinity. After examination, the vet has claimed that the pigeon would not be able to fly anytime soon due to the severity of the injury. Despite constant vigilance, the pigeon unfortunately died under foster care recently.

Total Amount spent: Rs.200/-

Task Date: 20/03/2022

Unit Name: Street Cause PAW

Task Name: Rescue and Well-Being

Task Number: 81

Animal: Dog Age: 8 Years





Gender: Male **Color:** Brown

Place of rescue: Hanuman Tekdi, Koti

Task taken up by: Javeleen

Task Summary:

An abandoned and weak dog was reported in the neighborhood of Koti. One of our coordinators immediately reached the location and post inspecting its frail condition, it was taken to the nearest veterinary in the vicinity wherein it was reported to have high temperature, irregular heart rate and severe eye and ear infections. For better treatment, it was moved to another shelter wherein the infections were cured but unfortunately the heart rate was not getting any better. Despite the relentless efforts, the dog sadly passed away due to a heart attack.

Total Amount spent: Rs.6,300/-

Task Date: 20/03/2022

Unit Name: Street Cause PAW

Task Name: Rescue and Well-Being

Task Number: 81

Animal: Dog
Age: 8 Years
Gender: Male
Color: Brown

Place of rescue: Hanuman Tekdi, Koti

Task taken up by: Javeleen

Task Summary:

An abandoned and weak dog was reported in the neighborhood of Koti. One of our coordinators immediately reached the location and post inspecting its frail condition, it was taken to the nearest veterinary in the vicinity wherein it was reported to have high temperature, irregular heart rate and severe eye and ear infections. For better treatment, it was moved to another shelter wherein the infections were cured but unfortunately the heart rate was not getting any better. Despite the relentless efforts, the dog sadly passed away due to a heart attack.

Total Amount spent: Rs.6,300/-





Task Date: 03/04/2022

Unit Name: Street Cause PAW

Task Name: Rescue and Well-Being

Task Number: 83
Animal: Kitten (Cat)

Age: 3 weeks
Gender: Male
Color: Gray

Place of rescue: Sitaphalmandi

Task taken up by: Tarun and Manognya

Task Summary:

A motherless and weak kitten was reported in the area of Sitaphalmandi. Simultaneously, the kitten was taken to the veterinary for a basic medical check up and treated accordingly. Currently, the kitten is being fostered. Street Cause PAW appreciates Adithi for being kind and fostering the kitten with compassion.

Total Amount spent: Rs.155/-

Task Date: 16/04/2022

Unit Name: Street Cause PAW

Task Name: Awareness

Task Number: 84

Location: Karuna Voluntary Organisation, Secunderabad

Task Summary:

Resuming the awareness campaign, Street Cause PAW has organised the 2nd awareness programme in Karuna Voluntary Organisation in Secunderabad. Our coordinators have conducted a brief session on the importance of inclusivity and animal welfare. Towards the end of the session the children were gifted with a vibrant stationery kit. The kids were very energetic and highly responsive. Street Cause PAW thanks Karuna Voluntary Organisation for letting us conduct the session with such warmth and humbleness.

Total amount spent: 0/-





Task Date: 16/04/2022

Unit Name: Street Cause PAW

Task Name: Awareness

Task Number: 85

Location: Tapasvi Foundation Orphanage Home, Chandanagar

Task Summary:

Resuming the awareness campaign, Street Cause PAW has organised the 3nd awareness programme in Tapasvi Foundation Orphanage Home in Chandanagar. Our coordinators have conducted a brief session on the importance of inclusivity and animal welfare. Towards the end of the session the children were gifted with a vibrant stationery kit and were asked to draw their hearts out. The kids were very energetic and highly responsive. Street Cause PAW thanks Tapasvi Foundation Orphanage Home for letting us conduct the session with such warmth and humbleness.

Total amount spent: 0/-

Task Date: 21/04/2022

Unit Name: Street Cause PAW

Task Name: Awareness

Task Number: 86

Location: Primary Govt. School, BHEL

Task Summary:

Resuming the awareness campaign, Street Cause PAW has organised the 4th awareness programme in the Primary Govt. School in BHEL. Our coordinators have conducted a brief session on the importance of inclusivity and animal welfare. Towards the end of the session the children were gifted with a vibrant stationery kit and were asked to draw their heart out. The kids were very energetic and highly responsive. Street Cause PAW thanks the school authority for letting us conduct the session with such warmth and humbleness.

Total amount spent: 4,500/-





Task Date: 14/03/2022

Unit Name: Street Cause PAW

Task Name: Rescue and Well-Being

Task Number: 87
Animal: Puppy (Dog)
Age: 1.5 months old

Gender: Male

Color: Light Brown

Place of rescue: Osmania University

Task taken up by: Javeleen

Task Summary:

A motherless and weak puppy was reported in the area of OU with tangible injuries. Simultaneously, one of our coordinators immediately attended the puppy and it was taken to

the nearest veterinary hospital for further treatment. Post the treatment, the puppy was vigilantly taken care of by a foster. Currently, the puppy has completely recovered and is also available for adoption. Street Cause PAW appreciates Soundarya for being kind and fostering the

puppy with compassion.

Total Amount spent: Rs.2910/-

Task Date: 30/04/2022

Unit Name: Street Cause PAW

Task Name: Awareness

Task Number: 88

Location: Vatsalyam Voluntary Organization, Nagole

Task Summary:

Resuming the awareness campaign, Street Cause PAW has organised the 5th awareness programme in an orphanage named Vatsalyam Voluntary Organization located in Nagole. Our coordinators have conducted a brief session on the importance of inclusivity and animal welfare. Towards the end of the session the children were gifted with a colorful box of crayons and were asked to draw their hearts out. The kids were very energetic and highly responsive. Street Cause PAW thanks the authority for letting us conduct the session with such warmth and humbleness.





Total amount spent: 400/-

Task Date: 30/04/2022

Unit Name: Street Cause PAW

Task Name: Awareness

Task Number: 89

Location: Capbowl Orphanage, Malkajgiri

Task Summary:

Resuming the awareness campaign, Street Cause PAW has organised the 6th awareness programme in an orphanage named Capbowl located in Malkajgiri. Our coordinators have conducted a brief session on the importance of inclusivity and animal welfare. Towards the end of the session the children were gifted with a colorful box of crayons and were asked to draw their hearts out. The kids were very energetic and highly responsive. Street Cause PAW thanks the authority for letting us conduct the session with such warmth and humbleness.

Total amount spent: 200/-

Task Date: 22/05/2022

Unit Name: Street cause PAW

Task Name: Rescue and well-being

Task Number: 90
Animal: Dog

Age: 4 years Gender: Female

Color: Black

Place of rescue: Rani Gunj

Task taken up by: Javeleen, Rohit

Task Summary:





A dog that was infested with ticks was reported in a neighborhood of Rani Gunj. It was precarious and getting a hold of it was hard, yet as an immediate measure the coordinators tried feeding it a Bravecto tablet but it was highly uncooperative. Later it was nowhere to be found despite searching the neighborhood thoroughly. The tablets will be used when in need during future tasks. Kindly DM us in case you find the dog.

Total Amount spent: 1684/-

Task Date: 19/03/2022 to 18/05/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 91

Location: Kukatpally, Pragathi Nagar, Bowrampet, Kandlakoya, Patancheru and Cheriyala

Task Summary:

As a part of the ongoing vaccination drive, we have successfully given 7-in-1 vaccinations to puppies in the areas of Kukatpally, Pragathi Nagar, Bowrampet, Kandlakoya, Patancheru and Cheriyala after vigilantly surveying the area. A week before vaccinating, the puppies were dewormed thoroughly. With this we have successfully completed the vaccination drive. Street Cause PAW thanks all the localities involved for being a great help throughout the process.

Total Amount spent: Rs.53,940/-**No. of animals impacted:** 250

Task Date: 20/5/2022 to 29/5/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 92

Location: Shankarpalli

Task Summary:

Due to improper lighting and speeding vehicles many dogs lose their lives every single day. To reduce the number of accidents Street Cause PAW is on an avid mission to use reflective collars on dogs at high-risk areas. These collars will make the dogs vividly visible to





the driver so as to reduce the potential mishaps. As a part of this collar-belt drive, we have successfully put on 27 collar belts to 27 dogs in the high-risk zones of Shankarpalli area. That being said, we also encourage the drivers to be on the lookout for dogs when they are driving. After all, every life matters!

Total Amount spent: Rs.1193/-**No. of animals impacted:** 27 dogs

Task Date: 11/12/2021 to 22/03/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 93

Locations: Kukatpally, Shilpa Valley, and Sainikpuri

Task Summary:

Sterilization, also called as neutering or spaying of dogs is crucial as it helps them live a longer and a healthier life. While the pet parents take necessary care and get their pets sterilized rightfully, the community and the stray dogs are susceptible to over-breeding which can lead to several problems. Hence, Street Cause PAW has undertaken an ardent mission to get a multitude of street dogs sterilized with the help of GHMC across Hyderabad in various localities. As a part of the sterilization drive, we have successfully sterilized 69 dogs in the areas of Kukatpally, Shilpa Valley, and Sainikpuri after vigilantly surveying the area. Street Cause PAW thanks all the localites involved and the GHMC for being a great help throughout the process.

Total Amount spent: Rs.2000/- **No. of animals impacted:** 68 dogs

Task Date: 4/5/2022

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 94

Animal: Dog Age: 1 year





Gender: Female **Color:** Brown

Place of rescue: Kompally

Task taken up by: Bharath Chandra

Task Summary:

A dog was reported that was bleeding and looked weak. It was immediately attended and moved to a shelter, post which it was given appropriate medication. The dog is stable now and recovering. Street Cause PAW thanks Vineela for proactively helping in the process and Akshith for reporting the dog effectively.

Total Amount spent: 600/-

Task Date: 30/5/2022 to 06/06/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 95

Location: Shankarpalli

Task Summary:

As a part of the ongoing collar-belt drive, we have successfully put on 26 more collar belts to 26 dogs in the high-risk zones of CBIT, Vanasthalipuram and Mokila. Word of caution to all the drivers please look out for dogs when you are driving. After all, every life matters!

Total Amount spent: Rs.282/- **No. of animals impacted:** 26 dogs

Task Date: 07/06/2022 to 10/06/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 96

Location: NTR Stadium and Indira Park

Task Summary:

As a part of the ongoing collar-belt drive, we have successfully put on 22 more collar belts to 22 dogs in the high-risk zones of NTR Stadium and Indira Park. Word of caution to all the drivers please look out for dogs when you are driving. After all, every life matters! With this we have successfully completed the collar belt drive and Street Caue PAW thanks all the localites for being of great help throughout the process. The whole purpose of this task was





to do our bit in helping the voiceless from being prone to accidents, but you can do your bit too, by just being cautious and compassionate!

Total Amount spent: Rs.3,730/- **No. of animals impacted:** 22 dogs

Task Date: 18/05/2022 to 21/05/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 97

Location: Moula Ali, Tarnaka, Nagole, LB Nagar, Mehdipatnam and Attapur

Task Summary:

Access to water is a basic necessity that has to be availed by every living organism. While we do have our own resources, the strays on our streets do not have so. Especially the scorching summers makes it even more difficult for the poor strays. Most of the animals get dehydrated and become weak. To address this issue, Street Cause PAW has decided to distribute good quality water bowls across various areas in the city of Hyderabad. To do so, a survey form was circulated 2 months ago, based on which a physical survey was also done to analyze if the water bowl would fetch the thirst of a good number of animals if installed accordingly. Subsequently, as a part of phase 1 of the "Water Bowl Project", a total of 7 the water bowls were distributed and installed in the areas of Moula Ali, Tarnaka, Nagole, LB Nagar, Mehdipatnam and Attapur. Street Cause PAW thanks all the localites for being of great help throughout the process. The whole purpose of this task was to do our bit in helping the voiceless quench their thirst and stay hydrated, but you can do your bit too, by just being compassionate and considerate!

Total Amount spent: Rs.400/-

No. of animals impacted: 81 animals

Task Date: 22/05/2022 to 01/06/2022

Unit Name: Street Cause PAW Task Name: Amelioration

Task Number: 98

Location: BHEL, Bachupally, Pragathi Nagar, Manikonda, Paigah Colony, Warasiguda,

Narayanaguda and Alwal





Task Summary:

As a part of the phase 2 of the "Water Bowl Project", a total of 14 the water bowls were distributed and installed in the areas of BHEL, Bachupally, Pragathi Nagar, Manikonda, Paigah Colony, Warasiguda, Narayanaguda and Alwal. Street Cause PAW thanks all the localites for being of great help throughout the process. The whole purpose of this task was to do our bit in helping the voiceless quench their thirst and stay hydrated, but you can do your bit too, by just being compassionate and considerate!

Total Amount spent: Rs.335/-

No. of animals impacted: 81 animals

Task Date: 10/06/2022

Unit Name: Street Cause PAW

Task Name: Amelioration

Task Number: 99 Location: Alwal Task Summary:

To help a shelter out, Street Cause PAW has donated various medicines like Himax, Melonax, Petocal, Epiotic etc to the owner respectfully, which would come handy in times of

Total Amount spent: Rs.4274/-

No. of animals impacted: 25 animals

Task Date: 11/6/22

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 100
Animal: Puppies (Dog)

Age: 4 weeks old

Gender: Male and Female

Color: Brown, Black, Beige, White

Place of rescue: CBIT
Task taken up by: Gayatri





Task Summary:

Around 12 motherless puppies that were found during the collar belt drive were dewormed respectively.

Total Amount spent: 250/-

Task Date: 22/06/2022

Unit Name: Street Cause PAW

Task Name: Rescue and well-being

Task Number: 101 Location: Alwal Task Summary:

Ending the year on a high note, Street Cause PAW has donated twelve 7-in-1 vaccinations and five 10ml anti-rabies vaccines to a shelter home in Alwal. Additionally, there were around 20 dogs that were severely infected with ticks in the same shelter home, hence to curb the infection, 20 NexGard tablets were also donated respectively.

Total Amount spent: 11,760/-No. of animals impacted: 51

PROJECT REPORT HYA XI -PHASE 1

DATE: 7-2-2022

TEAM NAME: Shiksha-Yojana GOAL NAME: Quality Education

PROJECT NUMBER: 2

PROJECT NAME: Washroom Re-construction

LOCATION: ZPHS Jhally, Channaraopet Mandal, Warangal

EVENT SYNOPSIS:

Clean and safe washrooms are not a luxury but a necessity. Every individual specially women should have access to hygienic washrooms regardless of their area of work. It is a known fact that majority of the girls drop out of schools in the backward areas due to the lack of washroom facilities in the school.

On surveying a school in Warangal we found that the condition of the washrooms was extremely poor and felt the need to renovate them in order to provide hazard-free environment to the students of the school. When the students are provided with basic needs the ratio of the students who attend the schools will definitely be more thus, ensuring them quality education.

BUDGET:





Total: 65770/-

Split:

Cement and gravel - (3440+7000+290+1950) - 12680/-

Hardware - 11830/-

Construction labour charges - 15000/-

Labour charges (Water works and painting)- 6200/-

Doors (3x1600;1x2000) - 6800/-

Painting Equipment (Paint and brushes) - 4050/-

Sand - 3300/-

Metal Sheets fitting - 1500/-

Grout (1kg) - 1370/-

Cement Bricks - 1020/-

Tiles cutter- 1020/-

Carpenter - 1000/-

NO. OF PEOPLE IMPACTED: 180

Completed worth by June 12th: 65,04,829.24

Ongoing (109 tasks) 42,28,668.36 Executed post June 12: 12,16,726

Yet to be executed or ongoing/delay 20,28,743

Dropped or cancelled 10,63,200

No of tasks 697















